# Fee Study Update Report for the City of Carmel-by-the-Sea

**MARCH 2020** 

## Prepared by:

Revenue & Cost Specialists, LLC

1519 East Chapman Ave, Suite C Fullerton, CA 92831

www.revenuecost.com (714) 992-9020



Serving Local Governments Since 1975

March 9, 2020

Chip Rerig, City Administrator City of Carmel-by-the-Sea PO Box CC Carmel-by-the-Sea, CA 93921

Mr. Rerig,

This Report is submitted pursuant to our contract with the City to perform a revenue and cost analysis and to develop a cost distribution and cost control system for the City for its services.

The motivation for this study is the need of both the City Council and City staff to maintain City's services at a level commensurate with the standards previously set by the City Council, and to maintain effective policy and management control of City services.

This Report provides currently useful information about the City's status on recovery of costs for all City services. In addition, it will assist in projecting and determining the future level and equity of these City services.

RCS wishes to thank all City department heads and staff for their assistance and cooperation extended to us during the accomplishment of our work, without whose aid this Report could not have been produced. The response, awareness and information gathered and supplied by numerous City employees make this Report the sound one we believe it to be.

Respectfully submitted,

ERIC JOHNSON

President

#### **EXECUTIVE SUMMARY**

By acceptance of the Revenue & Cost Specialists (RCS) proposal, the City of Carmel-by-the-Sea decided to subject its fee-based services to detailed analysis dedicated toward seeking alternate, and more equitable, ways to finance City services provided to the community. Due to the various demands made of the City, it is essential that the City Council and management have complete information upon which to assess fees charged to the public for services provided. Schedule 1 at the end of this Executive Summary lists each service reviewed in this study. It indicates that the City could realize approximately \$158,600 in additional cost recovery if the recommendations provided herein are adopted and implemented.

<u>Organization of Report.</u> This Executive Summary explains RCS's philosophy concerning feebased services and cost analysis with a discussion of Costs Generally Defined. The report then lists the Types of Costs included in our analysis and our General Recommendations.

#### **COSTS GENERALLY DEFINED**

The basic costs of operating any business are direct labor and employee benefits, direct materials, and overhead costs.

<u>Determination of Costs.</u> After the passage of Proposition 13, the California Taxpayers Association, the California Chamber of Commerce, the National Tax Limitation Committee and the California Association of Realtors put Proposition 4 before the voters. It was adopted by 74.3% of the voters of California on November 6, 1979, and became effective on July 1, 1980, retroactive to Fiscal Year 1978-79.

This proposition, which became Article XIIIB of the State Constitution, addressed all city revenues and established a limit on the growth of tax revenues. Also, because of Proposition 4, fee services cannot exceed the "costs reasonably borne" by the City in providing the service. If the fee exceeds the cost, the excess fee is defined to be a special tax, which Proposition 13 requires be approved by two-thirds of the voters.

As Article XIIIB was written by the above business groups, it is not surprising that they recommended a business-oriented approach to the costs of governmental services. For example:

The phrase costs reasonably borne by such entity in providing the regulation, product, or service is intended to incorporate all appropriations by an entity for

reasonable costs appropriate for the continuation of the service over time. This includes ongoing expenses such as operation costs and a reasonable allocation for overhead and administration, but it also includes reasonable allocation for start-up costs and future capacity. Thus, reasonable allocations for capital replacement, expansion of services, and repayment of related bond issuances would be considered "costs reasonably borne."

<u>Principle Involved.</u> A basic principle involved in this Report is the recognition of those full business costs as they are as defined by the authors of the Constitutional amendment, NOT just those costs which 1) the City might recognize and decide to budget; or 2) which it might decide to use in some other cost analysis methodology; or 3) that other jurisdictions not so complying might use; or 4) that some accounting or other consulting firm might decide it should use, based on some external, non-California legal requirements.

These cost elements have been determined in a businesslike manner per basic business principles, and applied to each and every fee-financed or fee-financeable service provided by the City, modified only slightly to accommodate the published intent and definitions of the authors of Article XIIIB. Thus a logical, legal, and Constitutionally-mandated cost-consciousness can now be applied to City operations.

#### TYPES OF COSTS

The following costs, identified above as part of "costs reasonably borne" by the Authors of Proposition 4, make up the cost detail found on the right-hand page in Appendix B for each service center.

#### Salaries and Wages

City government is in fact a service industry, and therefore, it is natural that salaries make up the largest single element of cost for most services.

<u>Interview Process.</u> In order to allocate the salaries, lengthy interviews were held, documents sought and researched, and reports and accounting records examined by RCS. The result was, in most cases, a percentage or hours distribution of individual employee personal services costs.

<sup>&</sup>lt;sup>1</sup> A Summary of Proposed Implementing Legislation and Drafter's Intent with Regard to Article XIIIB of the California Constitution (Proposition 4, November 6, 1979); Spirit of 13, Inc.; 1980; California Chamber of Commerce; page 6.

#### City of Carmel-by-the-Sea Fee Study Update

One hundred percent of the time of all City employees was distributed. In other words, everyone had to be someplace, all of their time. No judgments were made about what personnel should or might be doing. Their time was distributed to those service centers where the time was expended.

#### **Employee Fringe Benefits**

Since fractional time -- to as low as three minutes per unit of service or one-twentieth of a percent of the annual time of an employee has been allocated to service centers, fringe benefit costs also must be fractionalized to carefully and accurately distribute those ancillary personnel costs

The City finances numerous benefits for its employees, thereby incurring measurable costs for these items, including:

- PERS & Social Security Retirement
- Health, Dental, Vision, and Life Insurance
- Disability Insurance
- Medicare Insurance
- Deferred Compensation
- Other MOU Obligations

All these costs are current operating expenses, and the amounts were isolated. Actual costs were determined and reduced to a percentage of salary for each of the positions.

#### Maintenance and Operation Costs

All maintenance and operation costs, including non-personnel expenses such as professional services, insurance, operating supplies etc., were derived from the 2019-2020 Council-approved budget and allocated via percentages or through actual allocation to each of the service centers identified in a department or division.

#### General and Departmental Overhead Costs

Overhead costs provide the vital glue that holds an organization together operationally and provide important coordinating capabilities. They also provide the day-to-day support services

#### City of Carmel-by-the-Sea Fee Study Update

and facilities required for the organization to function effectively. RCS allocated these costs to the remainder of the City organization as a percentage of salaries.

<u>Full Cost Distribution.</u> The purpose of deriving overhead costs to apportion these amounts to direct service program costs. By adopting this method the City will be aware of its true costs and be able to emulate business methods. Article XIIIB's (Proposition 4 of 1979) authors intended this, defining as part of "costs reasonably borne" a calculated "reasonable allocation for overhead and administration."

<u>General City Overhead.</u> These services primarily set policy and support other departments without providing a deliverable service to the public. Where they do perform an end-user service, such costs have not been allocated to other departments.

<u>Departmental Administration.</u> Costs in this category involve intra-departmental support functions, outside the above listed general City overhead functions, and involve the allocation of staff time within and among departmental functions. These services also do not provide enduser deliverables to the public, but instead provide vital administrative support within specific departments.

<u>Fully Allocated Hourly Rates.</u> All the above items make up the fully allocated hourly rate which is calculated for each position in the City.

<u>Calculation of Revenues</u>. Many of the revenues included in this Report are calculated based on the current fee and the number of projected units of service. This may be different than the current budgeted revenues due to changes to projected volume, which comes from looking at historic volume and estimates of current year levels.

#### **GENERAL RECOMMENDATIONS**

#### Adoption of Modifications to Current Fee Structure

It is recommended that the City Council adjust the fee schedule for the enumerated City services presented in Appendix A of this Report. Continued use of the "full business costing" concept will create consistency in the establishment of fees, and allow for timely adjustment to reflect changes in the cost of providing services

#### Review of Suggested Recovery Rates

The City Council should review each service and the suggested recovery rate to determine how much of each service should be recovered through fees, and how much should be subsidized through the City's tax dollars. This review is very important because it gives City staff direction as to what the Council wants to subsidize and what it does not.

#### CONCLUSION

If all the recommendations and suggestions made in this Report are adopted, the City's financial picture would be improved. Also, far more equity between taxpayers and fee-payers, as well as fairness between property-related and non-property-related services could be secured, assisting in the City's continued financial stability into the future. The following Schedule 1 portrays the various services assessed during our analysis.

#### <u>Appendix A – Summary of Current and Proposed Fees</u>

Appendix A includes a summary of the current City fees matched up with the proposed fees for each service presented.

#### Appendix B - Detailed Worksheets

The substance of RCS's work effort on this project is primarily comprised of two different worksheets shown in the detail of this report (see Appendix B). The first, "Revenue and Cost Summary Worksheet" is on the left hand side. These worksheets include a description of the service, the current fee structure, the recommended recovery rate, and other pertinent information. Also included are the revenue and cost comparisons and suggestions for fee modifications.

#### City of Carmel-by-the-Sea Fee Study Update

Presented on the facing page, titled "Cost Detail Worksheet", is the worksheet which details the costs involved with each service. This page identifies those employees providing the service, the time spent, and their related costs.

							POTENTIAL
				PROFIT/	PERCENT F		COST
REF#	SERVICE TITLE	REVENUE	COST	(SUBSIDY)	CURRENT	SUGGEST	RECOVERY
S-001	TRACK 1 DESIGN REVIEW/STUDY - MINOR	\$35,600	\$34,394	\$1,206	103.5%	100%	(\$1,200)
S-002	TRACK 1 DESIGN REVIEW/STUDY - MAJOR	\$29,070	\$26,476	\$2,594	109.8%	100%	(\$2,600)
S-002A	TRACK 1 DESIGN REV/STUDY-STREAMLINE	\$445	\$193	\$252	230.6%	100%	(\$300)
S-002B	TREE EVALUATION	\$0	\$329	(\$329)	0.0%	100%	\$0 #
S-003	TR 1 DESIGN REV/STUDY - REF TO PC	\$12,150	\$10,732	\$1,418	113.2%	100%	(\$1,400)
S-003A	TR 1 DESIGN REV/STUDY-REFER TO HRB	\$1,215	\$1,073	\$142	113.2%	100%	\$0 #
S-004	TRACK 2 DESIGN REVIEW - MINOR	\$87,590	\$86,092	\$1,498	101.7%	100%	(\$1,500)
S-005	TRACK 2 DESIGN REVIEW - MAJOR	\$131,170	\$134,533	(\$3,363)	97.5%	100%	\$3,400
S-005A	TRACK 2 DESIGN REV - MAJOR NEW COMM	\$5,045	\$2,341	\$2,704	215.5%	100%	\$0 #
S-006	PRELIMINARY SITE ASSESSMENT	\$57,920	\$72,734	(\$14,814)	79.6%	100%	\$14,800
S-007	REASONABLE ACCOMODATION - STAFF	\$7,460	\$2,170	\$5,290	343.8%	100%	(\$5,300)
S-008	VOLUMETRIC ANALYSIS	\$5,850	\$5,770	\$80	101.4%	100%	(\$100)
S-009	USE PERMIT	\$57,665	\$49,757	\$7,908	115.9%	100%	(\$7,900)
S-010	MINOR USE PERMIT	N/A	N/A	N/A	N/A	100%	\$0
S-011	USE PERMIT AMENDMENT	\$2,800	\$1,743	\$1,057	160.6%	100%	\$0 #
S-012	TEMPORARY USE PERMIT	\$160	\$352	(\$192)	45.5%	100%	\$0 #
S-013	RESTRICTED COMM USE TRANSFER REQ	\$885	\$498	\$387	177.7%	100%	\$0 #
S-014	WATER CREDIT TRANSFER REQUEST	\$3,035	\$3,513	(\$478)	86.4%	100%	\$0 #
S-015	VARIANCE	\$1,950	\$2,147	(\$197)	90.8%	100%	\$0 #
S-017	PRE-APPLICATION REVIEW - STAFF	\$1,815	\$1,614	\$201	112.5%	100%	\$0 #
S-018	PRELIMINARY REVIEW - PLAN COMM	\$1,300	\$3,345	(\$2,045)	38.9%	100%	\$0 #
S-019	COASTAL DEV. PERMIT - DEVELOPMENT	\$0	\$8,206	(\$8,206)	0.0%	100%	\$8,200
S-019A	COASTAL DEV. PERMIT - EVENT	\$6,350	\$6,804	(\$454)	93.3%	100%	\$500
S-020	SPECIFIC PLAN	\$0	\$490	(\$490)	0.0%	100%	\$0 #
S-021	SPECIFIC PLAN AMENDMENT	\$0	\$490	(\$490)	0.0%	100%	\$0 #
S-022	GENERAL PLAN AMENDMENT	\$0	\$490	(\$490)	0.0%	100%	\$0 #
S-023	SPHERE OF INFLUENCE AMENDMENT	\$0	\$490	(\$490)	0.0%	100%	\$0 #
S-024	ZONING CODE AMENDMENT	\$0	\$490	(\$490)	0.0%	100%	\$0 #
S-025	ANNEXATION	\$0	\$490	(\$490)	0.0%	100%	\$0 #
S-026	DEVELOPMENT AGREEMENT	\$0	\$490	(\$490)	0.0%	100%	\$0 #
S-027	ENVIRONMENTAL REVIEW (IS/ND/EIR)	\$0	\$140	(\$140)	0.0%	100%	\$0 #
S-028	ENVIRONMENTAL NOTICE OF EXEMPTION	\$280	\$151	\$129	185.4%	100%	\$0 #
S-029	MITIGATION MONITORING	\$0	\$547	(\$547)	0.0%	100%	\$0 #

							<b>POTENTIAL</b>	-
				PROFIT/	PERCENT I	RECOVERY	COST	
REF#	SERVICE TITLE	REVENUE	COST	(SUBSIDY)	CURRENT	SUGGEST	RECOVERY	<u>'</u>
S-030	TENTATIVE/FINAL MAP	\$1,200	\$1,277	(\$77)	94.0%	100%	\$0	#
S-031	AMENDED FINAL MAP	\$980	\$980	\$0	100.0%	100%	\$0	#
S-032	CERTIFICATE OF COMPLIANCE	\$715	\$586	\$129	122.0%	100%	\$0	#
S-033	LOT LINE ADJUSTMENT/SUBDIV - PC	\$1,865	\$518	\$1,347	360.0%	100%	(\$1,300)	)
S-034	LOT MERGER - STAFF REVIEW	\$2,300	\$3,600	(\$1,300)	63.9%	100%	\$1,300	
S-035	PRELIM (PHASE 1) HIST EVAL - STAFF	\$2,790	\$4,074	(\$1,284)	68.5%	100%	\$1,300	
S-035A	PHASE 1 HISTORIC EVAL - QUAL PROF	\$0	\$260	(\$260)	0.0%	100%	\$0	#
S-036	PHASE 2 HIST EVAL-HRB REV OF DESIGN	\$2,105	\$1,517	\$588	138.8%	100%	\$0	
S-037	APPEAL TO HISTORIC RESOURCES BOARD	\$2,600	\$2,034	\$566	127.8%	100%	\$0	
S-038	MILLS ACT CONTRACT PROCESSING	\$1,350	\$3,441	(\$2,091)	39.2%	100%	\$0	#
S-039	PC CODE DETERMINATION	\$3,660	\$4,665	(\$1,005)	78.5%	100%	\$1,000	
S-040	ZONING COMPLIANCE DETERMINATION	\$645	\$549	\$96	117.5%	100%	\$0	
S-041	TIME EXTENSION - STAFF	\$320	\$300	\$20	106.7%	100%	\$0	
S-042	TIME EXTENSION - PLAN COMM	\$675	\$868	(\$193)	77.8%	100%	\$0	
S-042A	TIME EXTENSION - CITY COUNCIL	\$675	\$1,054	(\$379)	64.0%	100%	\$0	
S-043	PUBLIC HEARING CONTINUANCE - PC	\$850	\$851	(\$1)	99.9%		\$0	
S-043A	PUBL HEARING CONTINUANCE - COUNCIL	\$850	\$901	(\$51)	94.3%	100%	\$0	
S-044	APPEAL TO PLANNING COMMISSION	\$1,420	\$2,001	(\$581)	71.0%	100%	\$0	#
S-044A	APPEAL TO CITY COUNCIL	\$1,420	\$2,001	(\$581)	71.0%	100%	\$0	#
S-045	SIGN APPLICATION	\$7,310	\$11,571	(\$4,261)	63.2%	100%	\$4,300	
S-046	SIGN REFERRAL TO PLANNING COMM	\$1,680	\$3,315	(\$1,635)	50.7%		\$1,600	
S-047	RELOCATE EXISTING SIGN	\$300	\$1,045	(\$745)	28.7%	100%	\$700	
S-048	TEMPORARY SIGN PERMIT	\$540	\$391	\$149	138.1%	100%	(\$100)	)
S-050	BUILDING RELOCATION	\$1,905	\$1,858	\$47	102.5%	100%	\$0	
S-051	LARGE FAMILY DAY CARE (RESIDENTIAL)	\$745	\$728	\$17	102.3%	100%	\$0	
S-052	GENERAL PLAN UPDATE	\$0	\$35,000	(\$35,000)	0.0%		\$17,500	
S-053	PLANNING TECHNICAL ASSISTANCE	N/A	N/A	N/A	N/A	100%	\$0	
S-054	BUILDING PLAN CHECK	\$287,065	\$365,320	(\$78,255)	78.6%	100%	\$0	
S-054A	BUILDING INSPECTION	\$378,296	\$225,245	\$153,051	167.9%	100%	\$0	
S-054B	BUILDING RE-INSPECTION	\$5,250	\$7,024	(\$1,774)			\$1,800	
S-054C	PERMIT APPLICATION EXTENSION	\$550	\$443	\$107	124.2%		(\$100)	
S-054D	PERMIT EXTENSION	\$1,075	\$701	\$374	153.4%		(\$400)	)
S-054E	BUILDING PERMIT PRE-APPLIC. CONFER.	\$0	\$306	(\$306)	0.0%	100%	\$300	

							<b>POTENTIAL</b>	_
				PROFIT/	PERCENT I	RECOVERY	COST	
REF#	SERVICE TITLE	REVENUE	COST	(SUBSIDY)	CURRENT	SUGGEST	RECOVERY	′
S-055	BUILDING SINGLE TRADE PERMIT	\$26,600	\$22,323	\$4,277	119.2%	100%	(\$4,300)	)
S-055A	ON-SITE DRIVEWAY PERMIT	\$0	\$261	(\$261)	0.0%	100%	\$300	
S-056	SOLAR PLAN CHECK/INSPECTION PERMIT	\$18,025	\$15,237	\$2,788	118.3%	100%	(\$2,800)	)
S-057	RE-ROOF PERMIT	\$62,115	\$30,382	\$31,733	204.4%	100%	(\$31,700)	)
S-058	BUILDING BOARD APPEAL	\$975	\$1,012	(\$37)	96.3%	100%	\$0	
S-059	DUPLICATE INSPECTION CARD	\$700	\$605	\$95	115.7%	100%	(\$100)	)
S-059A	BUILDING TECHNICAL ASSISTANCE	N/A	N/A	N/A	N/A	100%	\$0	
S-059B	STOP WORK INVESTIGATION	\$21,500	\$23,359	(\$1,859)	92.0%	100%	\$1,900	
S-059C	TEMPORARY CERTIFICATE OF OCCUPANCY	\$1,290	\$1,268	\$22	101.7%	100%	\$0	
S-059D	ALTERNATE MATERIALS/METHODS REVIEW	\$525	\$1,013	(\$488)	51.8%	100%	\$500	
S-059E	BUILDING PHASED WORK REQUEST	\$10,750	\$14,563	(\$3,813)	73.8%	100%	\$3,800	
S-060	LANDSCAPE PLAN CHECK/INSPECTION	\$180	\$268	(\$88)	67.2%	100%	\$100	
S-060A	BUILDING TECHNOLOGY SURCHARGE	\$2,790	\$14,202	(\$11,412)	19.6%	100%	\$11,400	
	SUBTOTAL - COMMUNITY PLANNING & BUILDING	\$1,306,341	\$1,268,001	\$38,340	103.0%		\$13,600	
S-061	NEW BENCH LOCATION	\$10,800	\$11,258	(\$458)	95.9%	100%	\$500	
S-062	ADOPTION OF EXISTING BENCH	\$2,865	\$2,377	\$488	120.5%	100%	(\$500)	)
S-063	REPLACEMENT OF BENCH PLAQUE	\$915	\$770	\$145	118.8%	100%	(\$100)	)
S-069	TEMPORARY ENCROACHMENT PERMIT	\$9,300	\$12,979	(\$3,679)	71.7%	100%	\$3,700	
S-070	PERMANENT ENCROACHMENT PERMIT	\$4,444	\$7,566	(\$3,122)	58.7%	100%	\$3,100	
S-070A	TRAFFIC CONTROL PLAN REVIEW/INSPECT	\$0	\$568	(\$568)	0.0%	100%	\$600	
S-072	TREE REMOVAL PERMIT	\$25,380	\$126,133	(\$100,753)	20.1%	100%	\$100,800	
S-072A	TREE PRUNING REQUEST	\$235	\$21,559	(\$21,324)	1.1%	100%	\$21,300	
S-072C	TREE APPEAL TO FOREST & BEACH COMM	\$1,375	\$27,804	(\$26,429)	4.9%	100%	\$26,400	
S-072D	TREE APPEAL TO CITY COUNCIL	\$1,375	\$2,048	(\$673)	67.1%	100%	\$0	#
S-073	PRIVATE TREE FALL IN PUBLIC R-O-W	\$0	\$229	(\$229)	0.0%	100%	\$0	#
S-074	DAMAGE TO CITY PROPERTY	N/A	N/A	N/A	N/A	100%	\$0	
	SUBTOTAL - PUBLIC WORKS	\$56,689	\$213,291	(\$156,602)	26.6%		\$155,800	
S-075	LOUD PARTY PUBLIC DISTURBANCE RESP.	\$0	\$12,078	(\$12,078)	0.0%	100%	\$0	*
S-076	POLICE FALSE ALARM RESPONSE	\$4,490	\$27,712	(\$23,222)	16.2%	100%	\$0	

							<b>POTENTIAL</b>	
				PROFIT/	PERCENT F	RECOVERY	COST	
REF#	SERVICE TITLE	REVENUE	COST	(SUBSIDY)	CURRENT	SUGGEST	<b>RECOVERY</b>	
S-077	ALARM PERMIT	\$4,100	\$3,958	\$142	103.6%	100%	\$0	•
S-078	VEHICLE IMPOUND RELEASE	\$15,625	\$17,339	(\$1,714)	90.1%	100%	\$1,700	
S-079	MISDEMEANOR BOOKING	\$1,680	\$1,805	(\$125)	93.1%	100%	\$100	
S-080	MISCELLANEOUS POLICE PERMIT	\$170	\$185	(\$15)	91.9%	100%	\$0	
S-081	FINGERPRINTING ON REQUEST	\$4,000	\$3,419	\$581	117.0%	100%	(\$600)	
S-082	CLEARANCE FORM TRAVEL LETTER	\$600	\$622	(\$22)	96.5%	100%	\$0	
S-083	VIN VERIFICATION	\$300	\$298	\$2	100.7%	100%	\$0	
S-084	CITATION SIGN-OFF	\$2,500	\$2,557	(\$57)	97.8%	100%	\$100	
S-085	ANIMAL IMPOUND	\$2,300	\$3,546	(\$1,246)	64.9%	100%	\$1,200	
S-086	ANIMAL TRANSPORT	\$300	\$304	(\$4)	98.7%	100%	\$0	
S-087	SIGN ABATEMENT	\$0	\$639	(\$639)	0.0%	100%	\$0	*
S-088	RESIDENT/EMPLOYEE PARKING PERMIT	\$13,750	\$15,186	(\$1,436)	90.5%	100%	\$1,400	
S-089	POLICE COURT WITNESS	\$3,410	\$14,438	(\$11,028)	23.6%	100%	\$0	**
S-090	POLICE REPORT COPY	\$0	\$364	(\$364)	0.0%	100%	\$0	**
S-091	POLICE PHOTOGRAPH COPY	\$25	\$78	(\$53)	32.1%	100%	\$100	
S-091A	AMBULANCE TRANSPORT SERVICES	\$561,150	\$1,902,263	(\$1,341,113)	29.5%	100%	\$0	
	SUBTOTAL - PUBLIC SAFETY	\$614,400	\$2,006,791	(\$1,392,391)	30.6%		\$4,000	
S-092	BEACH SPECIAL EVENT PERMIT	\$11,025	\$9,261	\$1,764	119.0%	100%	\$0	*
S-094	SPECIAL EVENT PERMIT	\$6,615	\$5,557	\$1,058	119.0%	100%	\$0	*
S-095	SPECIAL EVENT OVERTIME SERVICES	\$2,800	\$1,451	\$1,349	193.0%	100%	\$0	*
S-096	FILM PERMIT	\$7,310	\$8,790	(\$1,480)	83.2%	100%	\$0	*
S-097	COMMUNITY ACTIVITIES APPEAL	\$0	\$742	(\$742)	0.0%	100%	\$0	#
S-099	FACILITY RENTAL	\$2,650	\$50,615	(\$47,965)	5.2%	100%	\$0	*
S-102	INTERLIBRARY LOAN PROCESSING	\$468	\$13,485	(\$13,017)	3.5%	4%	\$0	
S-104	LOST/DAMAGED MATERIALS PROCESSING	\$0	\$930	(\$930)	0.0%	0%	\$0	
S-106	SELF SERVE LIBRARY COPYING	\$1,000	\$0	\$1,000	N/A	100%	\$0	
	SUBTOTAL - COMMUNITY ACTIVITIES	\$31,868	\$90,831	(\$58,963)	35.1%		\$0	
S-107	NEW BUSINESS REGISTRATION PROCESS	\$49,970	\$34,409	\$15,561	145.2%	100%	(\$15,600)	
S-108	BUSINESS REGISTER RENEWAL PROCESS	\$31,950	\$34,953	(\$3,003)	91.4%	100%	\$0	

							POTENTIAL	
				PROFIT/	PERCENT I	RECOVERY	COST	
REF#	SERVICE TITLE	REVENUE	COST	(SUBSIDY)	CURRENT	SUGGEST	RECOVERY	
S-109	DUPLICATE BUSINESS LICENSE	\$50	\$67	(\$17)	74.6%	100%	\$0	-
S-110	CHANGE BUSINESS NAME	\$75	\$105	(\$30)	71.4%	100%	\$0	
S-111	CONSTRUCTION PARKING PERMIT	\$5,575	\$3,225	\$2,350	172.9%	100%	\$0	
S-112	CREDIT/DEBIT CARD PROCESSING	\$10,950	\$11,000	(\$50)	99.5%	100%	\$0	
S-113	NSF CHECK PROCESSING	\$200	\$210	(\$10)	95.2%	100%	\$0	
S-114	DOCUMENT REPRODUCTION/SCANNING	\$15	\$22	(\$7)	68.2%	50%	\$0	**
S-115	ELECTRONIC FILE COPY	\$0	\$828	(\$828)	0.0%	100%	\$800	
S-116	DOCUMENT CERTIFICATION	\$0	\$11	(\$11)	0.0%	100%	\$0	
S-118	RECORD COMPILATION	\$0	\$136	(\$136)	0.0%	100%	\$0	
S-119	LOCAL CANDIDATE FILING	\$25	\$204	(\$179)	12.3%	15%	\$0	**
S-120	LOCAL INITIATIVE PROCESSING	\$200	\$1,361	(\$1,161)	14.7%	15%	\$0	**
	SUBTOTAL - ADMINISTRATION	\$99,010	\$86,531	\$12,479	114.4%		(\$14,800)	
	GRAND TOTAL	\$2,108,308	\$3,665,445	(\$1,557,137)	57.5%		\$158,600	

#### **KEY TO SYMBOLS:**

- # Occurs Infrequently
- \* Market Sensitive
- \*\* Limited by State Law

## THIS PAGE INTENTIONALLY BLANK

## APPENDIX A

SUMMARY
OF
CURRENT FEES
AND
PROPOSED FEES

REF #: S-001 TITLE: TRACK 1 DESIGN REVIEW/STUDY - MINOR

CURRENT FEE RECOMMENDED FEE

\$445 per application \$430 per application

REF #: S-002 TITLE: TRACK 1 DESIGN REVIEW/STUDY - MAJOR

CURRENT FEE RECOMMENDED FEE

\$855 per application \$780 per application

REF #: S-002A TITLE: TRACK 1 DESIGN REV/STUDY-STREAMLINE

CURRENT FEE RECOMMENDED FEE

\$445 per application \$195 per application

REF #: S-002B TITLE: TREE EVALUATION

CURRENT FEE RECOMMENDED FEE

None \$330 per application

REF #: S-003 TITLE: TR 1 DESIGN REV/STUDY - REF TO PC

CURRENT FEE RECOMMENDED FEE

\$1,215 per application in addition to the base Track 1 fee \$1,075 per application in addition to the base Track 1 fee

REF #: S-003A TITLE: TR 1 DESIGN REV/STUDY-REFER TO HRB

CURRENT FEE RECOMMENDED FEE

\$1,215 per application in addition to the base Track 1 fee \$1,075 per application in addition to the base Track 1 fee

REF #: S-004 TITLE: TRACK 2 DESIGN REVIEW - MINOR

CURRENT FEE RECOMMENDED FEE

\$2,305 per application \$2,265 per application

REF #: S-005 TITLE: TRACK 2 DESIGN REVIEW - MAJOR

CURRENT FEE RECOMMENDED FEE

\$5,045 per application \$5,175 per application

REF #: S-005A TITLE: TRACK 2 DESIGN REV - MAJOR NEW COMM

CURRENT FEE RECOMMENDED FEE

\$5,045 per application \$2,340 per application plus a deposit determined by staff with

charges at the fully allocated hourly rates for Project Planner.

REF #: S-006 TITLE: PRELIMINARY SITE ASSESSMENT

CURRENT FEE RECOMMENDED FEE

\$905 per application \$1,135 per application

REF #: S-007 TITLE: REASONABLE ACCOMODATION - STAFF

CURRENT FEE RECOMMENDED FEE

\$1,865 per application \$545 per application

REF #: S-008 TITLE: VOLUMETRIC ANALYSIS

CURRENT FEE RECOMMENDED FEE

\$130 per application plus \$1,500 deposit with charges at the fully allocated hourly rates plus any outside costs.

\$130 per application plus actual consultant cost

REF #: S-009 TITLE: USE PERMIT

CURRENT FEE RECOMMENDED FEE

\$3,035 per application \$2,620 per application

REF #: S-010 TITLE: MINOR USE PERMIT

CURRENT FEE RECOMMENDED FEE

\$2,800 per application This service is no longer provided and should be removed from the

fee schedule.

REF #: S-011 TITLE: USE PERMIT AMENDMENT

CURRENT FEERECOMMENDED FEE\$2,800 per application\$1,745 per application

REF #: S-012 TITLE: TEMPORARY USE PERMIT

CURRENT FEERECOMMENDED FEE\$160 per application\$350 per application

REF #: S-013 TITLE: RESTRICTED COMM USE TRANSFER REQ

CURRENT FEERECOMMENDED FEE\$885 per application\$500 per application

REF #: S-014 TITLE: WATER CREDIT TRANSFER REQUEST

CURRENT FEERECOMMENDED FEE\$3,035 per application\$3,515 per application

**REF #: S-015** TITLE: VARIANCE

**CURRENT FEE RECOMMENDED FEE** \$1,950 per application \$2,145 per application

TITLE: PRE-APPLICATION REVIEW - STAFF REF #: S-017

**CURRENT FEE RECOMMENDED FEE** 

planning fees for this project.

\$1,815 per application with 50% of this fee credited towards future \$1,615 per application with 50% of this fee credited towards future planning fees for this project.

**REF #: S-018** TITLE: PRELIMINARY REVIEW - PLAN COMM

**CURRENT FEE RECOMMENDED FEE** 

planning fees for this project.

\$1,300 per application with 50% of this fee credited towards future \$3,345 per application with 50% of this fee credited towards future planning fees for this project.

**REF #: S-019** TITLE: COASTAL DEV. PERMIT - DEVELOPMENT

**CURRENT FEE RECOMMENDED FEE** 

No fee added to other Planning fees \$130 per application - Added to other Planning fees

**REF #: S-019A** TITLE: COASTAL DEV. PERMIT - EVENT

**CURRENT FEE RECOMMENDED FEE** \$1,270 per application \$1,360 per application

**REF #: S-020** TITLE: SPECIFIC PLAN

**CURRENT FEE RECOMMENDED FEE** 

\$5,000 deposit with charges at the fully allocated hourly rates plus \$5,000 deposit with charges at the fully allocated hourly rates plus outside costs.

outside costs.

REF #: S-021 TITLE: SPECIFIC PLAN AMENDMENT

**CURRENT FEE** RECOMMENDED FEE

\$5,000 deposit with charges at the fully allocated hourly rates plus \$5,000 deposit with charges at the fully allocated hourly rates plus outside costs.

outside costs.

REF #: S-022 TITLE: GENERAL PLAN AMENDMENT

**CURRENT FEE RECOMMENDED FEE** 

outside costs.

\$5,000 deposit with charges at the fully allocated hourly rates plus \$5,000 deposit with charges at the fully allocated hourly rates plus outside costs.

**REF #: S-023** TITLE: SPHERE OF INFLUENCE AMENDMENT

**CURRENT FEE RECOMMENDED FEE** 

\$5,000 deposit with charges at the fully allocated hourly rates plus \$5,000 deposit with charges at the fully allocated hourly rates plus outside costs.

outside costs.

REF #: S-024 TITLE: ZONING CODE AMENDMENT

**CURRENT FEE RECOMMENDED FEE** 

\$5,000 deposit with charges at the fully allocated hourly rates plus \$5,000 deposit with charges at the fully allocated hourly rates plus outside costs.

outside costs.

**REF #: S-025** TITLE: ANNEXATION

**CURRENT FEE RECOMMENDED FEE** 

\$10,000 deposit with charges at the fully allocated hourly rates plus \$10,000 deposit with charges at the fully allocated hourly rates plus

outside costs. outside costs.

**REF #: S-026** TITLE: DEVELOPMENT AGREEMENT

**CURRENT FEE RECOMMENDED FEE** 

\$10,000 deposit with charges at the fully allocated hourly rates plus \$10,000 deposit with charges at the fully allocated hourly rates plus outside costs. outside costs.

**REF #: S-027** TITLE: ENVIRONMENTAL REVIEW (IS/ND/EIR)

**CURRENT FEE RECOMMENDED FEE** Contract cost plus 10% Contract cost plus 10%

TITLE: ENVIRONMENTAL NOTICE OF EXEMPTION REF #: S-028

**CURRENT FEE RECOMMENDED FEE** 

\$280 per application plus County fees \$150 per application plus County fees

TITLE: MITIGATION MONITORING REF #: S-029

**CURRENT FEE RECOMMENDED FEE** 

Deposit determined by staff with charges at the fully allocated hourly rates plus outside costs.

any outside costs.

\$3,000 deposit with charges at the fully allocated hourly rates plus outside costs.

REF #: S-030 TITLE: TENTATIVE/FINAL MAP

**CURRENT FEE RECOMMENDED FEE** 

\$4,000 deposit with charges at the fully allocated hourly rates plus \$4,000 deposit with charges at the fully allocated hourly rates plus

any outside costs.

REF #: S-031 TITLE: AMENDED FINAL MAP

**CURRENT FEE RECOMMENDED FEE** 

\$1,000 deposit with charges at the fully allocated hourly rates plus \$1,000 deposit with charges at the fully allocated hourly rates plus any outside costs.

any outside costs.

**REF #: S-032** TITLE: CERTIFICATE OF COMPLIANCE

**CURRENT FEE** RECOMMENDED FEE

\$715 per application \$585 per application plus actual contract cost

REF #: S-033 TITLE: LOT LINE ADJUSTMENT/SUBDIV - PC

CURRENT FEE RECOMMENDED FEE

\$1,865 per application \$520 per application plus actual contract cost

REF #: S-034 TITLE: LOT MERGER - STAFF REVIEW

CURRENT FEE RECOMMENDED FEE

\$575 per application \$900 per application plus actual contract cost

REF #: S-035 TITLE: PRELIM (PHASE 1) HIST EVAL - STAFF

CURRENT FEERECOMMENDED FEE\$310 per application\$455 per application

REF #: S-035A TITLE: PHASE 1 HISTORIC EVAL - QUAL PROF

CURRENT FEE RECOMMENDED FEE

Deposit determined by staff with charges at the fully allocated

hourly rates plus outside costs.

\$260 per application plus actual cost for Historian review

REF #: S-036 TITLE: PHASE 2 HIST EVAL-HRB REV OF DESIGN

CURRENT FEE RECOMMENDED FEE

\$2,105 per application Historian Review - Actual costs with a \$1,570 deposit \$1,515 per application plus actual cost for Historian review

REF #: S-037 TITLE: APPEAL TO HISTORIC RESOURCES BOARD

<u>CURRENT FEE</u> <u>RECOMMENDED FEE</u>

\$2,600 per application

Historian Review - Actual costs with a \$1,500 deposit

\$2,035 per application plus actual cost for Historian review

REF #: S-038 TITLE: MILLS ACT CONTRACT PROCESSING

 CURRENT FEE
 RECOMMENDED FEE

 \$1,350 per application (50% cost recovery)
 \$3,440 per application

REF #: S-039 TITLE: PC CODE DETERMINATION

CURRENT FEERECOMMENDED FEE\$915 per application\$1,165 per application

REF #: S-040 TITLE: ZONING COMPLIANCE DETERMINATION

CURRENT FEERECOMMENDED FEE\$645 per application\$550 per application

REF #: S-041 TITLE: TIME EXTENSION - STAFF

CURRENT FEERECOMMENDED FEE\$320 per application\$300 per application

REF #: S-042 TITLE: TIME EXTENSION - PLAN COMM

CURRENT FEERECOMMENDED FEE\$675 per application\$870 per application

REF #: S-042A TITLE: TIME EXTENSION - CITY COUNCIL

CURRENT FEERECOMMENDED FEE\$675 per application\$1,055 per application

REF #: S-043 TITLE: PUBLIC HEARING CONTINUANCE - PC

CURRENT FEERECOMMENDED FEE\$850 per continuance\$850 per continuance

REF #: S-043A TITLE: PUBL HEARING CONTINUANCE - COUNCIL

CURRENT FEERECOMMENDED FEE\$850 per continuance\$900 per continuance

REF #: S-044 TITLE: APPEAL TO PLANNING COMMISSION

CURRENT FEERECOMMENDED FEE\$1,420 per appeal\$2,000 per appeal

Appeal in the Coastal Zone - No Charge by State law Appeal in the Coastal Zone - No Charge by State law

REF #: S-044A TITLE: APPEAL TO CITY COUNCIL

CURRENT FEERECOMMENDED FEE\$1,420 per appeal\$2,000 per appeal

Appeal in the Coastal Zone - No Charge by State law Appeal in the Coastal Zone - No Charge by State law

REF #: S-045 TITLE: SIGN APPLICATION

CURRENT FEERECOMMENDED FEE\$170 per application\$270 per application

REF #: S-046 TITLE: SIGN REFERRAL TO PLANNING COMM

CURRENT FEERECOMMENDED FEE\$420 per application\$830 per application

REF #: S-047 TITLE: RELOCATE EXISTING SIGN

CURRENT FEE RECOMMENDED FEE

\$50 per application \$175 per application

REF #: S-048 TITLE: TEMPORARY SIGN PERMIT

CURRENT FEE RECOMMENDED FEE

\$135 per application \$100 per application

REF #: S-050 TITLE: BUILDING RELOCATION

CURRENT FEE RECOMMENDED FEE

\$1,905 per application \$1,860 per application

REF #: S-051 TITLE: LARGE FAMILY DAY CARE (RESIDENTIAL)

CURRENT FEE RECOMMENDED FEE

\$745 per application \$730 per application

REF #: S-052 TITLE: GENERAL PLAN UPDATE

CURRENT FEE RECOMMENDED FEE

3.5% of all Building & Safety permits 3.5% of all Building & Safety permits

REF #: S-053 TITLE: PLANNING TECHNICAL ASSISTANCE

CURRENT FEE RECOMMENDED FEE

Charge the fully allocated hourly rate for all personnel involved after Charge the fully allocated hourly rate for all personnel involved after 15 minutes.

REF #: S-054 TITLE: BUILDING PLAN CHECK

CURRENT FEE RECOMMENDED FEE

New Construction - Various fees based on construction valuation New Construction - No Change

Plan Revision after approval - \$250 base plus \$70 per hour for

review longer than 30 minutes.

Additional Plan Review - \$250 base plus \$150 per hour for review longer than one hour

Plan Revision after approval - \$250 base plus \$150 per hour for review longer than one hour

No Change, except:

REF #: S-054A TITLE: BUILDING INSPECTION

CURRENT FEE RECOMMENDED FEE

New Construction - Various fees based on construction valuation

Trade Permits - Various fees

Stormwater Inspection - \$64.50 per inspection Permit by Appointment - \$330

REF #: S-054B TITLE: BUILDING RE-INSPECTION

CURRENT FEERECOMMENDED FEE\$105 per re-inspection\$140 per re-inspection

REF #: S-054C TITLE: PERMIT APPLICATION EXTENSION

CURRENT FEE RECOMMENDED FEE

\$110 per extension (maximum of 4) \$90 per extension (maximum of 4)

REF #: S-054D TITLE: PERMIT EXTENSION

CURRENT FEE RECOMMENDED FEE

\$215 per extension (maximum of 2) \$140 per extension (maximum of 2)

REF #: S-054E TITLE: BUILDING PERMIT PRE-APPLIC. CONFER.

CURRENT FEE RECOMMENDED FEE

None \$305 per application

REF #: S-055 TITLE: BUILDING SINGLE TRADE PERMIT

CURRENT FEE RECOMMENDED FEE

Gas Service Reconnection - \$105 per permit

Other - \$190 per permit

\$160 per permit

REF #: S-055A TITLE: ON-SITE DRIVEWAY PERMIT

CURRENT FEE RECOMMENDED FEE

None \$260 per permit

REF #: S-056 TITLE: SOLAR PLAN CHECK/INSPECTION PERMIT

CURRENT FEE RECOMMENDED FEE

\$515 per application Plan Check - \$305

Inspection - \$130

REF #: S-057 TITLE: RE-ROOF PERMIT

CURRENT FEE RECOMMENDED FEE

\$505 per permit \$245 per permit

REF #: S-058 TITLE: BUILDING BOARD APPEAL

CURRENT FEE RECOMMENDED FEE

\$975 per application \$1,010 per appeal

REF #: S-059 TITLE: DUPLICATE INSPECTION CARD

CURRENT FEE RECOMMENDED FEE

\$70 per card \$60 per card

REF #: S-059A TITLE: BUILDING TECHNICAL ASSISTANCE

CURRENT FEE RECOMMENDED FEE

Charge the fully allocated hourly rate for all personnel involved after Charge the fully allocated hourly rate for all personnel involved after 15 minutes.

o minutes.

REF #: S-059B TITLE: STOP WORK INVESTIGATION

<u>CURRENT FEE</u> <u>RECOMMENDED FEE</u>

\$500 per investigation plus double the permit fee \$545 per investigation plus double the permit fee

REF #: S-059C TITLE: TEMPORARY CERTIFICATE OF OCCUPANCY

CURRENT FEERECOMMENDED FEE\$215 per application\$215 per application

REF #: S-059D TITLE: ALTERNATE MATERIALS/METHODS REVIEW

CURRENT FEE RECOMMENDED FEE

\$105 per hour plus actual cost of City Staff \$205 per application plus actual cost of City Staff for all time over

one hour

REF #: S-059E TITLE: BUILDING PHASED WORK REQUEST

CURRENT FEERECOMMENDED FEE\$215 per application\$290 per application

REF #: S-060 TITLE: LANDSCAPE PLAN CHECK/INSPECTION

CURRENT FEERECOMMENDED FEE\$180 per plan check\$270 per plan/inspection

REF #: S-060A TITLE: BUILDING TECHNOLOGY SURCHARGE

CURRENT FEE RECOMMENDED FEE

\$1.55 per permit \$8 per permit

REF #: S-061 TITLE: NEW BENCH LOCATION

CURRENT FEE RECOMMENDED FEE

\$1,060 per application plus the actual cost of the bench and plaque \$925 per application plus the actual cost of the bench and plaque (plus 20% for future maintenance) (plus 20% for future maintenance)

plus \$1,100 if a public hearing is required. plus \$1,325 if a public hearing is required.

REF #: S-062 TITLE: ADOPTION OF EXISTING BENCH

CURRENT FEE RECOMMENDED FEE

\$390 per application plus the actual cost of the bench and plaque (plus 20% for future maintenance) \$300 per application plus the actual cost of the bench and plaque (plus 20% for future maintenance)

plus \$525 if a public hearing is required. plus \$580 if a public hearing is required.

REF #: S-063 TITLE: REPLACEMENT OF BENCH PLAQUE

CURRENT FEE RECOMMENDED FEE

\$390 per application plus the actual cost of the bench and plaque (plus 20% for future maintenance) \$390 per application plus the actual cost of the plaque plus \$380 if a public hearing is required.

plus \$525 if a public hearing is required.

REF #: S-069 TITLE: TEMPORARY ENCROACHMENT PERMIT

CURRENT FEE RECOMMENDED FEE

Crane/Oversized Vehicle - \$370 per permit \$210 per permit Dumpster/Pod - \$150 per permit

Other - \$150 per permit

REF #: S-070 TITLE: PERMANENT ENCROACHMENT PERMIT

CURRENT FEE RECOMMENDED FEE

Curb/Gutter/Sidewalk - \$235 Street Excavation - \$735 per permit plus \$4.25 per lineal foot

Right-of-way Excavation - \$370 per permit plus \$3.50 per lineal foot Other - \$415 per permit plus \$4.25 per lineal foot

Permanent Encroachment - \$965

Newspaper Rack - \$130 Plus cost of damage to public right-of-way or street as determined by the Public Works Director.

REF #: S-070A TITLE: TRAFFIC CONTROL PLAN REVIEW/INSPECT

CURRENT FEE RECOMMENDED FEE

None \$355 per review plus \$210 per each additional review

REF #: S-072 TITLE: TREE REMOVAL PERMIT

CURRENT FEE RECOMMENDED FEE

No Construction Removal - \$235 per permit Construction Removal - \$435 per permit Public Tree Removal - \$235 per tree \$1,170 per permit

REF #: S-072A TITLE: TREE PRUNING REQUEST

CURRENT FEE RECOMMENDED FEE

\$235 per permit \$600 per permit

REF #: S-072C TITLE: TREE APPEAL TO FOREST & BEACH COMM

CURRENT FEE RECOMMENDED FEE

\$1,375 per appeal \$2,315 per appeal plus actual outside costs

REF #: S-072D TITLE: TREE APPEAL TO CITY COUNCIL

CURRENT FEE RECOMMENDED FEE

\$1,375 per appeal \$2,050 per appeal plus actual outside cost

REF #: S-073 TITLE: PRIVATE TREE FALL IN PUBLIC R-O-W

CURRENT FEE RECOMMENDED FEE

Charge the fully allocated hourly rate for all personnel involved plus Charge the fully allocated hourly rate for all personnel involved plus any outside costs

**REF #: S-074** TITLE: DAMAGE TO CITY PROPERTY

**CURRENT FEE RECOMMENDED FEE** 

Charge the fully allocated hourly rate for all personnel involved plus Charge the fully allocated hourly rate for all personnel involved plus any outside costs.

any outside costs.

TITLE: LOUD PARTY PUBLIC DISTURBANCE RESP. REF #: S-075

**CURRENT FEE RECOMMENDED FEE** 

Ist Response - No Charge Ist Response - No Charge

2nd Response the same day - \$165 per response 2nd Response the same day - \$200 per response 3rd Response within a calendar year - \$495 per response 3rd Response within a calendar year - \$500 per response

TITLE: POLICE FALSE ALARM RESPONSE **REF #: S-076** 

**CURRENT FEE** RECOMMENDED FEE

1st Activation - \$60 1st Activation - \$100 2nd Activation - \$110 2nd Activation - \$120

Each Subsequent Activation in a calendar year - \$160 Each Subsequent Activation in a calendar year - \$180

TITLE: ALARM PERMIT **REF #: S-077** 

**CURRENT FEE** RECOMMENDED FEE

New - \$40 per permit New - \$35 per permit Renewal - \$25 per permit Renewal - \$25 per permit

TITLE: VEHICLE IMPOUND RELEASE **REF #: S-078** 

**CURRENT FEE** RECOMMENDED FEE

\$125 per vehicle \$140 per vehicle

**REF #: S-079** TITLE: MISDEMEANOR BOOKING

**CURRENT FEE RECOMMENDED FEE** 

Non-Carmel bookings - \$140 per booking Non-Carmel bookings - \$150 per booking

REF #: S-080 TITLE: MISCELLANEOUS POLICE PERMIT

CURRENT FEE RECOMMENDED FEE

\$170 per application plus DOJ fees \$185 per application plus DOJ fees

REF #: S-081 TITLE: FINGERPRINTING ON REQUEST

CURRENT FEE RECOMMENDED FEE

\$40 plus outside agency fees \$35 plus outside agency fees

REF #: S-082 TITLE: CLEARANCE FORM TRAVEL LETTER

CURRENT FEE RECOMMENDED FEE

\$50 per letter \$50 per letter

REF #: S-083 TITLE: VIN VERIFICATION

CURRENT FEE RECOMMENDED FEE

\$50 per vehicle \$50 per vehicle

REF #: S-084 TITLE: CITATION SIGN-OFF

CURRENT FEE RECOMMENDED FEE

Non-Carmel citations - \$25 per citation Non-Carmel citations - \$25 per citation

REF #: S-085 TITLE: ANIMAL IMPOUND

CURRENT FEE RECOMMENDED FEE

Within a calendar year: 1st impound - \$90 2nd impound - \$110

3rd and subsequent impounds - \$130

Within a calendar year: 1st impound - \$100 2nd impound - \$120

3rd and subsequent impounds - \$140

REF #: S-086 TITLE: ANIMAL TRANSPORT

CURRENT FEE RECOMMENDED FEE

Local Transport - \$25 per transport Local Transport - \$25 per transport

To County Animal Shelter - \$90 per transport

To County Animal Shelter - \$90 per transport

REF #: S-087 TITLE: SIGN ABATEMENT

<u>CURRENT FEE</u> <u>RECOMMENDED FEE</u>

\$25 per sign \$25 per sign

REF #: S-088 TITLE: RESIDENT/EMPLOYEE PARKING PERMIT

CURRENT FEE RECOMMENDED FEE

\$25 per permit \$28 per permit

Misuse of Residential Permit - \$110 Misuse of Residential Permit - \$110

REF #: S-089 TITLE: POLICE COURT WITNESS

CURRENT FEE RECOMMENDED FEE

Fees are set by the court Fees are set by the court

REF #: S-090 TITLE: POLICE REPORT COPY

CURRENT FEE RECOMMENDED FEE

1st 10 pages - No Charge
Each additional page - \$0.20

1st 10 pages - No Charge
Each additional page - \$0.20

REF #: S-091 TITLE: POLICE PHOTOGRAPH COPY

CURRENT FEE RECOMMENDED FEE

Standard reproduction - \$0.10 per page Documents from microfilm - \$0.20 per page Oversize/special processing - Actual costs photo - \$5 per photo digital - \$5 per disk

**REF #: S-091A** TITLE: AMBULANCE TRANSPORT SERVICES

**CURRENT FEE** RECOMMENDED FEE

Various resident and non-resident fees Charge the current Monterey County ambulance transport fees

deposit

Processing:

Sound Permit:

Overtime Staff time:

REF #: S-092 TITLE: BEACH SPECIAL EVENT PERMIT

**CURRENT FEE RECOMMENDED FEE** 

Processing:

Processing: Non-Profit/School - \$180 per rental Non-Profit/School - \$180 per rental

Other - \$735 per permit Other - \$620 per permit

Rental: Rental: Non-Profit/School - \$250 per rental plus \$500 refundable damage

Non-Profit/School - \$250 per rental plus \$500 refundable damage deposit

Other - \$500 per rental plus \$500 refundable damage deposit

Sound Permit:

Sound Permit: Non-Profit/School - \$10 per permit Non-Profit/School - \$10 per permit

Other - \$25 per permit Other - \$25 per permit

TITLE: SPECIAL EVENT PERMIT REF #: S-094

**CURRENT FEE RECOMMENDED FEE** 

Processing:

Non-Profit/School - \$180 per rental Non-Profit/School - \$180 per rental

Other - \$735 per permit Other - \$620 per permit

Rental: Rental:

Non-Profit/School - \$250 per rental plus \$500 refundable damage Non-Profit/School - \$250 per rental plus \$500 refundable damage deposit

deposit

Other - \$500 per rental plus \$500 refundable damage deposit With Alcohol:

With Alcohol: Non-Profit/School - \$45 per permit Other - \$180 per permit Non-Profit/School - \$45 per permit Other - \$180 per permit

Sound Permit:

Non-Profit/School - \$10 per permit Other - \$25 per permit Non-Profit/School - \$10 per permit Other - \$25 per permit

REF #: S-095 TITLE: SPECIAL EVENT OVERTIME SERVICES

#### **RECOMMENDED FEE CURRENT FEE**

Overtime Staff time:

Non-Profit/School - Charge 25% of the fully allocated hourly rates Non-Profit/School - Charge 25% of the fully allocated hourly rates for all personnel involved

Other - Charge 100% of the fully allocated hourly rates for all personnel involved

Barricade Rental - \$1,000 Resident Block Party - No Charge

Parking Stall Rental:

Non-Profit/School - \$180 per permit plus \$100 per stall/day Other - \$735 per permit plus \$100 per stall/day (Peak Demand Rental - \$200 per stall/day)

for all personnel involved

Other - Charge 100% of the fully allocated hourly rates for all personnel involved

Other - \$500 per rental plus \$500 refundable damage deposit

Other - \$500 per rental plus \$500 refundable damage deposit

Barricade Rental - \$1,000 Resident Block Party - No Charge Parking Stall Rental:

Non-Profit/School - \$180 per permit plus \$100 per stall/day

Other - \$735 per permit plus \$100 per stall/day (Peak Demand Rental - \$200 per stall/day)

REF #: S-096 TITLE: FILM PERMIT

CURRENT FEE RECOMMENDED FEE

Non-Profit/School - \$110 Non-Profit/Student - \$110

Other - \$430 Oth

Still Photo - \$280 Motion Picture - \$590

REF #: S-097 TITLE: COMMUNITY ACTIVITIES APPEAL

CURRENT FEE RECOMMENDED FEE

None \$740 per appeal

REF #: S-099 TITLE: FACILITY RENTAL

CURRENT FEE RECOMMENDED FEE

\$25 per hour plus \$125 refundable cleaning deposit \$25 per hour plus \$125 refundable cleaning deposit

Homecrafter Fair:

Jury Fee - \$25

Rental Fee - \$205

Homecrafter Fair:

Jury Fee - \$25

Rental Fee - \$205

REF #: S-102 TITLE: INTERLIBRARY LOAN PROCESSING

CURRENT FEE RECOMMENDED FEE

\$3 per item \$3 per item

REF #: S-104 TITLE: LOST/DAMAGED MATERIALS PROCESSING

CURRENT FEE RECOMMENDED FEE

REF #: S-106 TITLE: SELF SERVE LIBRARY COPYING

CURRENT FEE RECOMMENDED FEE

Black and White - \$0.20 per copy Color - \$0.50 per copy Microfilm - \$0.20 per copy Scanner - \$0.20 per copy Black and White - \$0.20 per copy Color - \$0.50 per copy Microfilm - \$0.20 per copy Scanner - \$0.20 per copy

REF #: S-107 TITLE: NEW BUSINESS REGISTRATION PROCESS

CURRENT FEE

Fixed Location - \$390 per application + \$4 State fee In & About - \$20 per application + \$4 State fee Home License - \$130 per application + \$4 State fee

RECOMMENDED FEE

Fixed Location - \$310 per application + \$4 State fee In & About - \$20 per application + \$4 State fee Home License - \$130 per application + \$4 State fee

REF #: S-108 TITLE: BUSINESS REGISTER RENEWAL PROCESS

CURRENT FEE RECOMMENDED FEE

\$15 per renewal + \$4 State fee \$15 per renewal + \$4 State fee

REF #: S-109 TITLE: DUPLICATE BUSINESS LICENSE

CURRENT FEE RECOMMENDED FEE

\$5 per license \$7 per license

REF #: S-110 TITLE: CHANGE BUSINESS NAME

CURRENT FEE RECOMMENDED FEE

\$15 per business \$20 per business

REF #: S-111 TITLE: CONSTRUCTION PARKING PERMIT

**CURRENT FEE** 

Non-Space Specific - \$15 per permit plus \$35 per day Space Specific - \$25 per permit plus \$35 per day

RECOMMENDED FEE

Non-Space Specific - \$15 per permit plus \$35 per day Space Specific - \$35 per permit plus \$35 per day

REF #: S-112 TITLE: CREDIT/DEBIT CARD PROCESSING

CURRENT FEE RECOMMENDED FEE

2.5% of the charged amount 2.5% of the charged amount

REF #: S-113 TITLE: NSF CHECK PROCESSING

CURRENT FEE RECOMMENDED FEE

\$40 per NSF check \$40 per NSF check

REF #: S-114 TITLE: DOCUMENT REPRODUCTION/SCANNING

CURRENT FEE RECOMMENDED FEE

\$0.10 per copy First 10 copies - No Charge Additional copies - \$0.20 per copy

FPPC copies - \$0.10 per copy plus \$5 for retrieval of documents if

more than five years old

plus postage cost if mailed

REF #: S-115 TITLE: ELECTRONIC FILE COPY

CURRENT FEE RECOMMENDED FEE

None \$5 per device

REF #: S-116 TITLE: DOCUMENT CERTIFICATION

CURRENT FEE RECOMMENDED FEE

None \$10 per document

REF #: S-118 TITLE: RECORD COMPILATION

CURRENT FEE RECOMMENDED FEE

None Record Compilation/Creation - charge the fully allocated hourly rate

for all personnel involved plus any outside costs.

REF #: S-119 TITLE: LOCAL CANDIDATE FILING

CURRENT FEE RECOMMENDED FEE

\$25 per candidate \$25 per candidate

Fee is set by the State Fee is set by the State

REF #: S-120 TITLE: LOCAL INITIATIVE PROCESSING

CURRENT FEE RECOMMENDED FEE

\$200 per initiative \$200 per initiative

Fee is refundable to the filer, if within one year of filing the notice of intent, the elections official certifies the sufficiency of the petition.

This fee is limited by the State Law - Elections Code Section
9202(b)

This fee is limited by the State Law - Elections Code Section
9202(b)

### APPENDIX B

# REVENUE AND COST SUMMARY WORKSHEETS Matched With COST DETAIL WORKSHEETS

SERVICE				REFERENCE NO	
TRACK 1 DESIGN REVIEW/STUDY - MIN	IOR				S-001
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVIC	E RECIPIENT	
PLANNING	APPLICATI	ON	Devel	loper/Resident/B	usiness
DESCRIPTION OF SERVICE		·			
Review of Track 1 Design Review/Study - M and guidelines including, but not limited to, I fences/walls, trellis, and arbor.					
CURRENT FEE STRUCTURE					
\$445 per application					
REVE	NUE AND CO	ST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$445.00	TOTA	AL REVE	ENUE:	\$35,600
UNIT COST:	\$429.93	T	OTAL C	OST:	\$34,394
UNIT PROFIT (SUBSIDY):	\$15.07	TOTAL PROF	IT (SUB	SIDY):	\$1,206
TOTAL UNITS:	80	PCT. COST	reco	VERY:	103.51%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$430 per application					

SERVICE TRACK 1 DESIG	GN REVIEW/STUDY - MINOR	:		REFERENCE		
NOTE Unit Costs are an Average of Total Units			TOTAL UNIT	-	30	
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.42	\$36.38	80	\$2,910
PLANNING	ASSISTANT PLANNER		2.58	\$269.56	80	\$21,565
PLANNING	PLAN & BLDG SVCS DIRECTOR	:	0.08	\$15.47	80	\$1,238
PLANNING	SENIOR PLANNER		0.50	\$83.16	80	\$6,653
BUILDING	PERMIT TECH		0.25	\$25.36	80	\$2,029
		TYPE SUBTOTAL	3.83	\$429.93		\$34,394
		TOTALS	3.83	\$429.93	1	\$34,394

SERVICE	REFERENCE NO.			
TRACK 1 DESIGN REVIEW/STUDY - MA	JOR		S	S-002
PRIMARY DEPARTMENT	UNIT OF SERVI	CE :	SERVICE RECIPIENT	
PLANNING	APPLICATIO	DN	Developer/Resident/Bus	siness
DESCRIPTION OF SERVICE  Review of Track 1 Design Review/Study - M codes and guidelines including, but not limite the existing floor area.  CURRENT FEE STRUCTURE  \$855 per application				
UNIT REVENUE:	\$855.00	ST COMPARISON TOTAL	<u>N</u> _ REVENUE:	\$29,070
UNIT COST:	\$778.71	_	TAL COST:	\$26,476
UNIT PROFIT (SUBSIDY):	\$76.29	TOTAL PROFIT	(SUBSIDY):	\$2,594
TOTAL UNITS:	34	PCT. COST	RECOVERY:	109.80%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	·			
\$780 per application				

SERVICE TRACK 1 DESIG	N REVIEW/STUDY - MAJOR	t .		REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are an Average of Total Units					3	84
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.42	\$36.38	34	\$1,237
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	34	\$284
PLANNING	ASSOCIATE PLANNER		4.50	\$487.17	34	\$16,564
PLANNING	PLAN & BLDG SVCS DIRECTOR		0.50	\$96.70	34	\$3,288
PLANNING	SENIOR PLANNER		0.75	\$124.74	34	\$4,241
BUILDING	PERMIT TECH		0.25	\$25.36	34	\$862
		TYPE SUBTOTAL	6.50	\$778.71		\$26,476
		TOTALS	6.50	\$778.71		\$26,476

SERVICE TRACK 1 DESIGN REV/STUDY-STREAM	REFERENCE NO. S-002A		
PRIMARY DEPARTMENT	UNIT OF SERVICE	SERV	ICE RECIPIENT
PLANNING	APPLICATION	Dev	reloper/Resident/Business
DESCRIPTION OF SERVICE			
Review of Track 1 Design Review/Study - St guidelines including, but not limited to, one of lighting, in-kind window replace			
CURRENT FEE STRUCTURE			
\$445 per application			
REVE	NUE AND COST COMPARIS	SON	
UNIT REVENUE:			VENUE: \$445
UNIT COST:	\$193.00	TOTAL	COST: \$193
UNIT PROFIT (SUBSIDY):	\$252.00 TOTAL PRO	OFIT (SU	BSIDY): \$252
TOTAL UNITS:	1 РСТ. СО	ST REC	OVERY: 230.57%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	<b>'</b>		
\$195 per application			

NOTE	IN REV/STUDY-STREAM	ILINE		REFERENCE S-0 TOTAL UNIT	02A	
Unit Costs are a	an Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.33	\$28.59	1	\$29
PLANNING	ASSISTANT PLANNER		1.33	\$138.96	1	\$139
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	1.91	\$192.91		\$193
		TOTALS	1.91	\$193.00	1	\$193

SERVICE				REFERENCE NO	
TREE EVALUATION					S-002B
PRIMARY DEPARTMENT	UNIT OF SERV		SERVI	CE RECIPIENT	
PLANNING	APPLICATI	ON	Deve	eloper/Resident/E	Business
Performance of a tree evaluation by the City to determine significance.	Forester in co	onjunction with a <sup>-</sup>	Track	1 Design Review	/Study project
CURRENT FEE STRUCTURE					
None					
REVE	NUE AND CO	ST COMPARISO	)N		
UNIT REVENUE:	\$0.00			/ENUE:	\$0
UNIT COST:	\$329.00	To	OTAL (	соѕт:	\$329
UNIT PROFIT (SUBSIDY):	\$(329.00)	TOTAL PROFI	IT (SUI	BSIDY):	\$(329)
TOTAL UNITS:	1	PCT. COST	reco	OVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	<u> </u>				
\$330 per application					

TREE EVALUATION  NOTE  Unit Costs are an	ON  Average of Total Units			REFERENCE S-0 TOTAL UNIT	02B	1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.25	\$21.66	1	\$22
PLANNING	ASSOCIATE PLANNER		0.33	\$35.73	1	\$36
PW-FOREST & BEACH	CITY FORESTER		1.25	\$271.66	1	\$272
		TYPE SUBTOTAL	1.83	\$329.05		\$329
		TOTALS	1.83	\$329.00	)	\$329

TR 1 DESIGN REV/STUDY - REI	F TO PC	F	REFERENCE NO. S-003
RIMARY DEPARTMENT	UNIT OF SERV	VICE SERVICE R	ECIPIENT
PLANNING	APPLICAT	ON Develope	er/Resident/Business
DESCRIPTION OF SERVICE	1	'	
Staff referral of the review of Track codes and guidelines.	t 1 Design Review/Stud	y to the Planning Commission	on for compliance with City
CURRENT FEE STRUCTURE			
\$1,215 per application in addition t	to the base Track 1 fee		
	REVENUE AND CO	OST COMPARISON	
UNIT REVENUE:	REVENUE AND CO \$1,215.00	<u>PST COMPARISON</u> TOTAL REVENU	JE: \$12,150
UNIT REVENUE: UNIT COST:			
	\$1,215.00	TOTAL REVENU	T: \$10,732
UNIT COST:	\$1,215.00 \$1,073.20	TOTAL REVENU	T: \$10,732 PY): \$1,418
UNIT COST: UNIT PROFIT (SUBSIDY):	\$1,215.00 \$1,073.20 \$141.80	TOTAL REVENU TOTAL COS TOTAL PROFIT (SUBSID	T: \$10,732 PY): \$1,418
UNIT COST: UNIT PROFIT (SUBSIDY): TOTAL UNITS:	\$1,215.00 \$1,073.20 \$141.80 10 OF: 100%	TOTAL REVENU TOTAL COS TOTAL PROFIT (SUBSID	T: \$10,732 PY): \$1,418
UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY O	\$1,215.00 \$1,073.20 \$141.80 10 OF: 100%	TOTAL REVENU TOTAL COS TOTAL PROFIT (SUBSID	T: \$10,732 PY): \$1,418
UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY O	\$1,215.00 \$1,073.20 \$141.80 10 OF: 100%	TOTAL REVENU TOTAL COS TOTAL PROFIT (SUBSID	T: \$10,732 PY): \$1,418
UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY O	\$1,215.00 \$1,073.20 \$141.80 10 OF: 100%	TOTAL REVENU TOTAL COS TOTAL PROFIT (SUBSID	T: \$10,732 PY): \$1,418

SERVICE TR 1 DESIGN R	EV/STUDY - REF TO PC			REFERENCE		
NOTE	on Average of Total Units			TOTAL UNIT	-	
Unit Costs are	an Average of Total Units					0
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.00	\$86.63	10	\$866
PLANNING	ASSOCIATE PLANNER		4.58	\$495.83	10	\$4,958
PLANNING	PLAN & BLDG SVCS DIRECTOR	२	1.83	\$353.92	10	\$3,539
PLANNING	SENIOR PLANNER		0.67	\$111.43	10	\$1,114
BUILDING	PERMIT TECH		0.25	\$25.36	10	\$254
		TYPE SUBTOTAL	8.33	\$1,073.17		\$10,732
		TOTALS	8.33	\$1,073.20	)	\$10,732

ERVICE TR 1 DESIGN REV/STUDY-REFER	TO UDB		REFERENCE NO. S-003A
TR T DESIGN REV/STUDT-REFER			
PRIMARY DEPARTMENT	UNIT OF SERV		E RECIPIENT
PLANNING	APPLICATI	ON Devel	loper/Resident/Business
DESCRIPTION OF SERVICE		·	
Staff referral of the review of minor m Review/Study to the Historic Resource	odifications to a histo ses Board for complia	oric resource submitted a ance with City codes and	s a Track 1 Design guidelines.
CURRENT FEE STRUCTURE			
\$1,215 per application in addition to t	the base Track 1 fee		
	REVENUE AND CO	ST COMPARISON	
UNIT REVENUE:	\$1,215.00	TOTAL REVE	ENUE: \$1,215
UNIT COST:	\$1,073.00	TOTAL C	OST: \$1,073
LINIT DECEIT (SUBSIDIV)	£442.00	TOTAL DROET (SUB	CIDV). ¢4.42
UNIT PROFIT (SUBSIDY):	\$142.00 	TOTAL PROFIT (SUB	SIDY): \$142
TOTAL UNITS:	1	PCT. COST RECOV	VERY: 113.23%
SUGGESTED FEE FOR COST RECOVERY OF:	. 100%		
\$1,075 per application in addition to t	he base Track 1 fee		

SERVICE TR 1 DESIGN R	EV/STUDY-REFER TO HRB			REFERENCE S-0	E NO. 03A	
NOTE	an Average of Total Units			TOTAL UNIT	s	1
Offic Costs are a	The raye of Total Offics					<u>'</u>
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.00	\$86.63	1	\$87
PLANNING	ASSOCIATE PLANNER		4.58	\$495.83	1	\$496
PLANNING	PLAN & BLDG SVCS DIRECTOR		1.83	\$353.92	1	\$354
PLANNING	SENIOR PLANNER		0.67	\$111.43	1	\$111
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	8.33	\$1,073.17		\$1,073
		TOTALS	8.33	\$1,073.00	)	\$1,073

SERVICE	REFERENCE NO	).		
TRACK 2 DESIGN REVIEW - MINOR				S-004
PRIMARY DEPARTMENT	UNIT OF SERVIC	E SE	RVICE RECIPIENT	
PLANNING	APPLICATIO	N C	eveloper/Business	
DESCRIPTION OF SERVICE				
Review by the Planning Commission includi substantial change to site layout, installation courtyard/intra-block walkway.				
CURRENT FEE STRUCTURE				
¢2 205 per application				
\$2,305 per application				
REVE	NUE AND COS	T COMPARISON		
UNIT REVENUE:	\$2,305.00	TOTAL I	REVENUE:	\$87,590
UNIT COST:	\$2,265.58	тот	AL COST:	\$86,092
UNIT PROFIT (SUBSIDY):	\$39.42	TOTAL PROFIT (	SUBSIDY):	\$1,498
TOTAL UNITS:	38	PCT. COST R	ECOVERY:	101.74%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	L			
\$2,265 per application				

SERVICE TRACK 2 DESIGN REVIEW - MINOR				REFERENCE S-0		
NOTE	Average of Total Units			TOTAL UNIT	-	
Unit Costs are an	Average of Total Units					88
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.67	\$144.67	38	\$5,497
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	38	\$318
PLANNING	ASSOCIATE PLANNER		9.00	\$974.34	38	\$37,025
PLANNING	PLAN & BLDG SVCS DIRECTOR		2.33	\$450.62	38	\$17,124
PLANNING	SENIOR PLANNER		0.75	\$124.74	38	\$4,740
BUILDING	PERMIT TECH		0.25	\$25.36	38	\$964
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS		2.00	\$537.48	38	\$20,424
		TYPE SUBTOTAL	16.08	\$2,265.57		\$86,092
		TOTALS	16.08	\$2,265.58	3	\$86,092

TRACK 2 DESIGN REVIEW - MAJ	REFE	RENCE NO. S-005	
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE SERVICE RECI	
PLANNING	APPLICAT		Resident/Business
DESCRIPTION OF SERVICE		l	
Review by the Planning Commission new residential dwelling and addition floor area.	for compliance with as to residential or co	City codes and guidelines includent mmercial buildings greater than	ding, but not limited to, 10% of the existing
CURRENT FEE STRUCTURE			
\$5,045 per application			
	REVENUE AND CO	ST COMPARISON	
UNIT REVENUE:	REVENUE AND CO	OST COMPARISON  TOTAL REVENUE:	\$131,170
UNIT REVENUE: UNIT COST:			\$131,170 \$134,533
	\$5,045.00	TOTAL REVENUE:	
UNIT COST:	\$5,045.00 \$5,174.35	TOTAL REVENUE: TOTAL COST:	\$134,533 \$(3,363)
UNIT COST:  UNIT PROFIT (SUBSIDY):	\$5,045.00 \$5,174.35 \$(129.35)	TOTAL REVENUE:  TOTAL COST:  TOTAL PROFIT (SUBSIDY):	\$134,533 
UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY OF:	\$5,045.00 \$5,174.35 \$(129.35)	TOTAL REVENUE:  TOTAL COST:  TOTAL PROFIT (SUBSIDY):	\$134,533 \$(3,363)
UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:	\$5,045.00 \$5,174.35 \$(129.35)	TOTAL REVENUE:  TOTAL COST:  TOTAL PROFIT (SUBSIDY):	\$134,533 \$(3,363)
UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY OF:	\$5,045.00 \$5,174.35 \$(129.35)	TOTAL REVENUE:  TOTAL COST:  TOTAL PROFIT (SUBSIDY):	\$134,533 \$(3,363)
UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY OF:	\$5,045.00 \$5,174.35 \$(129.35)	TOTAL REVENUE:  TOTAL COST:  TOTAL PROFIT (SUBSIDY):	\$134,533 \$(3,363)
UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY OF:	\$5,045.00 \$5,174.35 \$(129.35)	TOTAL REVENUE:  TOTAL COST:  TOTAL PROFIT (SUBSIDY):	\$134,533 \$(3,363)

SERVICE TRACK 2 DESIGN	I REVIEW - MAJOR			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are an	Average of Total Units				2	26
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		3.50	\$303.21	26	\$7,883
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	26	\$217
PLANNING	PLAN & BLDG SVCS DIRECTOR		4.75	\$918.65	26	\$23,885
PLANNING	SENIOR PLANNER		20.33	\$3,381.29	26	\$87,914
BUILDING	PERMIT TECH		0.25	\$25.36	26	\$659
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS		2.00	\$537.48	26	\$13,974
		TYPE SUBTOTAL	30.91	\$5,174.35		\$134,533
		TOTALS	30.91	\$5,174.35	1	\$134,533

SERVICE		REFERENCE NO	).		
TRACK 2 DESIGN REV - MAJOR NEW C	OMM				S-005A
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERV	ICE RECIPIENT	
PLANNING	APPLICATION	ON	Dev	eloper/Business	
DESCRIPTION OF SERVICE					
Review of Track 2 Design Review - Major by guidelines for new commercial buildings.	y the Planning	Commission for o	compli	iance with City co	des and
CURRENT FEE STRUCTURE					
\$5,045 per application					
REVE	NUE AND CO	ST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$5,045.00			/ENUE:	\$5,045
UNIT COST:	\$2,341.00	то	OTAL	COST:	\$2,341
LINIT PROFIT (SURSIDA).	£0.704.00	TOTAL PROFIL	T (CLU		
UNIT PROFIT (SUBSIDY):	\$2,704.00	TOTAL PROFI	1 (50	——————————————————————————————————————	\$2,704
TOTAL UNITS:	1	PCT. COST	REC	OVERY:	215.51%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	I				
\$2,340 per application plus a deposit detern Planner.	nined by staff v	vith charges at the	e fully	allocated hourly	rates for Project
Fiantier.					

SERVICE TRACK 2 DESIGN	I REV - MAJOR NEW COMI	м		REFERENCE S-0	E NO. <b>05A</b>	
NOTE				TOTAL UNIT	S	
Unit Costs are an	Average of Total Units					1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		4.25	\$368.18	1	\$368
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRECTOR		6.25	\$1,208.75	1	\$1,209
PLANNING	SENIOR PLANNER	Plus Actual Costs	1.16	\$192.93	1	\$193
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS		2.00	\$537.48	1	\$537
		TYPE SUBTOTAL	13.99	\$2,341.06		\$2,341
		TOTALS	13.99	\$2,341.00	1	\$2,341

SERVICE	REFERENCE I	NO.			
PRELIMINARY SITE ASSESSMENT			S-006		
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERV	ICE RECIPIENT	
PLANNING	APPLICATION	NC	Dev	eloper/Resident	/Business
DESCRIPTION OF SERVICE					
Prior to a Track 2 application, a site and tree standards.	e review to det	ermine the feasil	bility of	f the project with	in City planning
CURRENT FEE STRUCTURE					
\$905 per application					
REVE	NUE AND CO	ST COMPARIS	ON		
UNIT REVENUE:	\$905.00			VENUE:	\$57,920
UNIT COST:	\$1,136.47	7	TOTAL	COST:	\$72,734
UNIT PROFIT (SUBSIDY):	\$(231.47)	TOTAL PROF	FIT (SU	IBSIDY):	\$(14,814)
TOTAL UNITS:	64	PCT. COS	T REC	OVERY:	79.63%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$1,135 per application					
φ1,100 per application					

SERVICE PRELIMINARY SITE ASSESSMENT					E NO. <b>06</b>	
NOTE	A			TOTAL UNIT		
Unit Costs are ar	Average of Total Units					64
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.25	\$21.66	64	\$1,386
PLANNING	ASSOCIATE PLANNER		3.67	\$397.31	64	\$25,428
PLANNING	PLAN & BLDG SVCS DIRECTOR		0.08	\$15.47	64	\$990
PLANNING	SENIOR PLANNER		0.58	\$96.47	64	\$6,174
BUILDING	PERMIT TECH		0.25	\$25.36	64	\$1,623
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS		0.25	\$67.19	64	\$4,300
PW-ENVIRON. COMPLIA	A ENVIRON. COMPLIANCE MANAG	i	1.50	\$187.01	64	\$11,969
PW-FOREST & BEACH	CITY FORESTER		1.50	\$326.00	64	\$20,864
		TYPE SUBTOTAL	8.08	\$1,136.47		\$72,734
		TOTALS	8.08	\$1,136.47	,	\$72,734

ERVICE REASONABLE ACCOMODATION	STAFE		REFERENCE NO. S-007		
RIMARY DEPARTMENT	UNIT OF SERV		CE RECIPIENT		
PLANNING	APPLICATI	TION Developer/Resident/Business			
DESCRIPTION OF SERVICE	-	·			
Review of a request for reasonable a policies, practices and procedures to	accommodations (res o provide individuals v	idential) in land use, zon vith disabilities equal acc	ing and building regulations, cess to housing.		
CURRENT FEE STRUCTURE					
\$1,865 per application					
	REVENUE AND CO	ST COMPARISON			
UNIT REVENUE:	\$1,865.00	TOTAL REV	ENUE: \$7,460		
UNIT COST:	<b>\$542.50</b>	TOTAL (			
	<b>4042.00</b>	TOTAL			
UNIT PROFIT (SUBSIDY):	\$1,322.50	TOTAL PROFIT (SUE	SSIDY): \$5,290		
TOTAL UNITS:	4	PCT. COST RECO	OVERY: 343.78%		
SUGGESTED FEE FOR COST RECOVERY OF	: 100%				
\$545 per application					
to to per application					

SERVICE REASONABLE A	ACCOMODATION - STAFF			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are a	n Average of Total Units					4
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.33	\$28.59	4	\$114
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	4	\$33
PLANNING	ASSOCIATE PLANNER		3.42	\$370.25	4	\$1,481
PLANNING	PLAN & BLDG SVCS DIRECTOR		0.50	\$96.70	4	\$387
PLANNING	SENIOR PLANNER		0.08	\$13.31	4	\$53
BUILDING	PERMIT TECH		0.25	\$25.36	4	\$101
		TYPE SUBTOTAL	4.66	\$542.57		\$2,170
		TOTALS	4.66	\$542.50	)	\$2,170

SERVICE			REFERENCE	E NO.		
VOLUMETRIC ANALYSIS				S-008		
PRIMARY DEPARTMENT	UNIT OF SERVI	CE S	ERVICE RECIPIENT			
PLANNING PROJECT Developer/Resident/Business						
DESCRIPTION OF SERVICE	,					
Review of a residential projects total propose	ed volume for o	compliance with Cit	ty codes and guid	elines.		
CURRENT FEE STRUCTURE						
\$130 per application plus \$1,500 deposit wit		ne fully allocated ho	ourly rates plus an	y outside costs.		
UNIT REVENUE:	\$130.00		REVENUE:	\$5,850		
UNIT COST:	\$128.22	тот	AL COST:	\$5,770		
UNIT PROFIT (SUBSIDY):	\$1.78	TOTAL PROFIT	(SUBSIDY):	\$80		
TOTAL UNITS:	45	PCT. COST R	ECOVERY:	101.39%		
SUGGESTED FEE FOR COST RECOVERY OF: 100%	<u> </u>					
\$130 per application plus actual consultant o	cost					

VOLUMETRIC ANALYSIS  NOTE  Unit Costs are an Average of Total Units			REFERENCE S-0 TOTAL UNIT	08 s	ļ <b>5</b>	
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.25	\$21.66	45	\$975
PLANNING	ASSOCIATE PLANNER	Plus Actual Costs	0.75	\$81.20	45	\$3,654
BUILDING	PERMIT TECH		0.25	\$25.36	45	\$1,141
		TYPE SUBTOTAL	1.25	\$128.22		\$5,770
		TOTALS	1.25	\$128.22	!	\$5,770

SERVICE			REFERENCE N	0.	
USE PERMIT				S-009	
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVICE RECIPIENT		
PLANNING	APPLICATI	ON Developer/Resident/Business			
DESCRIPTION OF SERVICE		<u> </u>			
Review of a Use Permit (Residential & Con and guidelines.	nmercial) by the	e Planning Commi	ssion for compliance	with City codes	
CURRENT FEE STRUCTURE					
\$3,035 per application					
DEVE	ENLIE AND CO	ST COMPARISON	NI		
		ST COMPARISOI		¢=7.665	
UNIT REVENUE:	\$3,035.00		L REVENUE:	\$57,665	
UNIT COST:	\$2,618.79	TC	OTAL COST:	\$49,757	
UNIT PROFIT (SUBSIDY):	\$416.21	TOTAL PROFI	T (SUBSIDY):	\$7,908	
TOTAL UNITS:	19	PCT. COST	RECOVERY:	115.89%	
SUGGESTED FEE FOR COST RECOVERY OF: 100%	<u> </u>				
\$2,620 per application					
77.71					

SERVICE USE PERMIT				REFERENCE NO. S-009			
NOTE				TOTAL UNIT	'S		
Unit Costs are an Average of Total Units					1	19	
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST	
PLANNING	ADMIN COORDINATOR		2.67	\$231.30	19	\$4,395	
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	19	\$159	
PLANNING	ASSOCIATE PLANNER		15.25	\$1,650.97	19	\$31,368	
PLANNING	PLAN & BLDG SVCS DIRECTOR		2.92	\$564.73	19	\$10,730	
PLANNING	SENIOR PLANNER		0.83	\$138.05	19	\$2,623	
BUILDING	PERMIT TECH		0.25	\$25.36	19	\$482	
		TYPE SUBTOTAL	22.00	\$2,618.77		\$49,757	
		TOTALS	22.00	\$2,618.79	)	\$49,757	

SERVICE MINOR USE PERMIT	REFERENCE NO. S-010				
PRIMARY DEPARTMENT PLANNING	APPLICATION		SERVICE RECIPIENT  Developer/Resident/Business		
FLAMMING	APPLICATION		Developer/Resident/business		
DESCRIPTION OF SERVICE					
Review of a minor use permit for compliance	e with City code	es and standards.			
CURRENT FEE STRUCTURE					
\$2,800 per application					
REVE	NUE AND COS	ST COMPARISON			
UNIT REVENUE:	\$0.00		REVENUE:	\$0	
UNIT COST:	\$0.00	тот	AL COST:	\$0	
UNIT PROFIT (SUBSIDY):	\$0.00	TOTAL PROFIT (	(SUBSIDY):	\$0	
TOTAL UNITS:	1	PCT. COST R	ECOVERY: 0.0	00%	
SUGGESTED FEE FOR COST RECOVERY OF: 100%	<u> </u>				
This service is no longer provided and shoul	d be removed	from the fee schedu	ule.		
<b>G</b> .					

SERVICE MINOR USE PE	RMIT			REFERENCE S-0			
NOTE				TOTAL UNITS			
Unit Costs are	an Average of Total Un	its				1	
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COS	
			0.00	\$0.00	0	\$0	
		TYPE SUBTOTAL	0.00	\$0.00		\$0	
		TOTALS	0.00	\$0.00		\$0	

ERVICE USE PERMIT AMENDMENT			REFERENCE NO. S-011	
RIMARY DEPARTMENT	UNIT OF SERV	ICE SERVICE	RECIPIENT	
PLANNING	APPLICATI			
ESCRIPTION OF SERVICE		l		
Review of an amendment to an approcedes and guidelines.	oved Use Permit by th	ne Planning Commission f	for compliance with City	
CURRENT FEE STRUCTURE				
\$2,800 per application				
	REVENUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$2,800.00	TOTAL REVE	NUE: \$2,800	
UNIT COST:	\$1,743.00	TOTAL CO	OST: \$1,743	
UNIT PROFIT (SUBSIDY):	<u> </u>	TOTAL PROFIT (SUBS		
	\$1,057.00	TOTAL FROITI (3003	IDY): \$1,057	
TOTAL UNITS:	\$1,057.00 1	PCT. COST RECOV		
TOTAL UNITS:	1			
TOTAL UNITS: SUGGESTED FEE FOR COST RECOVERY OF:	1			
TOTAL UNITS:	1			
TOTAL UNITS: SUGGESTED FEE FOR COST RECOVERY OF:	1			
TOTAL UNITS: SUGGESTED FEE FOR COST RECOVERY OF:	1			
TOTAL UNITS: SUGGESTED FEE FOR COST RECOVERY OF:	1			
TOTAL UNITS: SUGGESTED FEE FOR COST RECOVERY OF:	1			

SERVICE USE PERMIT AMENDMENT				REFERENCE S-0		
NOTE Unit Costs are	an Average of Total Un	its		TOTAL UNIT	S	1
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		2.42	\$209.64	1	\$210
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	ASSOCIATE PLANNER		9.08	\$983.00	1	\$983
PLANNING	PLAN & BLDG SVCS DIR	ECTOR	2.67	\$516.38	1	\$516
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	14.50	\$1,742.74		\$1,743
		TOTALS	14.50	\$1,743.00	l	\$1,743

SERVICE	REF	REFERENCE NO.			
TEMPORARY USE PERMIT				S-012	
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVICE REC	IPIENT	
PLANNING	APPLICATI	ON	Business		
DESCRIPTION OF SERVICE		<u>l</u>			
Review of a Temporary Use Permit by the D and guidelines.	irector for tem	porary events to e	ensure comp	liance with City codes	
CURRENT FEE STRUCTURE					
\$160 per application					
REVE	NUE AND CO	ST COMPARISOI	<u>N</u>		
UNIT REVENUE:	\$160.00	TOTA	L REVENUE:	\$160	
UNIT COST:	\$352.00	то	TAL COST:	\$352	
UNIT PROFIT (SUBSIDY):	\$(192.00)	TOTAL PROFI	Γ (SUBSIDY):	: \$(192)	
TOTAL UNITS:	1	PCT. COST	RECOVERY	45.45%	
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$350 per application					
The second secon					

SERVICE TEMPORARY US	E PERMIT			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are ar	Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.25	\$21.66	1	\$22
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRECTOR		0.42	\$81.23	1	\$81
PLANNING	SENIOR PLANNER		1.08	\$179.63	1	\$180
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
CODE ENFORCEMENT	CODE COMPLIANCE COORD.		0.33	\$35.64	1	\$36
		TYPE SUBTOTAL	2.41	\$351.88		\$352
		TOTALS	2.41	\$352.00	)	\$352

SERVICE RESTRICTED COMM USE TRANSFER RI					
				-013	
PRIMARY DEPARTMENT	UNIT OF SERV		RVICE RECIPIENT		
PLANNING	APPLICATI	ON B	usiness		
DESCRIPTION OF SERVICE		,			
Review of a request to relocate an established and guidelines.	ed restricted o	commercial use by sta	aff for compliance with	City codes	
CURRENT FEE STRUCTURE					
\$885 per application					
REVE	NUE AND CO	ST COMPARISON			
UNIT REVENUE:	\$885.00	TOTAL R	EVENUE:	\$885	
UNIT COST:	\$498.00	TOTA	AL COST:	\$498	
UNIT PROFIT (SUBSIDY):	\$387.00	TOTAL PROFIT (S	SUBSIDY):	\$387	
TOTAL UNITS:	1	PCT. COST RE	COVERY:	177.71%	
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$500 per application					
фосо рег аррисанен					

SERVICE RESTRICTED C	OMM USE TRANSFE	R REQ		REFERENCE		
NOTE Unit Costs are	an Average of Total Un	iits		TOTAL UNIT	S	1
<u>DEPARTMENT</u>	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.50	\$43.32	1	\$43
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	ASSOCIATE PLANNER		3.75	\$405.98	1	\$406
PLANNING	PLAN & BLDG SVCS DIF	RECTOR	0.08	\$15.47	1	\$15
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	4.66	\$498.49		\$498
		TOTALS	4.66	\$498.00	)	\$498

SERVICE				REFERENCE NO	
WATER CREDIT TRANSFER REQUEST			S-014		
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVI	CE RECIPIENT	
PLANNING	APPLICATI	ON	Deve	eloper/Resident	
DESCRIPTION OF SERVICE	1				
Review of a request to transfer water credits	s by the City C	ouncil for complia	ınce wi	ith City codes an	d guidelines.
·				•	
CURRENT FEE STRUCTURE					
\$3,035 per application					
1177					
REVE	NUE AND CO	ST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$3,035.00	ТОТА	L REV	ENUE:	\$3,035
UNIT COST:	\$3,513.00	TC	OTAL (	COST:	\$3,513
UNIT PROFIT (SUBSIDY):	\$(478.00)	TOTAL PROFI	IT (SUE	BSIDY):	\$(478)
		DOT COST	. DEOO		00.00%
TOTAL UNITS:	1	PCT. COST	RECO	VERY:	86.39%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$3,515 per application					

SERVICE WATER CREDIT	T TRANSFER REQUEST			REFERENCE S-0		
NOTE	an Average of Total Units			TOTAL UNIT	s	1
Offic Costs are	an Average of Total Office					
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		2.92	\$252.96	1	\$253
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRECTOR	1	2.92	\$564.73	1	\$565
PLANNING	SENIOR PLANNER		16.00	\$2,661.12	1	\$2,661
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	22.17	\$3,512.53		\$3,513
		TOTALS	22.17	\$3,513.00	)	\$3,513

SERVICE			REFERENCE NO.	
VARIANCE			S	-015
PRIMARY DEPARTMENT	UNIT OF SERV	ICE SER	VICE RECIPIENT	
PLANNING	APPLICATI	ON De	eveloper/Resident/Bus	siness
DESCRIPTION OF SERVICE		l		
Review of a request for a Variance by the	e Planning Comm	nission for compliance	with City codes and c	nuidelines
Review of a request for a variance by the	e Flaming Com	iission for compliance	with City codes and g	juluelii les.
CURRENT FEE STRUCTURE				
\$1,950 per application				
\$1,000 per application				
RE	VENUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$1,950.00	TOTAL RE	EVENUE:	\$1,950
UNIT COST:	\$2,147.00	TOTAL	L COST:	\$2,147
UNIT PROFIT (SUBSIDY):	\$(197.00)	TOTAL PROFIT (S	UBSIDY):	\$(197)
TOTAL UNITS:	1	PCT. COST REC	COVERY:	90.82%
SUGGESTED FEE FOR COST RECOVERY OF: 10	0%			
\$2,145 per application				

SERVICE VARIANCE				REFERENCE S-0		
NOTE	A			TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units					
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		2.92	\$252.96	1	\$253
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRECTOR		3.17	\$613.08	1	\$613
PLANNING	SENIOR PLANNER		7.50	\$1,247.40	1	\$1,247
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	13.92	\$2,147.16		\$2,147
		TOTALS	13.92	\$2,147.00	)	\$2,147

SERVICE	REFERENCE NO.			
PRE-APPLICATION REVIEW - STAFF			S-017	
PRIMARY DEPARTMENT	UNIT OF SERVICE	SERV	VICE RECIPIENT	
PLANNING	REQUEST	Dev	veloper/Resident/Business	
DESCRIPTION OF SERVICE		l		
Review of a request for a preliminary review	of a proposed project by staff			
CURRENT FEE STRUCTURE				
\$1,815 per application with 50% of this fee o	redited towards future plannir	ng fees	for this project.	
REVE	NUE AND COST COMPARIS	<u>ON</u>		
UNIT REVENUE:	\$1,815.00 TO	AL RE	VENUE: \$1,815	5
UNIT COST:	\$1,614.00	TOTAL	. COST: \$1,614	4
UNIT PROFIT (SUBSIDY):	\$201.00 TOTAL PRO	FIT (SU	JBSIDY): \$20°	_ 1
				-
TOTAL UNITS:	1 PCT. COS	ST REC	OVERY: 112.45%	6
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$1,615 per application with 50% of this fee c	redited towards future planning	a fees	for this project	
\$ 1,0 10 per appropriation man 50 % of all 5 100 of	rounda torrarae ratare planim	.g .000	rer alle projecti	

SERVICE PRE-APPLICATION	PRE-APPLICATION REVIEW - STAFF					
NOTE				TOTAL UNIT	s	
Unit Costs are ar	Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.42	\$36.38	1	\$36
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRECTOR		0.75	\$145.05	1	\$145
PLANNING	SENIOR PLANNER		6.00	\$997.92	1	\$998
BUILDING	PERMIT TECH		0.17	\$17.25	1	\$17
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS		0.25	\$67.19	1	\$67
PW-ENVIRON. COMPLIA	A ENVIRON. COMPLIANCE MANAG	<b>;</b>	1.00	\$124.67	1	\$125
PW-FOREST & BEACH	CITY FORESTER		1.00	\$217.33	1	\$217
		TYPE SUBTOTAL	9.67	\$1,614.15		\$1,614
		TOTALS	9.67	\$1,614.00	)	\$1,614

SERVICE PRELIMINARY REVIEW - PLAN COMM									
		T	S-018						
PRIMARY DEPARTMENT	UNIT OF SERVICE		/ICE RECIPIENT						
PLANNING	APPLICATION	Dev	/eloper/Resident/Busines	S					
DESCRIPTION OF SERVICE		<u> </u>							
Review of a request for a preliminary review of a proposed project by the Planning Commission.									
CURRENT FEE STRUCTURE									
\$1,300 per application with 50% of this fee o	redited towards future planning	na fees	for this project						
The second of the second secon	roditod towardo rataro piaririi	.g 1000	Tor time project.						
REVE	NUE AND COST COMPARIS	ON							
UNIT REVENUE:	\$1,300.00 TO	ΓAL RE	VENUE:	\$1,300					
UNIT COST:	\$3,345.00	TOTAL	COST:	\$3,345					
UNIT PROFIT (SUBSIDY):	6(2,045.00) TOTAL PRO	FIT (SL	JBSIDY): \$	(2,045)					
TOTAL UNITS:	1 PCT. CO	ST REC	OVERY	38.86%					
		J. 1120	O TERRIT						
SUGGESTED FEE FOR COST RECOVERY OF: 100%									
\$3,345 per application with 50% of this fee o	redited towards future plannir	ng fees	for this project.						

SERVICE PRELIMINARY RE	PRELIMINARY REVIEW - PLAN COMM					
	Average of Total Units			TOTAL UNIT	5	1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		2.08	\$180.19	1	\$180
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRECTOR		2.25	\$435.15	1	\$435
PLANNING	SENIOR PLANNER		9.92	\$1,649.89	1	\$1,650
BUILDING	PERMIT TECH		0.17	\$17.25	1	\$17
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS		0.25	\$67.19	1	\$67
PW-STREETS	PW SUPERINTENDENT		2.00	\$427.58	1	\$428
PW-ENVIRON. COMPLIA	ENVIRON. COMPLIANCE MANAG		1.00	\$124.67	1	\$125
PW-FOREST & BEACH	CITY FORESTER		2.00	\$434.66	1	\$435
		TYPE SUBTOTAL	19.75	\$3,344.94		\$3,345
		TOTALS	19.75	\$3,345.00		\$3,345

SERVICE		REFERENCE N				
COASTAL DEV. PERMIT - DEVELOPMEI			S-019			
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERV	ICE RECIPIENT		
PLANNING	APPLICATI	ION Developer/Resident/Business				
DESCRIPTION OF SERVICE	<u> </u>	I				
Review of a Coastal Development Permit fo processed concurrently with another discret	r any developi ionary permit វ	ment in the coast application.	al zon	e. No fee to be cl	narged when	
CURRENT FEE STRUCTURE						
No fee added to other Planning fees						
REVE	NUE AND CO	ST COMPARISO	)N			
UNIT REVENUE:	\$0.00			VENUE:	\$0	
				-	•	
UNIT COST:	\$128.22 	I	OTAL	COST:	\$8, <b>20</b> 6	
UNIT PROFIT (SUBSIDY):	\$(128.22)	TOTAL PROF	IT (SU	BSIDY):	\$(8,206)	
TOTAL UNITS:	64	PCT. COS	T DEC		0.00%	
	04	F01.000	I INLO	OVERT.	0.00 /8	
SUGGESTED FEE FOR COST RECOVERY OF: 100%						
\$130 per application - Added to other Planni	ng fees					

SERVICE COASTAL DEV	. PERMIT - DEVELOPM	MENT		REFERENCE S-0	19	
	an Average of Total Un	its				64
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.25	\$21.66	64	\$1,386
PLANNING	ASSOCIATE PLANNER		0.75	\$81.20	64	\$5,197
BUILDING	PERMIT TECH		0.25	\$25.36	64	\$1,623
		TYPE SUBTOTAL	1.25	\$128.22		\$8,206
		TOTALS	1.25	\$128.22	!	\$8,206

SERVICE			REFERENC	E NO.
COASTAL DEV. PERMIT - EVENT				S-019A
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVICE RECIPIENT	
PLANNING	APPLICATI	ON	Business/Comm.	Group
DESCRIPTION OF SERVICE		I_		
Review of a Coastal Development Permit for processed concurrently with another discret			No fee to be charg	ed when
CURRENT FEE STRUCTURE				
\$1,270 per application				
REVE	NUE AND CO	ST COMPARISO	N	
UNIT REVENUE:	\$1,270.00		L REVENUE:	\$6,350
UNIT COST:	\$1,360.80	то	OTAL COST:	\$6,804
UNIT PROFIT (SUBSIDY):	\$(90.80)	TOTAL PROFI	T (SUBSIDY):	\$(454)
TOTAL UNITS:	5	PCT. COST	RECOVERY:	93.33%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$1,360 per application				
\$1,300 per application				

SERVICE COASTAL DEV	. PERMIT - EVENT			REFERENCE S-0	E NO. 19 <b>A</b>	
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Unit	S				5
DEPARTMENT	POSITION	<u>ТҮРЕ</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.25	\$108.29	5	\$541
PLANNING	PLAN & BLDG SVCS DIRE	ECTOR	1.83	\$353.92	5	\$1,770
PLANNING	SENIOR PLANNER		5.25	\$873.18	5	\$4,366
BUILDING	PERMIT TECH		0.25	\$25.36	5	\$127
		TYPE SUBTOTAL	8.58	\$1,360.75		\$6,804
		TOTALS	8.58	\$1,360.80	)	\$6,804

SERVICE SPECIFIC PLAN				REFERENCE NO.	120
	Г <u>-</u>				
PRIMARY DEPARTMENT	UNIT OF SERVI			E RECIPIENT	
PLANNING	APPLICATION	JN	Devel	oper	
DESCRIPTION OF SERVICE		·			
Review of a developer-initiated specific plan	for compliance	e with City codes	and sta	andards.	
CURRENT FEE STRUCTURE					
\$5,000 deposit with charges at the fully alloc	cated hourly ra	tes plus outside co	osts.		
REVE	NUE AND COS	ST COMPARISON	<u>N</u>		
UNIT REVENUE:	\$0.00	TOTAL	L REVE	NUE:	\$0
UNIT COST:	\$490.00	то	TAL C	OST:	\$490
UNIT PROFIT (SUBSIDY):	\$(490.00)	TOTAL PROFIT	T (SUB	SIDY):	\$(490)
TOTAL UNITS:	1	PCT. COST	RECO'	VERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
SUGGESTED FEE FOR COST RECOVERT OF. 100%					
\$5,000 deposit with charges at the fully alloc	ated hourly rat	tes plus outside co	osts.		

SERVICE SPECIFIC PLAN	ı			REFERENCE S-0		
NOTE				TOTAL UNIT	s	
Unit Costs are	an Average of Total Uni	ts				1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.92	\$79.70	1	\$80
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIR	ECTOR	2.08	\$402.27	1	\$402
PLANNING	SENIOR PLANNER	Deposit	0.00	\$0.00	1	\$0
		TYPE SUBTOTAL	3.08	\$490.33		\$490
		TOTALS	3.08	\$490.00	)	\$490

SERVICE			REFERENCE NO.	
SPECIFIC PLAN AMENDMENT			S-02	1
	LINIT OF SERVICE	055		
PRIMARY DEPARTMENT	UNIT OF SERVICE		VICE RECIPIENT	
PLANNING	APPLICATION	l D€	eveloper	
DESCRIPTION OF SERVICE		·		
Review of a developer-initiated specific plan	amendment for o	compliance with Ci	ty codes and standards.	
·		·	•	
OURDENT SEE OTRUCTURE				
CURRENT FEE STRUCTURE				
\$5,000 deposit with charges at the fully alloc	ated hourly rates	plus outside costs	3.	
REVEI	NUE AND COST	COMPARISON		
UNIT REVENUE:	\$0.00	TOTAL R	EVENUE:	\$0
UNIT COST:	\$490.00	TOTA	L COST:	\$490
UNIT COST.	<del></del>	IOIA		Ψ430 
UNIT PROFIT (SUBSIDY):	\$(490.00)	TOTAL PROFIT (S	UBSIDY):	\$(490)
	<del></del>			
TOTAL UNITS:	1	PCT. COST RE	COVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$5,000 deposit with charges at the fully alloc	ated hourly rates	plus outside costs	i <b>.</b>	

SERVICE SPECIFIC PLAI	N AMENDMENT			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Unit	ts				1
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.92	\$79.70	1	\$80
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRI	ECTOR	2.08	\$402.27	1	\$402
PLANNING	SENIOR PLANNER	Deposit	0.00	\$0.00	1	\$0
		TYPE SUBTOTAL	3.08	\$490.33		\$490
		TOTALS	3.08	\$490.00	)	\$490

SERVICE			REFERENCE NO.	
GENERAL PLAN AMENDMENT			S-022	
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	/ICE RECIPIENT	
PLANNING	APPLICATION	Dev	veloper	
DESCRIPTION OF SERVICE				
Review of a developer-initiated general plan	amendment for compliance w	ith Cit	v codes and standards	
rterion et a developer illinated general plan	amonament for compliance in	0	, couce and clamatice.	
CURRENT FEE STRUCTURE				
\$5,000 deposit with charges at the fully alloc	ated hourly rates plus outside	costs.		
40,000 aspects that changes at the tany and	р.ш.			
REVE	NUE AND COST COMPARIS	<u>ON</u>		
UNIT REVENUE:	\$0.00 TOT	AL RE	VENUE:	\$0
UNIT COST:	\$490.00	TOTAL	COST:	\$490
UNIT PROFIT (SUBSIDY):	\$(490.00) TOTAL PRO	FIT (SI	IBSIDY): \$(	490)
	——————————————————————————————————————	(00	——————————————————————————————————————	<del></del>
TOTAL UNITS:	1 PCT. COS	T REC	OVERY: 0.	.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
¢E 000 deposit with sharpes at the fully allege	atad baurly rates plus autoids	aaata		
\$5,000 deposit with charges at the fully alloc	ated flourly rates plus outside	COSIS.		

SERVICE GENERAL PLA	N AMENDMENT			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Unit	S				1
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.92	\$79.70	1	\$80
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRE	ECTOR	2.08	\$402.27	1	\$402
PLANNING	SENIOR PLANNER	Deposit	0.00	\$0.00	1	\$0
		TYPE SUBTOTAL	3.08	\$490.33		\$490
		TOTALS	3.08	\$490.00	)	\$490

SERVICE				REFERENCE NO.	. 022
SPHERE OF INFLUENCE AMENDMENT					6-023 —————
PRIMARY DEPARTMENT	UNIT OF SERV			RECIPIENT	
PLANNING	APPLICATI	ION	Develo	pper	
DESCRIPTION OF SERVICE	1				
Review of a developer-initiated spehere of in	nfluence amer	ndment for compli	ance wit	h City codes and	standards.
CURRENT FEE STRUCTURE					
\$5,000 deposit with charges at the fully alloc	cated hourly ra	ates plus outside o	costs.		
REVE	NUE AND CO	ST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$0.00	TOTA	L REVE	NUE:	\$0
UNIT COST:	\$490.00	Te	OTAL CO	OST:	\$490
UNIT PROFIT (SUBSIDY):	\$(490.00)	TOTAL PROF	IT (SUBS	SIDY):	\$(490)
TOTAL UNITS:	1	PCT. COST	RECOV	ERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$5,000 deposit with charges at the fully alloc	cated hourly ra	ates plus outside o	costs.		

SERVICE SPHERE OF INI	FLUENCE AMENDMEN	т		REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Unit	S				1
DEPARTMENT	POSITION	<u>ТҮРЕ</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.92	\$79.70	1	\$80
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRE	ECTOR	2.08	\$402.27	1	\$402
PLANNING	SENIOR PLANNER	Deposit	0.00	\$0.00	1	\$0
		TYPE SUBTOTAL	3.08	\$490.33		\$490
		TOTALS	3.08	\$490.00	ı	\$490

ZONING CODE AMENDMENT			REFERENCE NO. S-024	
PRIMARY DEPARTMENT	UNIT OF SERVIC		ICE RECIPIENT	
PLANNING	APPLICATIO	DN Dev	reloper	
DESCRIPTION OF SERVICE		·		
Review of a developer-initiated zoning code	e amendment for	r compliance with City	codes and standards.	
CURRENT FEE STRUCTURE				
\$5,000 deposit with charges at the fully allo	cated hourly rate	es plus outside costs.		
		T COMPARISON		
REVE UNIT REVENUE:	ENUE AND COS	T COMPARISON TOTAL RE	VENUE: \$0	
UNIT REVENUE:  UNIT COST:	\$0.00	TOTAL RE	COST: \$490	_
UNIT REVENUE:	\$0.00 \$490.00	TOTAL RE	COST: \$490	_
UNIT REVENUE:  UNIT COST:	\$0.00 \$490.00	TOTAL RE	COST: \$490 BSIDY): \$(490)	- -
UNIT REVENUE:  UNIT COST:  UNIT PROFIT (SUBSIDY):	\$0.00 \$490.00 \$(490.00)	TOTAL RE	COST: \$490 BSIDY): \$(490)	- -
UNIT REVENUE:  UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY OF: 100%	\$0.00 \$490.00 \$(490.00)	TOTAL RETOTAL TOTAL TOTAL PROFIT (SU PCT. COST REC	COST: \$490 BSIDY): \$(490) OVERY: 0.00%	- -
UNIT REVENUE:  UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:	\$0.00 \$490.00 \$(490.00)	TOTAL RETOTAL TOTAL TOTAL PROFIT (SU PCT. COST REC	COST: \$490 BSIDY): \$(490) OVERY: 0.00%	- -
UNIT REVENUE:  UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY OF: 100%	\$0.00 \$490.00 \$(490.00)	TOTAL RETOTAL TOTAL TOTAL PROFIT (SU PCT. COST REC	COST: \$490 BSIDY): \$(490) OVERY: 0.00%	- -
UNIT REVENUE:  UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY OF: 100%	\$0.00 \$490.00 \$(490.00)	TOTAL RETOTAL TOTAL TOTAL PROFIT (SU PCT. COST REC	COST: \$490 BSIDY): \$(490) OVERY: 0.00%	- -
UNIT REVENUE:  UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY OF: 100%	\$0.00 \$490.00 \$(490.00)	TOTAL RETOTAL TOTAL TOTAL PROFIT (SU PCT. COST REC	COST: \$490 BSIDY): \$(490) OVERY: 0.00%	- -
UNIT REVENUE:  UNIT COST:  UNIT PROFIT (SUBSIDY):  TOTAL UNITS:  SUGGESTED FEE FOR COST RECOVERY OF: 100%	\$0.00 \$490.00 \$(490.00)	TOTAL RETOTAL TOTAL TOTAL PROFIT (SU PCT. COST REC	COST: \$490 BSIDY): \$(490) OVERY: 0.00%	- -

SERVICE ZONING CODE	AMENDMENT			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Unit	is				1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.92	\$79.70	1	\$80
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRI	ECTOR	2.08	\$402.27	1	\$402
PLANNING	SENIOR PLANNER	Deposit	0.00	\$0.00	1	\$0
		TYPE SUBTOTAL	3.08	\$490.33		\$490
		TOTALS	3.08	\$490.00	)	\$490

SERVICE			REFERENCE	
ANNEXATION	T			S-025
PRIMARY DEPARTMENT	UNIT OF SERV	ICE S	SERVICE RECIPIENT	
PLANNING	APPLICATI	ON	Non-Resident	
DESCRIPTION OF SERVICE				
Review of a proposed annexation into the 0	City.			
CURRENT FEE STRUCTURE				
	4		4 .	
\$10,000 deposit with charges at the fully al	located hourly i	rates plus outside d	costs.	
REVE	ENUE AND CO	ST COMPARISON	<u>l</u>	
UNIT REVENUE:	\$0.00	TOTAL	. REVENUE:	\$0
UNIT COST:	\$490.00	то	TAL COST:	\$490
UNIT PROFIT (SUBSIDY):	\$(490.00)	TOTAL PROFIT	(SUBSIDY):	\$(490)
TOTAL UNITS:	1	PCT. COST	DECOVERY:	0.00%
TOTAL UNITS.	•	FG1. GG311	KLOOVEKT.	0.00 /8
SUGGESTED FEE FOR COST RECOVERY OF: 100%	•			
\$10,000 deposit with charges at the fully all	located hourly r	ates plus outside c	costs.	

SERVICE ANNEXATION				REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Unit	S				1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.92	\$79.70	1	\$80
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRE	ECTOR	2.08	\$402.27	1	\$402
PLANNING	SENIOR PLANNER	Deposit	0.00	\$0.00	1	\$0
		TYPE SUBTOTAL	3.08	\$490.33		\$490
		TOTALS	3.08	\$490.00	)	\$490

SERVICE			REFERENCE	
DEVELOPMENT AGREEMENT				S-026
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVICE RECIPIENT	
PLANNING	AGREEME	NT	Developer	
DESCRIPTION OF SERVICE	1	I		
Review of a proposed development agreem	nent.			
CURRENT FEE STRUCTURE				
\$10,000 deposit with charges at the fully all	ocated hourly i	rates plus outside	costs.	
REVE	NUE AND CO	ST COMPARISO	<u>N</u>	
UNIT REVENUE:	\$0.00	TOTA	L REVENUE:	\$0
UNIT COST:	\$490.00	то	TAL COST:	\$490
UNIT PROFIT (SUBSIDY):	\$(490.00)	TOTAL PROFIT	Γ (SUBSIDY):	\$(490)
		DOT COOT		0.00%
TOTAL UNITS:	1	PC1. COS1	RECOVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$10,000 deposit with charges at the fully all	ocated hourly r	rates plus outside	costs.	
1				

SERVICE DEVELOPMEN	T AGREEMENT			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Unit	S				1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.92	\$79.70	1	\$80
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRE	ECTOR	2.08	\$402.27	1	\$402
PLANNING	SENIOR PLANNER	Deposit	0.00	\$0.00	1	\$0
		TYPE SUBTOTAL	3.08	\$490.33		\$490
		TOTALS	3.08	\$490.00	)	\$490

SERVICE ENVIRONMENTAL REVIEW (IS/ND/EIR)			
	1	S-027	
		EVICE RECIPIENT	
APPLICATION	N De	eveloper/Resident/Business	
NUE AND COST	COMPARISON		
\$0.00	TOTAL RI	EVENUE: \$0	
\$140.00	TOTA	L COST: \$140	
\$(140.00)	TOTAL PROFIT (S	UBSIDY): \$(140)	
1	PCT. COST REC	COVERY: 0.00%	
I			
	APPLICATION  and by a qualified invironmental im  Superior and the superio	APPLICATION  Detected by a qualified consultant including invironmental impact reports for consultant including the property of the property o	

SERVICE ENVIRONMENT	TAL REVIEW (IS/ND/EIR	)		REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units	3				1
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.58	\$50.25	1	\$50
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRE	CTOR	0.42	\$81.23	1	\$81
PLANNING	SENIOR PLANNER	Deposit	0.00	\$0.00	1	\$0
		TYPE SUBTOTAL	1.08	\$139.84		\$140
		TOTALS	1.08	\$140.00	)	\$140

SERVICE ENVIRONMENTAL NOTICE OF EXEMPTION			REFERENCE NO	S-028	
					<b>3-020</b>
PRIMARY DEPARTMENT	UNIT OF SERV			/ICE RECIPIENT	
PLANNING	APPLICATI	ON	Dev	/eloper/Resident/E	Business
DESCRIPTION OF SERVICE	l				
Preparation and filing of a Notice of Exempti Environmental Quality Act.	on for project	s deemed catego	orically	exempt from the	California
CURRENT FEE STRUCTURE					
\$280 per application plus County fees					
REVE	NUE AND CO	ST COMPARISO	<u>NC</u>		
UNIT REVENUE:	\$280.00	тот	AL RE	VENUE:	\$280
UNIT COST:	\$151.00	1	ΓΟΤΑL	. COST:	\$151
UNIT PROFIT (SUBSIDY):	\$129.00	TOTAL PROF	FIT (SU	JBSIDY):	\$129
TOTAL UNITS:	1	PCT. COS	T REC	OVERY:	185.43%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$150 per application plus County fees					

SERVICE ENVIRONMENT NOTE	AL NOTICE OF EXEMPTI	ON		REFERENCE S-0 TOTAL UNIT	28	
Unit Costs are	an Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.25	\$21.66	1	\$22
PLANNING	ASSOCIATE PLANNER	Plus County Fee	0.75	\$81.20	1	\$81
PLANNING	PLAN & BLDG SVCS DIRECT	TOR	0.25	\$48.35	1	\$48
		TYPE SUBTOTAL	1.25	\$151.21		\$151
		TOTALS	1.25	\$151.00	)	\$151

SERVICE			REFERENCE NO.	
MITIGATION MONITORING			S-029	
PRIMARY DEPARTMENT	UNIT OF SERVICE	SERV	ICE RECIPIENT	
PLANNING	PROJECT	Dev	reloper/Resident/Business	
DESCRIPTION OF SERVICE				
Implementation and monitoring of environme	ental impact mitigation in acco	rdance	with the California	
Environmental Quality Act.				
CURRENT FEE STRUCTURE				
Deposit determined by staff with charges at	the fully allocated hourly rates	plus o	utside costs.	
REVE	NUE AND COST COMPARIS	ON		
UNIT REVENUE:			VENUE: \$0	
UNIT COST:	\$547.00	TOTAL	COST: \$547	
UNIT PROFIT (SUBSIDY):	\$(547.00) TOTAL PRO	FIT (SU	(547)	
TOTAL UNITS:	1 PCT. COS	ST REC	OVERY: 0.00%	
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$3,000 deposit with charges at the fully alloc	ated hourly rates plus outside	costs.		

SERVICE MITIGATION M	ONITORING			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Unit	S				1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	PLAN & BLDG SVCS DIRE	CTOR	2.83	\$547.32	1	\$547
PLANNING	SENIOR PLANNER	Deposit	0.00	\$0.00	1	\$0
		TYPE SUBTOTAL	2.83	\$547.32		\$547
		TOTALS	2.83	\$547.00	)	\$547

SERVICE			REFERENCE NO.
TENTATIVE/FINAL MAP			S-030
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER\	/ICE RECIPIENT
PLANNING	MAP	Dev	veloper veloper
DESCRIPTION OF SERVICE			
Review of a tentative and/or final map creati guidelines and the Subdivision Map Act.	ng more than two lots by staf	f for co	mpliance with City codes,
CURRENT FEE STRUCTURE			
\$4,000 deposit with charges at the fully alloc	eated hourly rates plus any or	itside c	nete
	ated floarly fates plas arry of	itolac o	0010.
REVE	NUE AND COST COMPARIS	ON	
UNIT REVENUE:			VENUE: \$1,200
UNIT COST:	\$1,277.00	TOTAL	. COST: \$1,277
UNIT PROFIT (SUBSIDY):	\$(77.00) TOTAL PRO	FIT (SL	JBSIDY): \$(77)
		OT DE 0	
TOTAL UNITS:	1 PCT. CO	SI REC	OVERY: 93.97%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	·		
\$4,000 deposit with charges at the fully alloc	cated hourly rates plus any ou	tside co	osts.

SERVICE TENTATIVE/FIN	NAL MAP			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Un	its				1
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.58	\$50.25	1	\$50
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIF	RECTOR	2.00	\$386.80	1	\$387
PLANNING	SENIOR PLANNER		5.00	\$831.60	1	\$832
		TYPE SUBTOTAL	7.66	\$1,277.01		\$1,277
		TOTALS	7.66	\$1,277.00	)	\$1,277

SERVICE	REFERENCE NO						
AMENDED FINAL MAP				S-031			
PRIMARY DEPARTMENT	UNIT OF SERVIO	CE SEF	RVICE RECIPIENT				
PLANNING	MAP	Developer					
DESCRIPTION OF SERVICE		<u> </u>					
Review of an amendment to an approved fir Subdivision Map Act.	nal map for com	npliance with City cod	des, guidelines and	the			
CURRENT FEE STRUCTURE							
\$1,000 deposit with charges at the fully allo	cated hourly rat	tes plus any outside o	costs.				
REVE	NUE AND COS	ST COMPARISON					
UNIT REVENUE:	\$980.00	TOTAL R	EVENUE:	\$980			
UNIT COST:	\$980.00	ТОТА	L COST:	\$980			
UNIT PROFIT (SUBSIDY):	\$0.00	TOTAL PROFIT (S	UBSIDY):	<b>\$0</b>			
		(0					
TOTAL UNITS:	1	PCT. COST RE	COVERY:	100.00%			
SUGGESTED FEE FOR COST RECOVERY OF: 100%							
\$1,000 deposit with charges at the fully alloc	cated hourly rat	es plus any outside (	coete				
with charges at the fally alloc	sated flourly fat	es plus arry outside (					

SERVICE  AMENDED FINA  NOTE	<del></del>			REFERENCE S-0 TOTAL UNIT	31	
Unit Costs are	an Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.42	\$36.38	1	\$36
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRECTO	OR	1.25	\$241.75	1	\$242
PLANNING	SENIOR PLANNER		4.17	\$693.55	1	\$694
		TYPE SUBTOTAL	5.92	\$980.04		\$980
		TOTALS	5.92	\$980.00	1	\$980

SERVICE		REFERENCE NO.			
CERTIFICATE OF COMPLIANCE	_				S-032
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE	SERVICE	RECIPIENT	
PLANNING	APPLICATI	ION	Develop	er	
DESCRIPTION OF SERVICE	1	<u>l</u>			
Request for a Certificate of Compliance pre Subdivision Map Act.	pared by staff	in accordance with	h City cod	des, guidelines	and the
CURRENT FEE STRUCTURE					
\$715 per application					
REVE	NUE AND CC	ST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$715.00	ТОТА	L REVEN	UE:	\$715
UNIT COST:	\$586.00	тс	OTAL COS	ST:	\$586
UNIT PROFIT (SUBSIDY):	\$129.00	TOTAL PROFI	T (SUBSII	DY):	\$129
TOTAL UNITS:	1	PCT. COST	RECOVE	RY:	122.01%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$585 per application plus actual contract cos	st				

SERVICE CERTIFICATE C	OF COMPLIANCE			REFERENCE S-0		
NOTE	an Average of Total Ur	nite		TOTAL UNIT	S	1
Unit Costs are	an Average of Total Ur	1115				
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR	<u>.</u>	0.25	\$21.66	1	\$22
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	ASSOCIATE PLANNER		4.08	\$441.70	1	\$442
PLANNING	PLAN & BLDG SVCS DI	RECTOR	0.50	\$96.70	1	\$97
BUILDING	PERMIT TECH		0.17	\$17.25	1	\$17
		TYPE SUBTOTAL	5.08	\$585.67		\$586
		TOTALS	5.08	\$586.00	)	\$586

SERVICE	REFERENCE NO.			
LOT LINE ADJUSTMENT/SUBDIV - PC			S-033	
PRIMARY DEPARTMENT	UNIT OF SERVI	CE SE	RVICE RECIPIENT	
PLANNING	APPLICATION	ON D	eveloper/Resident/Business	3
DESCRIPTION OF SERVICE				
		lata forma and lating	ula a Diamata a Occasionata at an fa	
Review of a lot line adjustment or subdivisio compliance with City codes, guidelines and	n creating two the Subdivisior	lots from one lot by t i Map Act.	the Planning Commission to	or
CURRENT FEE STRUCTURE				
\$1,865 per application				
REVE	NUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$1,865.00	TOTAL R	EVENUE:	\$1,865
UNIT COST:	\$518.00	TOTA	AL COST:	\$518
UNIT PROFIT (SUBSIDY):	\$1,347.00	TOTAL PROFIT (S	SUBSIDY):	\$1,347 ——
TOTAL LIMITS.		DCT COST DE	COVERY: 26	20.049/
TOTAL UNITS:	1	PCT. COST RE	COVERT: 30	60.04%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$520 per application plus actual contract cos	st			

SERVICE  LOT LINE ADJU	STMENT/SUBDIV - P	С		REFERENCE S-0		
NOTE	an Average of Total Un	ite		TOTAL UNIT	S	
Utili Costs are a	an Average of Total Un	1115				
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.58	\$50.25	1	\$50
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	ASSOCIATE PLANNER		2.67	\$289.05	1	\$289
PLANNING	PLAN & BLDG SVCS DIF	RECTOR	0.75	\$145.05	1	\$145
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	4.33	\$518.07		\$518
		TOTALS	4.33	\$518.00	)	\$518

SERVICE	REFERENCE NO.				
LOT MERGER - STAFF REVIEW				;	S-034
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERV	ICE RECIPIENT	
PLANNING	APPLICATI	ON	Dev	eloper/Resident/Bu	ısiness
DESCRIPTION OF SERVICE					
Review of a property owner request to cons staff for compliance with City codes, guideli	solidate lots and nes and the Su	d/or lot fragments ibdivision Map Ad	s or me	erge small lots into	larger lots by
CURRENT FEE STRUCTURE					
\$575 per application					
REVE	NUE AND CO	ST COMPARISC	DN .		
UNIT REVENUE:	\$575.00			/ENUE:	\$2,300
UNIT COST:	\$900.00	т	OTAL	COST:	\$3,600
UNIT PROFIT (SUBSIDY):	\$(325.00)	TOTAL PROF	IT (SU	BSIDY):	\$(1,300)
TOTAL UNITS:	4	PCT. COST	T REC	OVERY:	63.89%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	l				
\$900 per application plus actual contract co	st				

SERVICE  LOT MERGER -	STAFF REVIEW			REFERENCE S-0		
NOTE	A	**		TOTAL UNIT	S	
Unit Costs are	an Average of Total Un	ITS				4
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.58	\$50.25	4	\$201
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	4	\$33
PLANNING	ASSOCIATE PLANNER		5.00	\$541.30	4	\$2,165
PLANNING	PLAN & BLDG SVCS DIF	RECTOR	1.42	\$274.63	4	\$1,099
BUILDING	PERMIT TECH		0.25	\$25.36	4	\$101
		TYPE SUBTOTAL	7.33	\$899.90		\$3,600
		TOTALS	7.33	\$900.00	1	\$3,600

SERVICE PRELIM (PHASE 1) HIST EVAL - STAFF	REFERENCE N	o. <b>S-035</b>			
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SEDV	ICE RECIPIENT	
PLANNING	APPLICATION APPLIC			eloper/Resident/	Business
	/ 11 210/111				
DESCRIPTION OF SERVICE					
Review of a property for potential historical s	significance by	staff for complia	ince w	ith City codes ar	d regulations.
CURRENT FEE STRUCTURE					
\$310 per application					
REVE	NUE AND CO	ST COMPARISO	<u> NC</u>		
UNIT REVENUE:	\$310.00	тот	AL RE	VENUE:	\$2,790
UNIT COST:	\$452.67	т	OTAL	COST:	\$4,074
UNIT PROFIT (SUBSIDY):	\$(142.67)	TOTAL PROF	IT (SU	BSIDY):	\$(1,284)
TOTAL UNITS:	9	PCT. COS	T REC	OVERY:	68.48%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$455 per application					

SERVICE PRELIM (PHAS	E 1) HIST EVAL - STAFF			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Units					9
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.25	\$21.66	9	\$195
PLANNING	ASSISTANT PLANNER		3.42	\$357.32	9	\$3,216
PLANNING	PLAN & BLDG SVCS DIRECT	OR	0.25	\$48.35	9	\$435
BUILDING	PERMIT TECH		0.25	\$25.36	9	\$228
		TYPE SUBTOTAL	4.17	\$452.69		\$4,074
		TOTALS	4.17	\$452.67	,	\$4,074

SERVICE						
PHASE 1 HISTORIC EVAL - QUAL PROF	·			S-035A		
PRIMARY DEPARTMENT	UNIT OF SERVICE	SE	RVICE RECIPIENT			
PLANNING	APPLICATION	D	eveloper/Resident/Bu	siness		
DESCRIPTION OF SERVICE	ļ.	'				
Review of a property for potential historical s codes and regulations.	significance by a c	ualified profession	onal for compliance wi	th City		
CURRENT FEE STRUCTURE						
Deposit determined by staff with charges at	the fully allocated	hourly rates plus	s outside costs.			
REVE	NUE AND COST	COMPARISON				
UNIT REVENUE:	\$0.00	TOTAL F	REVENUE:	\$0		
UNIT COST:	\$260.00	тоти	AL COST:	\$260		
UNIT PROFIT (SUBSIDY):	\$(260.00)	TOTAL PROFIT (	SUBSIDY):	\$(260)		
TOTAL UNITS:	1	PCT. COST RE	ECOVERY:	0.00%		
SUGGESTED FEE FOR COST RECOVERY OF: 100%	I					
\$260 per application plus actual cost for Hist	torian review					

SERVICE PHASE 1 HISTO	ORIC EVAL - QUAL PROF			REFERENCE S-0	NO. <b>35A</b>	
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ASSOCIATE PLANNER	Plus Actual Costs	2.17	\$234.92	1	\$235
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	2.42	\$260.28		\$260
		TOTALS	2.42	\$260.00	)	\$260

SERVICE			REFERENCE NO.	
PHASE 2 HIST EVAL-HRB REV OF DESIGN			S-036	
PRIMARY DEPARTMENT	UNIT OF SERVICE	SERVI	CE RECIPIENT	
PLANNING	APPLICATION	Developer/Resident/Business		

#### **DESCRIPTION OF SERVICE**

Review of modifications to a historic property for consistency with the State standards for historic properties by a qualified professional followed by review of modifications to a historic property for consistency with the State standards by the HRB.

#### **CURRENT FEE STRUCTURE**

\$2,105 per application

Historian Review - Actual costs with a \$1,570 deposit

REVENUE AND COST COMPARISON								
UNIT REVENUE:	\$2,105.00	TOTAL REVENUE:	\$2,105					
UNIT COST:	\$1,517.00	TOTAL COST:	\$1,517					
UNIT PROFIT (SUBSIDY):	\$588.00	TOTAL PROFIT (SUBSIDY):	\$588					
TOTAL UNITS:	1	PCT. COST RECOVERY:	138.76%					

SUGGESTED FEE FOR COST RECOVERY OF: 100%

\$1,515 per application plus actual cost for Historian review

SERVICE PHASE 2 HIST	EVAL-HRB REV OF DESIG	GN		REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units					1
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.75	\$151.60	1	\$152
PLANNING	ASSOCIATE PLANNER	Plus Actual Costs	8.50	\$920.21	1	\$920
PLANNING	PLAN & BLDG SVCS DIRECT	FOR	2.17	\$419.68	1	\$420
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	12.67	\$1,516.85		\$1,517
		TOTALS	12.67	\$1,517.00	)	\$1,517

ERVICE APPEAL TO HISTORIC RESOURCE	CES BOARD		REFERENCE NO. S-037		
RIMARY DEPARTMENT	UNIT OF SERVI	ICE SERVIC	E RECIPIENT		
PLANNING	APPLICATION	ON Deve	Developer/Resident/Business		
DESCRIPTION OF SERVICE		I			
Review of an appeal of a historic det secretary of the interior's standards r	termination made by somade by staff to the Hi	taff or a determination o istoric Resources Board	f consistency with the		
CURRENT FEE STRUCTURE					
\$2,600 per application Historian Review - Actual costs with	a \$1,500 deposit				
	REVENUE AND CO	ST COMPARISON			
UNIT REVENUE:	REVENUE AND CO: \$2,600.00	ST COMPARISON TOTAL REVI	ENUE: \$2,600		
UNIT REVENUE: UNIT COST:		_			
	\$2,600.00	TOTAL REV	OST: \$2,034		
UNIT COST:	\$2,600.00 \$2,034.00	TOTAL REVI	OST: \$2,034 SIDY): \$566		

SERVICE APPEAL TO HIS	STORIC RESOURCES B	OARD		REFERENCE S-0		
NOTE				TOTAL UNIT	s	
Unit Costs are	an Average of Total Units					1
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		2.17	\$187.99	1	\$188
PLANNING	ASSOCIATE PLANNER		11.83	\$1,280.72	1	\$1,281
PLANNING	PLAN & BLDG SVCS DIREC	CTOR	2.75	\$531.85	1	\$532
BUILDING	PERMIT TECH		0.33	\$33.48	1	\$33
		TYPE SUBTOTAL	17.08	\$2,034.04		\$2,034
		TOTALS	17.08	\$2,034.00	)	\$2,034

ERVICE MILLS ACT CONTRACT PROCES	SING		REFERENCE NO. S-038
RIMARY DEPARTMENT	UNIT OF SERV	ICE SERVIC	CE RECIPIENT
PLANNING	APPLICATI	ON Resid	dent/Business
ESCRIPTION OF SERVICE		I	
Review of a request for a Mills Act Co	ontract for a historic p	property in accordance w	vith City codes and State law.
CURRENT FEE STRUCTURE			
\$1,350 per application (50% cost rec	overy)		
	REVENUE AND CO	ST COMPARISON	
UNIT REVENUE:	\$1,350.00	TOTAL REV	ENUE: \$1,350
UNIT COST:	\$3,441.00	TOTAL C	COST: \$3,441
UNIT PROFIT (SUBSIDY):	\$(2,091.00)	TOTAL PROFIT (SUE	3SIDY): \$(2,091)
TOTAL UNITS:	1	PCT. COST RECO	OVERY: 39.23%
SUGGESTED FEE FOR COST RECOVERY OF:	100%		
	10070		
\$3,440 per application			

SERVICE MILLS ACT CON	ITRACT PROCESSING			REFERENCE		
NOTE	A			TOTAL UNIT	'S	
Unit Costs are a	an Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		2.00	\$173.26	1	\$173
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRECTO	R	4.25	\$821.95	1	\$822
PLANNING	SENIOR PLANNER	+ Attorney	14.50	\$2,411.64	1	\$2,412
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	21.08	\$3,440.57		\$3,441
		TOTALS	21.08	\$3,441.00	)	\$3,441

SERVICE				REFERENCE NO	
PC CODE DETERMINATION			S-039		
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE	SERVI	CE RECIPIENT	
PLANNING	APPLICATI	ION	Deve	eloper/Resident/E	Business
DESCRIPTION OF SERVICE					
Review of a request for a code determinatio	n referred by	the Director to the	Plann	ning Commission	
rteview of a request for a seas determinate	in roloniou by		ı ıdııı	iiiig Commicolom	•
CURRENT FEE STRUCTURE					
\$915 per application					
go to por application					
REVE	NUE AND CC	ST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$915.00	ТОТА	L REV	'ENUE:	\$3,660
UNIT COST:	\$1,166.25	TC	OTAL	COST:	\$4,665
UNIT PROFIT (SUBSIDY):	\$(251.25)	TOTAL PROFI	IT (SUI	BSIDY):	\$(1,005)
TOTAL UNITS:	4	PCT. COST	DECC	WEDV:	78.46%
TOTAL UNITS.	4	FC1. CO31	REGU	JVENT.	7 8.40 /6
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$1,165 per application					

SERVICE PC CODE DETE	ERMINATION			REFERENCE S-0		
NOTE	an Average of Total Units			TOTAL UNIT	S	4
Offic Costs are	an Average of Total Office					
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.58	\$136.88	4	\$548
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	4	\$33
PLANNING	PLAN & BLDG SVCS DIRECTOR		1.75	\$338.45	4	\$1,354
PLANNING	SENIOR PLANNER		4.00	\$665.28	4	\$2,661
BUILDING	PERMIT TECH		0.17	\$17.25	4	\$69
		TYPE SUBTOTAL	7.58	\$1,166.22		\$4,665
		TOTALS	7.58	\$1,166.25	i	\$4,665

SERVICE				REFERENCE NO	D.
ZONING COMPLIANCE DETERMINATION	ON				S-040
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVI	ICE RECIPIENT	
PLANNING	APPLICATI	ON	Deve	eloper/Resident/l	Business
DESCRIPTION OF SERVICE		<u>'</u>			
Review of a request for zoning compliance	e status of a pro	perty by staff.			
CURRENT FEE STRUCTURE					
\$645 per application					
REV	/ENUE AND CC	ST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$645.00	TOTA	L REV	/ENUE:	\$645
UNIT COST:	\$549.00	тс	OTAL (	COST:	\$549
UNIT PROFIT (SUBSIDY):	\$96.00	TOTAL PROFIT	T (SUI	BSIDY):	\$96
TOTAL UNITS:	1	PCT. COST	RECO	OVERY:	117.49%
SUGGESTED FEE FOR COST RECOVERY OF: 100	<u> </u> %				
\$550 per application					
\$330 per application					

SERVICE ZONING COMP	LIANCE DETERMINAT	TION		REFERENCE S-0		
NOTE Unit Costs are	an Average of Total Un	its		TOTAL UNIT	S	1
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.42	\$36.38	1	\$36
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	ASSOCIATE PLANNER		3.75	\$405.98	1	\$406
PLANNING	PLAN & BLDG SVCS DIF	RECTOR	0.42	\$81.23	1	\$81
BUILDING	PERMIT TECH		0.17	\$17.25	1	\$17
		TYPE SUBTOTAL	4.84	\$549.20		\$549
		TOTALS	4.84	\$549.00	)	\$549

SERVICE TIME EXTENSION - STAFF		REFERENCE NO	o. S-041		
	05 050	<b>"0</b> "	055	//OF DECIDION	3-041
PRIMARY DEPARTMENT PLANNING	APPLICATI			/ICE RECIPIENT	Puoinogo
FLAMMING	APPLICATI	ON	Dev	/eloper/Resident/l	business
DESCRIPTION OF SERVICE					
Review of a request for a time extension for	a planning pr	oject approved b	y staff.	•	
CURRENT FEE STRUCTURE					
\$320 per application					
		ST COMPARISO			
UNIT REVENUE:	\$320.00	ТОТ	AL RE	VENUE:	\$320
UNIT COST:	\$300.00	٦	TOTAL	COST:	\$300
UNIT PROFIT (SUBSIDY):	\$20.00	TOTAL PROF	FIT (SU	JBSIDY):	\$20
	<del></del>		,		
TOTAL UNITS:	1	PCT. COS	T REC	OVERY:	106.67%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$300 per application					

SERVICE TIME EXTENSION	ON - STAFF			REFERENCE S-0		
NOTE	an Average of Total Un	uite		TOTAL UNIT	s	1
Offit Costs are	an Average of Total of	iito				<u>'</u>
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.25	\$21.66	1	\$22
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	ASSOCIATE PLANNER		1.58	\$171.05	1	\$171
PLANNING	PLAN & BLDG SVCS DIF	RECTOR	0.42	\$81.23	1	\$81
BUILDING	PERMIT TECH		0.17	\$17.25	1	\$17
		TYPE SUBTOTAL	2.50	\$299.55		\$300
		TOTALS	2.50	\$300.00	)	\$300

SERVICE		REFERENCE	E NO.		
TIME EXTENSION - PLAN COMM					S-042
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERV	ICE RECIPIENT	
PLANNING	APPLICATI	ON	Dev	eloper/Reside	nt/Business
DESCRIPTION OF SERVICE		l			
Review of a request for a time extension for	a planning pro	oject approved by	y the P	Planning Comn	nission.
·				J	
CURRENT FEE STRUCTURE					
\$675 per application					
<u>REVE</u>	NUE AND CO	ST COMPARISO	<u>NC</u>		
UNIT REVENUE:	\$675.00	TOTA	AL RE	VENUE:	\$675
UNIT COST:	\$868.00	T	TOTAL	COST:	\$868
UNIT PROFIT (SUBSIDY):	<b>\$</b> (193.00)	TOTAL PROF	IT /QII	— Beinv∖·	<b>\$(193)</b>
ONIT PROFIT (SUBSIDIT).	φ(193.00)	TOTAL FROM	11 (30	——————————————————————————————————————	Ψ(133)
TOTAL UNITS:	1	PCT. COS	T REC	OVERY:	77.76%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$870 per application					

SERVICE TIME EXTENSION	DN - PLAN COMM			REFERENCE S-0		
NOTE	an Average of Total Unite			TOTAL UNIT	'S	
Unit Costs are a	an Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.33	\$115.22	1	\$115
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRECTOR		1.25	\$241.75	1	\$242
PLANNING	SENIOR PLANNER		2.92	\$485.65	1	\$486
BUILDING	PERMIT TECH		0.17	\$17.25	1	\$17
		TYPE SUBTOTAL	5.75	\$868.23		\$868
		TOTALS	5.75	\$868.00	)	\$868

SERVICE	REFERENCE NO.			
TIME EXTENSION - CITY COUNCIL			S-0	042A 
PRIMARY DEPARTMENT	UNIT OF SERV	rice s	ERVICE RECIPIENT	
PLANNING	APPLICATI	ON I	Developer/Resident/Busir	ness
DESCRIPTION OF SERVICE				
Review of a request for a time extension for	a planning pr	oject approved by th	ne City Council.	
CURRENT FEE STRUCTURE				
\$675 per application				
REVE	NUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$675.00		REVENUE:	\$675
UNIT COST:	\$1,054.00	тот	AL COST:	\$1,054
UNIT PROFIT (SUBSIDY):	<b>\$</b> (379.00)	TOTAL PROFIT	(SUBSIDY):	\$(379)
TOTAL UNITS:	1	PCT. COST R	ECOVERY:	64.04%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$1,055 per application				

SERVICE TIME EXTENSION	ON - CITY COUNCIL			REFERENCE S-0	E NO. 42A	
NOTE Unit Costs are	an Average of Total Units			TOTAL UNIT	'S	1
Onit Cools are	arr/wordge or rotal office		<u> </u>			<u> </u>
<u>DEPARTMENT</u>	<u>POSITION</u>	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.42	\$123.01	1	\$123
PLANNING	ASSISTANT PLANNER		0.08	\$8.36	1	\$8
PLANNING	PLAN & BLDG SVCS DIRECTOR		2.17	\$419.68	1	\$420
PLANNING	SENIOR PLANNER		2.92	\$485.65	1	\$486
BUILDING	PERMIT TECH		0.17	\$17.25	1	\$17
		TYPE SUBTOTAL	6.76	\$1,053.95		\$1,054
		TOTALS	6.76	\$1,054.00	)	\$1,054

SERVICE PUBLIC HEARING CONTINUANCE - PC		REFERENCE N	IO. S-043		
	LINUT OF OFFI	105	050)	VOE DECIDIENT	
PRIMARY DEPARTMENT PLANNING	CONTINUA			ICE RECIPIENT	/Puoinaga
PLANNING	CONTINUA	NCE	Dev	eloper/Resident/	business
DESCRIPTION OF SERVICE	•				
Request by an applicant to continue a public	hearing sche	duled before the	Plann	ing Commission	
CURRENT FEE STRUCTURE					
\$850 per continuance					
PEVE	NUE AND CO	ST COMPARISO	)N		
UNIT REVENUE:				VENUE:	¢950
	\$850.00				\$850
UNIT COST:	\$851.00	Т	OTAL	COST:	\$851
UNIT PROFIT (SUBSIDY):	\$(1.00)	TOTAL PROF	IT (SU	BSIDY):	\$(1)
TOTAL UNITS:	1	PCT. COST	T REC	OVERY:	99.88%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	<u>'</u>				
\$850 per continuance					
·					

SERVICE PUBLIC HEARII NOTE	NG CONTINUANCE - PO	С		REFERENCE S-0 TOTAL UNIT	43	
Unit Costs are	an Average of Total Unit	S				1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.58	\$136.88	1	\$137
PLANNING	PLAN & BLDG SVCS DIRE	ECTOR	1.33	\$257.22	1	\$257
PLANNING	SENIOR PLANNER		2.75	\$457.38	1	\$457
		TYPE SUBTOTAL	5.66	\$851.48		\$851
		TOTALS	5.66	\$851.00	ı	\$851

SERVICE PUBL HEARING CONTINUANCE - COUN		REFERENCE NO. S-043A	
PRIMARY DEPARTMENT	UNIT OF SERV	ICE SER	VICE RECIPIENT
PLANNING	CONTINUA	NCE De	veloper/Resident/Business
DESCRIPTION OF SERVICE  Request by an applicant to continue a public	c hearing sche	eduled before the City	Council.
CURRENT FEE STRUCTURE			
\$850 per continuance			
REVE	NUE AND CO	ST COMPARISON	
UNIT REVENUE:	\$850.00	TOTAL RI	EVENUE: \$850
UNIT COST:	\$901.00	TOTA	_ COST: \$901
UNIT PROFIT (SUBSIDY):	\$(51.00)	TOTAL PROFIT (S	JBSIDY): \$(51)
TOTAL UNITS:	1	PCT. COST REC	COVERY: 94.34%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	<u>.</u>		
\$900 per continuance			

	G CONTINUANCE - CO	UNCIL			43A	
NOTE				TOTAL UNIT	S	_
Unit Costs are	an Average of Total Un	its				1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.67	\$144.67	1	\$145
PLANNING	PLAN & BLDG SVCS DIR	RECTOR	1.33	\$257.22	1	\$257
PLANNING	SENIOR PLANNER		3.00	\$498.96	1	\$499
		TYPE SUBTOTAL	6.00	\$900.85		\$901
		TOTALS	6.00	\$901.00	)	\$901

SERVICE				REFERENCE NO.	
APPEAL TO PLANNING COMMISSION				S-04	<b>!4</b>
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE	SERV	ICE RECIPIENT	
PLANNING	APPLICATI	ON	Dev	reloper/Resident/Busine	ess
DESCRIPTION OF SERVICE					
Review of an appeal of a staff decision to th	e Planning Co	ommission.			
CURRENT FEE STRUCTURE					
\$1,420 per appeal					
Appeal in the Coastal Zone - No Charge by	State law				
REVE	NUE AND CC	ST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$1,420.00	TOTA	L RE	VENUE:	\$1,420
UNIT COST:	\$2,001.00	T	OTAL	COST:	\$2,001
UNIT PROFIT (SUBSIDY):	\$(581.00)	TOTAL PROF	IT (SU	IBSIDY):	\$(581)
TOTAL UNITS:	1	PCT. COST	REC	OVERY:	70.96%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$2,000 per appeal					
Appeal in the Coastal Zone - No Charge by	State law				
, ,					

SERVICE APPEAL TO PL	ANNING COMMISSIO	N		REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Un	nits				1
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		2.17	\$187.99	1	\$188
PLANNING	ASSOCIATE PLANNER		11.83	\$1,280.72	1	\$1,281
PLANNING	PLAN & BLDG SVCS DIF	RECTOR	2.75	\$531.85	1	\$532
		TYPE SUBTOTAL	16.75	\$2,000.56		\$2,001
		TOTALS	16.75	\$2,001.00	)	\$2,001

	1.1.20	3-2020		
SERVICE APPEAL TO CITY COUNCIL			REFERENCE NO. S-044A	
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE SERVI	SERVICE RECIPIENT	
PLANNING	APPLICAT	ON Developer/Resident/Business		
DESCRIPTION OF SERVICE		<u> </u>		
Review of an appeal of a Historic Res Council.	sources Board decis	ion or a Planning Comm	ission decision to the City	
CURRENT FEE STRUCTURE				
\$1,420 per appeal				
Appeal in the Coastal Zone - No Cha				
	REVENUE AND CO	OST COMPARISON		
UNIT REVENUE:	\$1,420.00	TOTAL REV	/ENUE: \$1,420	
UNIT COST:	\$2,001.00	TOTAL		
UNIT PROFIT (SUBSIDY):	\$(581.00)	TOTAL PROFIT (SUE	3SIDY): \$(581)	
TOTAL UNITS:	1	PCT. COST RECC	OVERY: 70.96%	
SUGGESTED FEE FOR COST RECOVERY OF:	100%			
\$2,000 per appeal				
Appeal in the Coastal Zone - No Char	rge by State law			
, ,	J ,			

SERVICE APPEAL TO CI	TY COUNCIL			REFERENCE S-0	E NO. 44 <b>A</b>	
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Ur	nits				1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		2.17	\$187.99	1	\$188
PLANNING	ASSOCIATE PLANNER		11.83	\$1,280.72	1	\$1,281
PLANNING	PLAN & BLDG SVCS DI	RECTOR	2.75	\$531.85	1	\$532
		TYPE SUBTOTAL	16.75	\$2,000.56		\$2,001
		TOTALS	16.75	\$2,001.00	)	\$2,001

SERVICE SIGN APPLICATION		REFERENCE NO			
	T				S-045
PRIMARY DEPARTMENT	UNIT OF SERVI			ICE RECIPIENT	
PLANNING	APPLICATIO	)N	Dev	eloper/Business	
DESCRIPTION OF SERVICE	,				
Review of a request for a new sign by staff for	or compliance	with City codes	and gı	uidelines.	
CURRENT FEE STRUCTURE					
\$170 per application					
DEVE	NUE AND COS	ST COMPARISO	) N		
				VENUE.	¢7 240
UNIT REVENUE:	\$170.00			VENUE:	\$7,310
UNIT COST:	\$269.09	Т	OTAL	COST:	\$11,571
UNIT PROFIT (SUBSIDY):	\$(99.09)	TOTAL PROF	IT (SU	IBSIDY):	\$(4,261)
TOTAL UNITS:	43	PCT. COS	T REC	OVERY:	63.18%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$270 per application					

SERVICE SIGN APPLICATION  NOTE Unit Costs are an Average of Total Units				REFERENCE S-0 TOTAL UNIT	45 's	13
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.42	\$36.38	43	\$1,564
PLANNING	ASSISTANT PLANNER		1.67	\$174.48	43	\$7,503
PLANNING	PLAN & BLDG SVCS DIRI	ECTOR	0.17	\$32.88	43	\$1,414
BUILDING	PERMIT TECH		0.25	\$25.36	43	\$1,090
		TYPE SUBTOTAL	2.51	\$269.10		\$11,571
		TOTALS	2.51	\$269.09	)	\$11,571

SERVICE	REFERENCE NO			
SIGN REFERRAL TO PLANNING COMM	1			S-046
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE SI	ERVICE RECIPIENT	
PLANNING	APPLICATI	ON [	Developer/Business	
DESCRIPTION OF SERVICE		I		
Referral of a request for a new sign to the F	Planning Comn	nission for compliand	ce with City codes ar	nd guidelines.
	Ü	·	,	3
CURRENT FEE STRUCTURE				
\$420 per application				
REVE	ENUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$420.00	TOTAL	REVENUE:	\$1,680
UNIT COST:	\$828.75	тот	AL COST:	\$3,315
LINIT PROFIT (SUPSIDY).	¢(400.75)	TOTAL PROFIT	(CURCIDY):	#/4 C25\
UNIT PROFIT (SUBSIDY):	\$(408.75)	TOTAL PROFIT	'20R2ID1):	<b>\$(1,635)</b>
TOTAL UNITS:	4	PCT. COST R	ECOVERY:	50.68%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$830 per application				

SERVICE SIGN REFERRA	AL TO PLANNING COMM	l		REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units					4
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.50	\$129.95	4	\$520
PLANNING	ASSISTANT PLANNER		3.67	\$383.44	4	\$1,534
PLANNING	PLAN & BLDG SVCS DIREC	TOR	1.50	\$290.10	4	\$1,160
BUILDING	PERMIT TECH		0.25	\$25.36	4	\$101
		TYPE SUBTOTAL	6.92	\$828.85		\$3,315
		TOTALS	6.92	\$828.75	3	\$3,315

SERVICE RELOCATE EXISTING SIGN	REFERE			
				S-047
PRIMARY DEPARTMENT	UNIT OF SERVI	CE	SERVICE RECIPIE	NT
PLANNING	SIGN		Business	
DESCRIPTION OF SERVICE		·		
Review of a request to relocate an existing s	sign by staff for	compliance with	City codes and	guidelines.
CURRENT FEE STRUCTURE				
\$50 per application				
		ST COMPARISO		
UNIT REVENUE:	\$50.00	TOTA	L REVENUE:	\$300
UNIT COST:	\$174.17	TC	OTAL COST:	\$1,045
UNIT PROFIT (SUBSIDY):	\$(124.17)	TOTAL PROFI	T (SUBSIDY):	\$(745)
TOTAL UNITS:	6	PCT. COST	RECOVERY:	28.71%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$175 per application				
ф175 рег аррисацоп				

SERVICE RELOCATE EX	ISTING SIGN			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Un	its				6
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.42	\$36.38	6	\$218
PLANNING	ASSISTANT PLANNER		1.17	\$122.24	6	\$733
PLANNING	PLAN & BLDG SVCS DIF	RECTOR	0.08	\$15.47	6	\$93
		TYPE SUBTOTAL	1.67	\$174.09		\$1,045
		TOTALS	1.67	\$174.17	,	\$1,045

SERVICE			REFERENCE	NO.
TEMPORARY SIGN PERMIT				S-048
PRIMARY DEPARTMENT	UNIT OF SERV	VICE S	SERVICE RECIPIENT	
PLANNING	APPLICATI	ON	Business	
DESCRIPTION OF SERVICE				
Review of a request for a temporary sign or	banner by sta	ff for compliance w	rith City codes and o	guidelines.
, , , ,	•	·	, and the second	•
CURRENT FEE STRUCTURE				
\$135 per application				
,				
			_	
		ST COMPARISON		
UNIT REVENUE:	\$135.00	TOTAL	. REVENUE:	\$540
UNIT COST:	\$97.75	то	TAL COST:	\$391
UNIT PROFIT (SUBSIDY):	\$37.25	TOTAL PROFIT	(SUBSIDY):	\$149
TOTAL UNITS:	4	PCT. COST	RECOVERY:	138.11%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$100 per application				

SERVICE TEMPORARY S NOTE	IGN PERMIT			REFERENCE S-0	48	
	an Average of Total Uเ	nits		TOTAL UNIT	3	4
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR	2	0.25	\$21.66	4	\$87
PLANNING	ASSISTANT PLANNER		0.58	\$60.60	4	\$242
PLANNING	PLAN & BLDG SVCS DI	RECTOR	0.08	\$15.47	4	\$62
		TYPE SUBTOTAL	0.91	\$97.73		\$391
		TOTALS	0.91	\$97.75	i	\$391

SERVICE	REFERENCE N	0.		
BUILDING RELOCATION				S-050
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE S	SERVICE RECIPIENT	
PLANNING	APPLICATI	ION	Developer/Resident/	Business
DESCRIPTION OF SERVICE				
Review of a request to relocate a building fr	rom one narce	I to another parcel	within the City limits	
Treview of a request to relocate a building in	om one parce	rto another parcer	within the Oity innits.	
CURRENT FEE STRUCTURE				
\$1,905 per application				
ψ1,303 per application				
REVE	NUE AND CC	ST COMPARISON	<u>I</u>	
UNIT REVENUE:	\$1,905.00	TOTAL	. REVENUE:	\$1,905
UNIT COST:	\$1,858.00	то	TAL COST:	\$1,858
UNIT PROFIT (SUBSIDY):	\$47.00	TOTAL PROFIT	(SUBSIDY):	\$47
TOTAL UNITO		DOT 000T		400 500/
TOTAL UNITS:	1	PCT. COST	RECOVERY:	102.53%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$1,860 per application				

SERVICE BUILDING RELO	OCATION			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		1.58	\$136.88	1	\$137
PLANNING	ASSISTANT PLANNER		9.00	\$940.32	1	\$940
PLANNING	PLAN & BLDG SVCS DIRECTOR		2.33	\$450.62	1	\$451
PLANNING	SENIOR PLANNER		1.83	\$304.37	1	\$304
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	14.99	\$1,857.55		\$1,858
		TOTALS	14.99	\$1,858.00	)	\$1,858

SERVICE	REFERENCE NO.	2.054		
LARGE FAMILY DAY CARE (RESIDENTIA	AL)			S-051
PRIMARY DEPARTMENT	UNIT OF SERV		RVICE RECIPIENT	
PLANNING	APPLICATI	ON B	usiness	
DESCRIPTION OF SERVICE		<u>'</u>		
Review of a request to establish a large fami compliance with City codes and guidelines.	ily day care (7	-12 persons) in a res	idential zone by staff	for
CURRENT FEE STRUCTURE				
\$745 per application				
REVE	NUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$745.00	TOTAL R	EVENUE:	\$745
UNIT COST:	\$728.00	TOTA	AL COST:	\$728
UNIT PROFIT (SUBSIDY):	\$17.00	TOTAL PROFIT (S	SUBSIDY):	\$17
TOTAL UNITS:	1	PCT. COST RE	COVERY:	102.34%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$730 per application				

SERVICE  LARGE FAMILY	/ DAY CARE (RESIDENTIAL	)		REFERENCE S-0		
NOTE Unit Costs are	an Average of Total Units			TOTAL UNIT	rs .	1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.33	\$28.59	1	\$29
PLANNING	ASSISTANT PLANNER		4.33	\$452.40	1	\$452
PLANNING	PLAN & BLDG SVCS DIRECTOR	1	0.50	\$96.70	1	\$97
PLANNING	SENIOR PLANNER		0.75	\$124.74	1	\$125
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
		TYPE SUBTOTAL	6.16	\$727.79		\$728
		TOTALS	6.16	\$728.00	)	\$728

SERVICE				REFERENCE N	0.
GENERAL PLAN UPDATE					S-052
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE	SERV	/ICE RECIPIENT	
PLANNING	PERMIT		Dev	/eloper/Resident/	Business
DESCRIPTION OF SERVICE	1				
Update of the City General Plan.					
CURRENT FEE STRUCTURE					
3.5% of all Building & Safety permits					
REVE	NUE AND CO	ST COMPARISO	<u>NC</u>		
UNIT REVENUE:	\$0.00	тот	AL RE	VENUE:	\$0
UNIT COST:	\$35,000.00	7	OTAL	. COST:	\$35,000
UNIT PROFIT (SUBSIDY): \$(	(35,000.00)	TOTAL PROF	TIT (SU	JBSIDY):	\$(35,000)
TOTAL UNITS:	1	PCT. COS	T REC	OVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 50%					
2.5% of all Building 9. Safety permits					
3.5% of all Building & Safety permits					

SERVICE GENERAL PLA	N UPDATE			REFERENCE S-0		
NOTE				TOTAL UNIT	s	
Unit Costs are	an Average of Total Un	nits				1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING		\$350k Over 10 Years	0.00	\$35,000.00	1	\$35,000
		TYPE SUBTOTAL	0.00	\$35,000.00		\$35,000
		TOTALS	0.00	\$35,000.00	)	\$35,000

SERVICE			REFERENCE NO.		
PLANNING TECHNICAL ASSISTANCE			S-053		
PRIMARY DEPARTMENT	UNIT OF SERVICE	SERV	ICE RECIPIENT		
PLANNING	HOUR	Developer/Resident/Business			
DESCRIPTION OF SERVICE					
Providing technical assistance at the Plannir include Public Records Act copy and resear	ng counter at the request of the	e custo	omer. This service does not		
CURRENT FEE STRUCTURE					
	NUE AND COST COMPARIS	<u>ON</u>			
UNIT REVENUE:	\$0.00 TOT	AL RE	VENUE: \$0		
UNIT COST:	\$0.00	ΓΟΤΑL	COST: \$0		
UNIT PROFIT (SUBSIDY):	\$0.00 TOTAL PRO	FIT (SU	JBSIDY): \$0		
TOTAL UNITS:	1 PCT. COS	T REC	OVERY: 0.00%		
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
Charge the fully allocated hourly rate for all p	personnel involved after 15 min	nutes.			

HNICAL ASSISTANCE					
			TOTAL UNIT	S	
an Average of Total Unit	S				1
POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
		0.00	\$0.00	0	\$0
	TYPE SUBTOTAL	0.00	\$0.00		\$0
	TOTALS	0.00	\$0.00		\$0
	an Average of Total Unit	TYPE SUBTOTAL	POSITION TYPE UNIT TIME  0.00  TYPE SUBTOTAL 0.00	POSITION TYPE UNIT TIME UNIT COST  10.00 \$0.00  TYPE SUBTOTAL 0.00 \$0.00	POSITION TYPE UNIT TIME UNIT COST ANN. UNITS  0.00 \$0.00 0  TYPE SUBTOTAL 0.00 \$0.00

SERVICE			REFERENCE NO.		
BUILDING PLAN CHECK			S-054		
PRIMARY DEPARTMENT UNIT OF SERVICE SERV			/ICE RECIPIENT		
BUILDING	PERMIT	Developer/Resident/Business			
DESCRIPTION OF SERVICE					
Review of building construction plans for compliance with City codes and standards.					

#### **CURRENT FEE STRUCTURE**

New Construction - Various fees based on construction valuation

Plan Revision after approval - \$250 base plus \$70 per hour for review longer than 30 minutes.

REVENUE AND COST COMPARISON						
UNIT REVENUE:	\$390.56	TOTAL REVENUE:	\$287,065			
UNIT COST:	\$497.03	TOTAL COST:	\$365,320			
UNIT PROFIT (SUBSIDY):	\$(106.47)	TOTAL PROFIT (SUBSIDY):	\$(78,255)			
TOTAL UNITS:	735	PCT. COST RECOVERY:	78.58%			

SUGGESTED FEE FOR COST RECOVERY OF: 100%

New Construction - No Change

Additional Plan Review - \$250 base plus \$150 per hour for review longer than one hour Plan Revision after approval - \$250 base plus \$150 per hour for review longer than one hour

SERVICE BUILDING PLAN	CHECK			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are an	Average of Total Units				73	35
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	BUILDING OFFICIAL	Remainder Of Time	1.34	\$203.22	735	\$149,367
BUILDING	PERMIT TECH	Remainder Of Time	0.96	\$97.59	735	\$71,729
PW-STREETS	PW SUPERINTENDENT	1 Hr/Week	0.07	\$14.56	735	\$10,702
PW-ENVIRON. COMPLIA	A ENVIRON. COMPLIANCE MA	NAG 5%	0.11	\$13.96	735	\$10,261
PW-FOREST & BEACH	CITY FORESTER	10%	0.22	\$48.67	735	\$35,772
		TYPE SUBTOTAL	2.70	\$378.00		\$277,830
BUILDING	BUILDING INSPECTOR		4.00	\$561.92	4	\$2,248
		TYPE SUBTOTAL	4.00	\$561.92		\$2,248
PLANNING	ASSISTANT PLANNER		0.38	\$39.18	345	\$13,517
PLANNING	SENIOR PLANNER		1.25	\$207.90	345	\$71,726
		TYPE SUBTOTAL	1.63	\$247.08		\$85,243
		TOTALS	8.33	\$497.03	3	\$365,320

SERVICE			REFERENCE NO.	
BUILDING INSPECTION			S-054A	
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	/ICE RECIPIENT	
BUILDING	PERMIT	Developer/Resident/Business		

#### **DESCRIPTION OF SERVICE**

Inspection of construction for compliance with City codes and standards.

### **CURRENT FEE STRUCTURE**

New Construction - Various fees based on construction valuation Trade Permits - Various fees Stormwater Inspection - \$64.50 per inspection

REVENUE AND COST COMPARISON						
UNIT REVENUE:	\$210.16	TOTAL REVENUE:	\$378,296			
UNIT COST:	\$125.14	TOTAL COST:	\$225,245			
UNIT PROFIT (SUBSIDY):	\$85.02	TOTAL PROFIT (SUBSIDY):	\$153,051			
TOTAL UNITS:	1,800	PCT. COST RECOVERY:	167.95%			

SUGGESTED FEE FOR COST RECOVERY OF: 100%

No Change, except:

Permit by Appointment - \$330

SERVICE BUILDING INSF	PECTION			REFERENCE S-0	E NO. <b>54A</b>	
NOTE	A 67 (111 %			TOTAL UNIT		
Unit Costs are	an Average of Total Units				1,80	00
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	BUILDING INSPECTOR	Remainder Of Time	0.66	\$92.81	1,800	\$167,058
BUILDING	PERMIT TECH		0.25	\$25.36	1,800	\$45,648
		TYPE SUBTOTAL	0.91	\$118.17		\$212,706
PLANNING	ASSISTANT PLANNER		1.50	\$156.72	20	\$3,134
PLANNING	SENIOR PLANNER		1.50	\$249.48	11	\$2,744
BUILDING	BUILDING OFFICIAL		1.00	\$151.84	2	\$304
		TYPE SUBTOTAL	4.00	\$558.04		\$6,182
PLANNING	ASSISTANT PLANNER	Permit By Appt.	0.50	\$52.24	15	\$784
BUILDING	BUILDING OFFICIAL	Permit By Appt.	1.00	\$151.84	20	\$3,037
BUILDING	PERMIT TECH	Permit By Appt.	1.25	\$126.81	20	\$2,536
		TYPE SUBTOTAL	2.75	\$330.89		\$6,357
		TOTALS	7.66	\$125.14	ļ	\$225,245

SERVICE BUILDING RE-INSPECTION				REFERENCE I	NO. S-054B		
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERV	ERVICE RECIPIENT			
BUILDING	RE-INSPEC			Developer/Resident/Business			
DESCRIPTION OF SERVICE		<u> </u>					
Re-inspection of construction that is needed	I due to the ac	tions of the appli	cant.				
CURRENT FEE STRUCTURE							
\$105 per re-inspection							
REVE	NUE AND CO	ST COMPARISO	<u>NC</u>				
UNIT REVENUE:	\$105.00	TOTA	AL RE\	VENUE:	\$5,250		
UNIT COST:	\$140.48	T	TOTAL	COST:	\$7,024		
UNIT PROFIT (SUBSIDY):	\$(35.48)	TOTAL PROF	FIT (SU	BSIDY):	\$(1,774)		
TOTAL UNITS:	50	PCT. COS	T REC	OVERY:	74.74%		
SUGGESTED FEE FOR COST RECOVERY OF: 100%							
\$140 per re-inspection							

SERVICE BUILDING RE-I	NSPECTION			REFERENCE S-0	E NO. <b>54B</b>	
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units				5	50
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	BUILDING INSPECTOR		1.00	\$140.48	50	\$7,024
		TYPE SUBTOTAL	1.00	\$140.48		\$7,024
		TOTALS	1.00	\$140.48	3	\$7,024

SERVICE PERMIT APPLICATION EXTENSION			REFERENCE I	NO. S-054C
PRIMARY DEPARTMENT	UNIT OF SERV	ICF 5	SERVICE RECIPIENT	
BUILDING	EXTENSIO		Developer/Resident	/Business
DESCRIPTION OF SERVICE		<u> </u>		
Extension of an expiring Building Permit App	olication at the	reqeust of the app	licant.	
CURRENT FEE STRUCTURE				
\$110 per extension (maximum of 4)				
\$110 per extension (maximum or 4)				
REVE	NUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$110.00	TOTAL	. REVENUE:	\$550
UNIT COST:	\$88.60	то	TAL COST:	\$443
UNIT PROFIT (SUBSIDY):	\$21.40	TOTAL PROFIT	(SUBSIDY):	\$107
TOTAL UNITS:	5	PCT. COST I	RECOVERY:	124.15%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	<u> </u>			
\$90 per extension (maximum of 4)				
, , ,				

SERVICE PERMIT APPLI	CATION EXTENSION			REFERENCE S-0	E NO. <b>54C</b>	
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units					5
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	BUILDING OFFICIAL		0.25	\$37.96	5	\$190
BUILDING	PERMIT TECH		0.50	\$50.73	5	\$254
		TYPE SUBTOTAL	0.75	\$88.69		\$443
		TOTALS	0.75	\$88.60	)	\$443

SERVICE			REFERENCE NO.	
PERMIT EXTENSION			S-054D	
PRIMARY DEPARTMENT	UNIT OF SERV		RVICE RECIPIENT	
BUILDING	EXTENSIO	N De	eveloper/Resident/Business	
DESCRIPTION OF SERVICE	1	<u> </u>		
Extension of an expiring or expired Building	Permit at the	reqeust of the applica	nt.	
CURRENT FEE STRUCTURE				
\$215 per extension (maximum of 2)				
		ST COMPARISON		
UNIT REVENUE:	\$215.00	TOTAL R	EVENUE: \$1	1,075
UNIT COST:	\$140.20	TOTA	L COST:	\$701
UNIT PROFIT (SUBSIDY):	\$74.80	TOTAL PROFIT (S	SUBSIDY):	\$374
TOTAL UNITS:	5	PCT. COST RE	COVERY: 153	.35%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$140 per extension (maximum of 2)				
\$ 1.10 per enterior (a.m.a.m e. 2)				

SERVICE PERMIT EXTEN	ISION			REFERENCE S-0 TOTAL UNIT	54D	
Unit Costs are	an Average of Total Units					5
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ASSISTANT PLANNER		0.25	\$26.12	5	\$131
BUILDING	BUILDING OFFICIAL		0.25	\$37.96	5	\$190
BUILDING	PERMIT TECH		0.75	\$76.09	5	\$380
		TYPE SUBTOTAL	1.25	\$140.17		\$701
		TOTALS	1.25	\$140.20	)	\$701

SERVICE			REFERENCE NO.	
BUILDING PERMIT PRE-APPLIC. CONFER.			S-054E	
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	VICE RECIPIENT	
BUILDING	APPLICATION	Dev	veloper/Resident/Business	
DESCRIPTION OF SERVICE	-1	'		
Review of a request for a pre-application re	view of a proposed co	onstruction proje	ect by staff.	
CURRENT FEE STRUCTURE				
None				
None				
REVE	NUE AND COST CO	MPARISON		
UNIT REVENUE:	\$0.00	TOTAL RE	EVENUE: \$6	0
UNIT COST:	\$306.00	TOTAL	COST: \$300	6
UNIT PROFIT (SUBSIDY):	\$(306.00) TO	TAL PROFIT (SU	JBSIDY): \$(306	5)
TOTAL UNITS:	1	PCT. COST REC	COVERY: 0.00%	<del>-</del> %
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$305 per application				

NOTE	MIT PRE-APPLIC. CONF	ER.		REFERENCE S-0 TOTAL UNIT	54E	
Unit Costs are	an Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ASSISTANT PLANNER		0.50	\$52.24	1	\$52
BUILDING	BUILDING OFFICIAL		1.00	\$151.84	1	\$152
BUILDING	PERMIT TECH		1.00	\$101.45	1	\$101
		TYPE SUBTOTAL	2.50	\$305.53		\$306
		TOTALS	2.50	\$306.00	ı	\$306

SERVICE BUILDING SINGLE TRADE PERMIT			REFERENCE NO. S-055		
PRIMARY DEPARTMENT	UNIT OF SERVICE		ERVICE RECIPIENT		
BUILDING	PERMIT	De	veloper/Resident/Business		
DESCRIPTION OF SERVICE	•				

Review of over the counter single plumbing, mechanical, or electrical permits for compliance with City codes and

**CURRENT FEE STRUCTURE** 

Gas Service Reconnection - \$105 per permit Other - \$190 per permit

standards, and inspection of the resulting construction.

REVENUE AND COST COMPARISON							
UNIT REVENUE:	\$190.00	TOTAL REVENUE:	\$26,600				
UNIT COST:	\$159.45	TOTAL COST:	\$22,323				
UNIT PROFIT (SUBSIDY):	\$30.55	TOTAL PROFIT (SUBSIDY):	\$4,277				
TOTAL UNITS:	140	PCT. COST RECOVERY:	119.16%				

SUGGESTED FEE FOR COST RECOVERY OF: 100%

\$160 per permit

SERVICE BUILDING SING	GLE TRADE PERMIT			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units				14	10
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	BUILDING INSPECTOR		0.75	\$105.36	140	\$14,750
BUILDING	PERMIT TECH		0.50	\$50.73	140	\$7,102
		TYPE SUBTOTAL	1.25	\$156.09		\$21,853
BUILDING	BUILDING INSPECTOR		0.50	\$70.24	4	\$281
BUILDING	BUILDING OFFICIAL		0.25	\$37.96	5	\$190
		TYPE SUBTOTAL	0.75	\$108.20		\$471
		TOTALS	2.00	\$159.45	i	\$22,323

SERVICE			REFERENCE NO.	
ON-SITE DRIVEWAY PERMIT			S-0	55A
PRIMARY DEPARTMENT	UNIT OF SERV	ICE SER	VICE RECIPIENT	
BUILDING	PERMIT	De	veloper/Resident/Busin	ess
DESCRIPTION OF SERVICE		ı		
Review of a new or replaced driveway for c	ompliance with	n City codes and stand	ards.	
,	'	- ,		
CURRENT FEE STRUCTURE				
None				
Neme				
REVE	NUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$0.00	TOTAL RE	EVENUE:	\$0
UNIT COST:	\$261.00	TOTAI	_ COST:	\$261
UNIT PROFIT (SUBSIDY):	\$(261.00)	TOTAL PROFIT (S	UBSIDY):	\$(261)
TOTAL UNITS:	1	PCT. COST REC	COVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$260 per permit				

SERVICE ON-SITE DRIVE	EWAY PERMIT				55A	
NOTE Unit Costs are	an Average of Total Units			TOTAL UNIT	S	1
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ASSISTANT PLANNER		0.75	\$78.36	1	\$78
BUILDING	PERMIT TECH		0.75	\$76.09	1	\$76
PW-STREETS	PW SUPERINTENDENT		0.50	\$106.90	1	\$107
		TYPE SUBTOTAL	2.00	\$261.35		\$261
		TOTALS	2.00	\$261.00	)	\$261

SERVICE	REFERENC	REFERENCE NO.						
SOLAR PLAN CHECK/INSPECTION PER		S-056						
PRIMARY DEPARTMENT	UNIT OF SERVI	CE SEF	SERVICE RECIPIENT					
BUILDING	PERMIT	De	Developer/Resident/Business					
DESCRIPTION OF SERVICE								
Review of solar system construction plans for compliance with City codes and standards, and inspection of the resulting construction.								
CURRENT FEE STRUCTURE								
\$515 per application								
REVENUE AND COST COMPARISON								
UNIT REVENUE:	\$515.00	TOTAL R	EVENUE:	\$18,025				
UNIT COST:	\$435.34	TOTA	L COST:	\$15,237				
UNIT PROFIT (SUBSIDY):	\$79.66	TOTAL PROFIT (S	SUBSIDY):	\$2,788				
TOTAL UNITS:	35	PCT. COST RE	COVERY:	118.30%				
SUGGESTED FEE FOR COST RECOVERY OF: 100%								
Plan Check - \$305 Inspection - \$130								

SERVICE SOLAR PLAN CHECK/INSPECTION PERMIT NOTE				REFERENCE S-0	56	
Unit Costs are	an Average of Total Units				3	35
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ASSISTANT PLANNER	Plan Check	0.25	\$26.12	35	\$914
BUILDING	BUILDING INSPECTOR	Inspection	0.75	\$105.36	35	\$3,688
BUILDING	BUILDING OFFICIAL	Plan Check	1.50	\$227.76	35	\$7,972
BUILDING	PERMIT TECH	Inspection	0.25	\$25.36	35	\$888
BUILDING	PERMIT TECH	Plan Check	0.50	\$50.73	35	\$1,776
		TYPE SUBTOTAL	3.25	\$435.33		\$15,237
		TOTALS	3.25	\$435.34	ı	\$15,237

SERVICE			REFERENCE	REFERENCE NO.			
RE-ROOF PERMIT		S-057					
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVICE RECIPIENT				
BUILDING	PERMIT		Resident/Business				
DESCRIPTION OF SERVICE							
Review of re-roof construction plans for compliance with City codes and standards, and inspection of the resulting construction.							
CURRENT FEE STRUCTURE							
\$505 per permit							
REVENUE AND COST COMPARISON							
UNIT REVENUE:	\$505.00		- L REVENUE:	\$62,115			
UNIT COST:	\$247.01	то	TAL COST:	\$30,382			
LINIT PROFIT (OUROIDV)		TOTAL BROSE					
UNIT PROFIT (SUBSIDY):	\$257.99	TOTAL PROFIT	(2082ID1):	\$31,733			
TOTAL UNITS:	123	PCT. COST	RECOVERY:	204.45%			
SUGGESTED FEE FOR COST RECOVERY OF: 100%							
\$245 per permit							

SERVICE RE-ROOF PERI	ИІТ			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units				12	23
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ASSISTANT PLANNER		0.25	\$26.12	123	\$3,213
BUILDING	BUILDING INSPECTOR		1.00	\$140.48	123	\$17,279
BUILDING	PERMIT TECH		0.75	\$76.09	123	\$9,359
		TYPE SUBTOTAL	2.00	\$242.69		\$29,851
BUILDING	BUILDING OFFICIAL		0.50	\$75.92	7	\$531
		TYPE SUBTOTAL	0.50	\$75.92		\$531
		TOTALS	2.50	\$247.01		\$30,382

SERVICE BUILDING BOARD APPEAL	REFERENCE NO.	-058			
PRIMARY DEPARTMENT	UNIT OF SERV	ICF	SERV	/ICE RECIPIENT	
BUILDING	APPLICATION APPLIC			eloper/Resident/Bus	siness
DESCRIPTION OF SERVICE		<u> </u>			
Appeal of a decision of the Building Official	to the Building	Board.			
CURRENT FEE STRUCTURE					
\$975 per application					
REVE	NUE AND CO	ST COMPARISO	<u> </u>		
UNIT REVENUE:	\$975.00	тот	AL RE	VENUE:	\$975
UNIT COST:	\$1,012.00	7	OTAL	COST:	\$1,012
UNIT PROFIT (SUBSIDY):	\$(37.00)	TOTAL PROF	FIT (SU	IBSIDY):	\$(37)
TOTAL UNITS:	1	PCT. COS	T REC	OVERY:	96.34%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$1,010 per appeal					

SERVICE BUILDING BOA	ARD APPEAL			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	BUILDING OFFICIAL		6.00	\$911.04	1	\$911
BUILDING	PERMIT TECH		1.00	\$101.45	1	\$101
		TYPE SUBTOTAL	7.00	\$1,012.49		\$1,012
		TOTALS	7.00	\$1,012.00	)	\$1,012

PRIMARY DEPARTMENT BUILDING  CARD  Developer/Resident/Business  DESCRIPTION OF SERVICE Creation of a duplicate inspection card because the applicant lost the card.  CURRENT FEE STRUCTURE  \$70 per card
BUILDING  CARD  Developer/Resident/Business  Description of Service  Creation of a duplicate inspection card because the applicant lost the card.  CURRENT FEE STRUCTURE
DESCRIPTION OF SERVICE  Creation of a duplicate inspection card because the applicant lost the card.  CURRENT FEE STRUCTURE
Creation of a duplicate inspection card because the applicant lost the card.  CURRENT FEE STRUCTURE
CURRENT FEE STRUCTURE
CURRENT FEE STRUCTURE
\$70 per card
REVENUE AND COST COMPARISON
UNIT REVENUE: \$70.00 TOTAL REVENUE: \$700
UNIT COST: \$60.50 TOTAL COST: \$605
UNIT PROFIT (SUBSIDY): \$9.50 TOTAL PROFIT (SUBSIDY): \$95
### ### ##############################
TOTAL UNITS: 10 PCT. COST RECOVERY: 115.70%
SUGGESTED FEE FOR COST RECOVERY OF: 100%
SUGGESTED FEE FOR COST RECOVERT OF. 100 %
\$60 per card

SERVICE DUPLICATE IN	SPECTION CARD			REFERENCE S-0		
NOTE				TOTAL UNIT	s	
Unit Costs are	an Average of Total Units				1	10
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	BUILDING INSPECTOR		0.25	\$35.12	10	\$351
BUILDING	PERMIT TECH		0.25	\$25.36	10	\$254
		TYPE SUBTOTAL	0.50	\$60.48		\$605
		TOTALS	0.50	\$60.50	)	\$605

SERVICE			REFERENCE NO.	
BUILDING TECHNICAL ASSISTANCE			S-059A	
PRIMARY DEPARTMENT	UNIT OF SERVICE	SERV	ICE RECIPIENT	
BUILDING	REVIEW	Dev	reloper/Resident/Business	
DESCRIPTION OF SERVICE				
Providing technical assistance at the Buildin include Public Records Act copy and research		custo	mer. This service does not	
CURRENT FEE STRUCTURE				
Charge the fully allocated hourly rate for all p	personnel involved after 15 mi	nutes.		
REVE	NUE AND COST COMPARIS	<u>ON</u>		
UNIT REVENUE:	\$0.00 TOT	AL RE	VENUE: \$0	
UNIT COST:	\$0.00	TOTAL	COST: \$0	
UNIT PROFIT (SUBSIDY):	\$0.00 TOTAL PRO	FIT (SU	(BSIDY): \$0	
TOTAL UNITS:	1 PCT. COS	T REC	OVERY: 0.00%	
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
Charge the fully allocated hourly rate for all p	personnel involved after 15 mi	nutes.		

SERVICE BUILDING TEC	HNICAL ASSISTANCE			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Un	its				1
<u>DEPARTMENT</u>	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
			0.00	\$0.00	0	\$0
		TYPE SUBTOTAL	0.00	\$0.00		\$0
		TOTALS	0.00	\$0.00	ı	\$0

SERVICE REFERENCE STOP WORK INVESTIGATION					-059B
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE	SERVI	CE RECIPIENT	
BUILDING	INVESTIGA	ATION	Deve	eloper/Resident/Bus	siness
DESCRIPTION OF SERVICE  Inspection of work performed without the pro-	pper permits.				
CURRENT FEE STRUCTURE					
\$500 per investigation plus double the permi	it foo				
REVE	NUE AND CO	ST COMPARISO	<u>NC</u>		
UNIT REVENUE:	\$500.00	тоти	AL REV	ENUE:	\$21,500
UNIT COST:	\$543.23	Т	TOTAL (	COST:	\$23,359
UNIT PROFIT (SUBSIDY):	\$(43.23)	TOTAL PROF	FIT (SUE	BSIDY):	\$(1,859)
TOTAL UNITS:	43	PCT. COS	T RECC	OVERY:	92.04%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$545 per investigation plus double the permi	it fee				

SERVICE STOP WORK IN	IVESTIGATION			REFERENCE S-0	59B	
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Units				4	13
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	BUILDING INSPECTOR		3.00	\$421.44	43	\$18,122
BUILDING	BUILDING OFFICIAL		0.25	\$37.96	43	\$1,632
BUILDING	PERMIT TECH		0.75	\$76.09	43	\$3,272
		TYPE SUBTOTAL	4.00	\$535.49		\$23,026
PLANNING	SENIOR PLANNER		0.50	\$83.16	4	\$333
		TYPE SUBTOTAL	0.50	\$83.16		\$333
		TOTALS	4.50	\$543.23	· · · · · · · · · · · · · · · · · · ·	\$23,359

SERVICE TEMPORARY CERTIFICATE OF OCCUPA	REFERENCE	NO. S-059C			
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERV	ICE RECIPIENT	
BUILDING	APPLICATI	ON	Dev	eloper/Residen	:/Business
DESCRIPTION OF SERVICE  Review and inspection of a request to occup	l by a building b	efore all permits	are fin	ıal.	
CURRENT FEE STRUCTURE					
\$215 per application					
REVE	NUE AND CO	ST COMPARISO	<u>NC</u>		
UNIT REVENUE:	\$215.00	тот	AL RE	VENUE:	\$1,290
UNIT COST:	\$211.33	1	ΓΟΤΑL	COST:	\$1,268
UNIT PROFIT (SUBSIDY):	\$3.67	TOTAL PROF	FIT (SU	IBSIDY):	\$22
TOTAL UNITS:	6	PCT. COS	T REC	OVERY:	101.74%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$215 per application					

SERVICE TEMPORARY C	ERTIFICATE OF OCCUPA	ANCY		REFERENCE S-0	NO. <b>59C</b>	
NOTE				TOTAL UNIT	s	
Unit Costs are	an Average of Total Units					6
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ASSOCIATE PLANNER		0.25	\$27.07	6	\$162
BUILDING	BUILDING INSPECTOR		0.50	\$70.24	6	\$421
BUILDING	BUILDING OFFICIAL		0.25	\$37.96	6	\$228
BUILDING	PERMIT TECH		0.75	\$76.09	6	\$457
		TYPE SUBTOTAL	1.75	\$211.36		\$1,268
		TOTALS	1.75	\$211.33	1	\$1,268

SERVICE ALTERNATE MATERIALS/METHODS REVIEW				NCE NO. S-059D
	T	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	NEDVICE DECIDIE	
PRIMARY DEPARTMENT BUILDING	APPLICATI		BERVICE RECIPIES  Developer/Res	
BOILDING	APPLICATI		Developel/Res	ideni/business
DESCRIPTION OF SERVICE				
Review of a request to use alternate materia	als or methods	for construction.		
CURRENT FEE STRUCTURE				
\$105 per hour plus actual cost of City Staff				
REVE	NUE AND CO	ST COMPARISON	<u> </u>	
UNIT REVENUE:	\$105.00	TOTAL	. REVENUE:	\$525
UNIT COST:	\$202.60	то	TAL COST:	\$1,013
UNIT PROFIT (SUBSIDY):	\$(97.60)	TOTAL PROFIT	(SUBSIDY):	\$(488)
TOTAL UNITS:	5	PCT. COST	RECOVERY:	51.83%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$205 per application plus actual cost of City	Staff for all tin	ne over one hour		

SERVICE ALTERNATE M	ATERIALS/METHODS R	EVIEW		REFERENCE S-0	E NO. <b>59D</b>	
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units					5
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	BUILDING OFFICIAL		1.00	\$151.84	5	\$759
BUILDING	PERMIT TECH		0.50	\$50.73	5	\$254
		TYPE SUBTOTAL	1.50	\$202.57		\$1,013
		TOTALS	1.50	\$202.60	)	\$1,013

SERVICE BUILDING PHASED WORK REQUEST		REFERENCE NO.	S-059E		
	LINIT OF SERV	WOE	OED)/IOE		O-033L
PRIMARY DEPARTMENT BUILDING	APPLICATI			RECIPIENT  per/Resident/Bu	ısiness
BOILDING	ALLEGATI		DCVCIO	perincoldentible	3311033
DESCRIPTION OF SERVICE					
Review of a request to break a proposed pro	oject into vario	us phases.			
CURRENT FEE STRUCTURE					
CURRENT FEE STRUCTURE					
\$215 per application					
REVE	NUE AND CO	ST COMPARISO	N		
UNIT REVENUE:	\$215.00	ТОТА	L REVEN	NUE:	\$10,750
UNIT COST:	\$291.26	TO	OTAL CO	ST:	\$14,563
UNIT PROFIT (SUBSIDY):	\$(76.26)	TOTAL PROFI	T (SUBS	IDY):	\$(3,813)
TOTAL LINUTG.		DOT COST	DECOV		72.020/
TOTAL UNITS:	50	PCT. COST	RECOV	EKI.	73.82%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$290 per application					

SERVICE BUILDING PHA	SED WORK REQUEST			REFERENCE S-0	NO. <b>59E</b>	
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Units				5	50
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	BUILDING OFFICIAL		1.25	\$189.80	50	\$9,490
BUILDING	PERMIT TECH		1.00	\$101.45	50	\$5,073
		TYPE SUBTOTAL	2.25	\$291.25		\$14,563
		TOTALS	2.25	\$291.26	}	\$14,563

SERVICE  LANDSCAPE PLAN CHECK/INSPECTION				REFERENCE NO.	S-060
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERV	/ICE RECIPIENT	
PLANNING	PLAN/PERM			/eloper/Resident/Bu	siness
DESCRIPTION OF SERVICE	<u> </u>				
Review of a stand-alone landscape plan for construction.	compliance wi	th City codes and	l stan	dards, and inspecti	on of the
CURRENT FEE STRUCTURE					
\$180 per plan check					
REVE	NUE AND CO	ST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$180.00	тота	L RE	VENUE:	\$180
UNIT COST:	\$268.00	TC	OTAL	COST:	\$268
UNIT PROFIT (SUBSIDY):	\$(88.00)	TOTAL PROFI	T (SU	JBSIDY):	\$(88)
TOTAL UNITS:	1	PCT. COST	REC	OVERY:	67.16%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$270 per plan/inspection					

SERVICE LANDSCAPE PLA	AN CHECK/INSPECTION			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are ar	Average of Total Units					1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PLANNING	ADMIN COORDINATOR		0.25	\$21.66	1	\$22
PLANNING	ASSISTANT PLANNER		1.17	\$122.24	1	\$122
PLANNING	PLAN & BLDG SVCS DIRECTOR		0.08	\$15.47	1	\$15
PW-FOREST & BEACH	CITY FORESTER		0.50	\$108.67	1	\$109
		TYPE SUBTOTAL	2.00	\$268.04		\$268
		TOTALS	2.00	\$268.00	)	\$268

SERVICE BUILDING TECHNOLOGY SURCHARGE		REFERENCE NO	D. S-060A		
	1				3-060A
PRIMARY DEPARTMENT	UNIT OF SERV	ICE		RECIPIENT	Quainaga
BUILDING	PERMIT		Develo	per/Resident/l	business
DESCRIPTION OF SERVICE					
Replacement of technology needed for Build	ding & Safety.				
CURRENT FEE STRUCTURE					
\$1.55 per permit					
REVE	NUE AND CO	ST COMPARISO	<u> </u>		
UNIT REVENUE:	\$1.55	TOTA	AL REVE	NUE:	\$2,790
UNIT COST:	\$7.89	To	OTAL CC	OST:	\$14,202
UNIT PROFIT (SUBSIDY):	\$(6.34)	TOTAL PROFI	IT (SUBS	IDY):	\$(11,412)
TOTAL UNITS:	1,800	PCT. COST	Γ RECOV	ERY:	19.65%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$8 per permit					

BUILDING TECHNOLOGY SURCHARGE  NOTE Unit Costs are an Average of Total Units			REFERENCE S-0 TOTAL UNIT	60A	00	
DEPARTMENT	<u>POSITION</u>	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING		IWORQ	0.00	\$5.56	1,800	\$10,008
BUILDING		Hardware Replacement	0.00	\$0.89	1,800	\$1,602
BUILDING		Bluebeam	0.00	\$1.44	1,800	\$2,592
		TYPE SUBTOTAL	0.00	\$7.89		\$14,202
		TOTALS	0.00	\$7.89	)	\$14,202

SERVICE NEW BENCH LOCATION	REFE	RENCE NO. S-061	
PRIMARY DEPARTMENT	UNIT OF SERVICE	SERVICE RECIP	PIENT
PUBLIC WORKS	APPLICATION	Resident/No	n-Resident
DESCRIPTION OF SERVICE	<u> </u>	 	
Processing a request for a new mem and plaque.	norial bench at a new loc	ation and construction and ir	stallation of the bench
\$1,060 per application plus the actual plus \$1,100 if a public hearing is req		plaque (plus 20% for future r	naintenance)
	REVENUE AND COST	COMPARISON	
UNIT REVENUE:	REVENUE AND COST	COMPARISON TOTAL REVENUE:	\$10.800
UNIT REVENUE: UNIT COST:	\$2,160.00 \$2,251.60		\$10,800 \$11,258

SUGGESTED FEE FOR COST RECOVERY OF: 100%

**TOTAL UNITS:** 

\$925 per application plus the actual cost of the bench and plaque (plus 20% for future maintenance) plus \$1,325 if a public hearing is required.

5

**PCT. COST RECOVERY:** 

95.93%

SERVICE NEW BENCH LOC	CATION			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are an	Average of Total Units					5
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
PW-FACILITIES MAINT.	BLDG MAINTENANCE SUPV.	+ Bench/Plaque Cost	2.00	\$274.08	5	\$1,370
PW-FOREST & BEACH	CITY FORESTER		3.00	\$651.99	5	\$3,260
		TYPE SUBTOTAL	5.00	\$926.07		\$4,630
PLANNING	ADMIN COORDINATOR	Public Hearing	1.58	\$136.88	5	\$684
PLANNING	ASSISTANT PLANNER	Public Hearing	5.25	\$548.52	5	\$2,743
PLANNING	PLAN & BLDG SVCS DIRECTOR	Public Hearing	1.92	\$371.33	5	\$1,857
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS	Public Hearing	1.00	\$268.74	5	\$1,344
		TYPE SUBTOTAL	9.75	\$1,325.47		\$6,627
		TOTALS	14.75	\$2,251.60		\$11,258

	REFERENCE NO. S-062		
SE	RVICE RECIPIENT		
R	Resident/Non-Resident		
installatio	on of the plaque, and construction		
	or future maintenance)		
	10/ fo		

REVENUE AND COST COMPARISON								
UNIT REVENUE:	\$477.50	TOTAL REVENUE:	\$2,865					
UNIT COST:	\$396.17	TOTAL COST:	\$2,377					
UNIT PROFIT (SUBSIDY):	\$81.33	TOTAL PROFIT (SUBSIDY):	\$488					
TOTAL UNITS:	6	PCT. COST RECOVERY:	120.53%					

SUGGESTED FEE FOR COST RECOVERY OF: 100%

\$300 per application plus the actual cost of the bench and plaque (plus 20% for future maintenance) plus \$580 if a public hearing is required.

SERVICE ADOPTION OF EXISTING BENCH				REFERENCE S-0		
NOTE				TOTAL UNIT		_
Unit Costs are an	Average of Total Units					6
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	PERMIT TECH		0.25	\$25.36	6	\$152
PW-FACILITIES MAINT.	BLDG MAINTENANCE SUPV.	+ Bench/Plaque Cost	2.00	\$274.08	6	\$1,644
		TYPE SUBTOTAL	2.25	\$299.44		\$1,797
PLANNING	ADMIN COORDINATOR	Public Hearing	0.42	\$36.38	1	\$36
PLANNING	ASSISTANT PLANNER	Public Hearing	2.17	\$226.72	1	\$227
PLANNING	PLAN & BLDG SVCS DIRECTOR	Public Hearing	0.25	\$48.35	1	\$48
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS	Public Hearing	1.00	\$268.74	1	\$269
		TYPE SUBTOTAL	3.84	\$580.19		\$580
		TOTALS	6.09	\$396.17	,	\$2,377

SERVICE  REDI ACEMENT OF RENCH DI ACHE				REFERENCE NO		
REPLACEMENT OF BENCH PLAQUE					S-063	
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVI	ICE RECIPIENT		
PUBLIC WORKS	APPLICATION	TION Resident/Non-Resident				
DESCRIPTION OF SERVICE	<u> </u>					
Processing a request for the replacement of	an existing m	emorial bench pla	aque p	olus installation of	new plaque.	
CURRENT FEE STRUCTURE						
\$390 per application plus the actual cost of t plus \$525 if a public hearing is required.	the bench and	plaque (plus 20%	6 for fu	uture maintenance	e)	
pius \$525 ii a public flearing is required.						
DEVE	NUE AND CO	et compa dico	\NI			
		ST COMPARISO	<u></u>			
UNIT REVENUE:	\$915.00	TOTA	AL REV	/ENUE:	\$915	
UNIT COST:	\$770.00	T	OTAL (	COST:	\$770	
UNIT PROFIT (SUBSIDY):	\$145.00	TOTAL PROF	IT (SUI	BSIDY):	\$145	
TOTAL UNITS:	1	PCT. COST	RECO	OVERY:	118.83%	
SUGGESTED FEE FOR COST RECOVERY OF: 100%						
\$390 per application plus the actual cost of t	he nlaque nlu	\$380 if a public	hearin	na is required		
\$ 000 per application plus the actual cost of t	no piaque pias	з фосо п а равпе	i cariii	ig is required.		

SERVICE REPLACEMENT (	OF BENCH PLAQUE			REFERENCE		
NOTE	Average of Total Units			TOTAL UNIT	S	1
Onit Costs are an	- Average of Total Offics					
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	PERMIT TECH		0.25	\$25.36	1	\$25
PW-FACILITIES MAINT.	BLDG MAINTENANCE SUPV.	+ Plaque Cost	1.00	\$137.04	1	\$137
PW-FOREST & BEACH	SENIOR MAINT WORKER		2.00	\$229.22	1	\$229
		TYPE SUBTOTAL	3.25	\$391.62		\$392
PLANNING	ADMIN COORDINATOR	Public Hearing	0.42	\$36.38	1	\$36
PLANNING	ASSISTANT PLANNER	Public Hearing	2.17	\$226.72	1	\$227
PLANNING	PLAN & BLDG SVCS DIRECTOR	Public Hearing	0.25	\$48.35	1	\$48
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS	Public Hearing	0.25	\$67.19	1	\$67
		TYPE SUBTOTAL	3.09	\$378.64		\$379
		TOTALS	6.34	\$770.00		\$770

SERVICE TEMPORARY ENCROACHMENT PERMIT			REFERENCE NO. S-069		
PRIMARY DEPARTMENT PUBLIC WORKS	UNIT OF SERVICE PERMIT		SERVICE RECIPIENT  Developer/Resident/Business		
DESCRIPTION OF SERVICE					

Review of a temporary encroachment in the public right-of-way, such as cranes, dumpsters, pods, or lane closures.

#### **CURRENT FEE STRUCTURE**

Crane/Oversized Vehicle - \$370 per permit Dumpster/Pod - \$150 per permit Other - \$150 per permit

REVENUE AND COST COMPARISON							
UNIT REVENUE:	\$150.00	TOTAL REVENUE:	\$9,300				
UNIT COST:	\$209.34	TOTAL COST:	\$12,979				
UNIT PROFIT (SUBSIDY):	\$(59.34)	TOTAL PROFIT (SUBSIDY):	\$(3,679)				
TOTAL UNITS:	62	PCT. COST RECOVERY:	71.65%				

SUGGESTED FEE FOR COST RECOVERY OF: 100%

\$210 per permit

SERVICE TEMPORARY ENGINOTE	CROACHMENT PE	RMIT		REFERENCE S-0 TOTAL UNIT	69	
Unit Costs are an	Average of Total U	nits			6	52
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	PERMIT TECH		0.50	\$50.73	62	\$3,145
PUBLIC WORKS ADMIN	ADMIN COORDINATOR	R	0.50	\$51.71	62	\$3,206
PW-STREETS	PW SUPERINTENDEN	Т	0.50	\$106.90	62	\$6,628
		TYPE SUBTOTAL	1.50	\$209.34		\$12,979
		TOTALS	1.50	\$209.34		\$12,979

SERVICE PERMANENT ENCROACHMENT PERMIT			REFERENCE NO. S-070
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	/ICE RECIPIENT
PUBLIC WORKS	PERMIT	Res	sident/Business

#### **DESCRIPTION OF SERVICE**

Review of a permanent encroachment in the public right-of-way, such as Utility street cuts, sidewalk, curb, gutter, driveway, R-O-W landscpaing, retaining walls, drainage, boring, and aerial powerpoles.

#### **CURRENT FEE STRUCTURE**

Curb/Gutter/Sidewalk - \$235 Right-of-way Excavation - \$370 per permit plus \$3.50 per lineal foot Permanent Encroachment - \$965 Newspaper Rack - \$130

REVENUE AND COST COMPARISON							
UNIT REVENUE:	\$370.33	TOTAL REVENUE:	\$4,444				
UNIT COST:	\$630.50	TOTAL COST:	\$7,566				
UNIT PROFIT (SUBSIDY):	\$(260.17)	TOTAL PROFIT (SUBSIDY):	\$(3,122)				
TOTAL UNITS:	12	PCT. COST RECOVERY:	58.74%				

SUGGESTED FEE FOR COST RECOVERY OF: 100%

Street Excavation - \$735 per permit plus \$4.25 per lineal foot Other - \$415 per permit plus \$4.25 per lineal foot

Plus cost of damage to public right-of-way or street as determined by the Public Works Director.

SERVICE PERMANENT E	NCROACHMENT PERMIT			REFERENCE S-0		
NOTE				TOTAL UNIT		
Unit Costs are	an Average of Total Units				1	12
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
BUILDING	PERMIT TECH	Street Excavation	2.00	\$202.90	4	\$812
PW-STREETS	PW SUPERINTENDENT	Add'l 25 Feet	0.50	\$106.90	4	\$428
PW-STREETS	PW SUPERINTENDENT	Street Excavation	2.50	\$534.48	4	\$2,138
		TYPE SUBTOTAL	5.00	\$844.28		\$3,377
BUILDING	PERMIT TECH	Other	2.00	\$202.90	8	\$1,623
PW-STREETS	PW SUPERINTENDENT	Add'l 25 Feet	0.50	\$106.90	8	\$855
PW-STREETS	PW SUPERINTENDENT	Other	1.00	\$213.79	8	\$1,710
		TYPE SUBTOTAL	3.50	\$523.59		\$4,189
		TOTALS	8.50	\$630.50	)	\$7,566

SERVICE	REFERENCE NO.					
TRAFFIC CONTROL PLAN REVIEW/INSI		S-070A				
PRIMARY DEPARTMENT	UNIT OF SERV	VICE SE	RVICE RECIPIENT			
PUBLIC WORKS	PLAN/PER	MIT D	Developer/Utility			
DESCRIPTION OF SERVICE						
Review of traffic control plans for right-of-wa	ay construction	n and inspection of tra	affic control devices.			
	,	·				
CURRENT FEE STRUCTURE						
None						
REVE	NUE AND CO	ST COMPARISON				
UNIT REVENUE:	\$0.00	TOTAL F	REVENUE:	\$0		
UNIT COST:	\$568.00	тоти	AL COST:	\$568		
UNIT PROFIT (SUBSIDY):	\$(568.00)	TOTAL PROFIT (		\$(568) ———		
TOTAL UNITS:	1	PCT. COST RE	ECOVERY:	0.00%		
SUGGESTED FEE FOR COST RECOVERY OF: 100%						
\$355 per review plus \$210 per each addition	nal review					

SERVICE TRAFFIC CONTRO	OL PLAN REVIEW/INSPEC	т		REFERENCE S-0 TOTAL UNIT	70A	
Unit Costs are an	Average of Total Units					1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS		0.25	\$67.19	1	\$67
PW-STREETS	PROJECT MANAGER		1.00	\$181.93	1	\$182
PW-STREETS	PW SUPERINTENDENT		0.50	\$106.90	1	\$107
		TYPE SUBTOTAL	1.75	\$356.02		\$356
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS	Add'l Review	0.25	\$67.19	1	\$67
PW-STREETS	PROJECT MANAGER	Add'l Review	0.50	\$90.97	1	\$91
PW-STREETS	PW SUPERINTENDENT	Add'l Review	0.25	\$53.45	1	\$53
		TYPE SUBTOTAL	1.00	\$211.61		\$212
		TOTALS	2.75	\$568.00	ı	\$568

SERVICE TREE DEMOVAL DEPART				REFEREN	
TREE REMOVAL PERMIT					S-072
PRIMARY DEPARTMENT	UNIT OF SER	VICE	SERVI	CE RECIPIENT	Г
PUBLIC WORKS	PERMIT		Deve	eloper/Resid	lent/Business
DESCRIPTION OF SERVICE	·				
Review of a request for the removal of a tro	ee larger than	4 inches in diamet	ter.		
CURRENT FEE CTRUCTURE					
CURRENT FEE STRUCTURE					
No Construction Removal - \$235 per perm Construction Removal - \$435 per permit	it				
Public Tree Removal - \$235 per tree					
REVI	ENUE AND CO	OST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$235.00	тота	AL REV	'ENUE:	\$25,380
UNIT COST:	\$1,167.90	T	OTAL	COST:	\$126,133
UNIT PROFIT (SUBSIDY):	\$(932.90)	TOTAL PROF	IT (SUI	- BSIDY):	\$(100,753)
				•	
TOTAL UNITS:	108	PCT. COST	TRECC	OVERY:	20.12%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	Ď	•			
\$1,170 per permit					

SERVICE TREE REMOVAL	PERMIT			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are ar	Average of Total Units				10	)8
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORKS		0.50	\$134.37	108	\$14,512
PW-STREETS	PW SUPERINTENDENT		0.50	\$106.90	108	\$11,545
PW-FOREST & BEACH	CITY FORESTER		4.00	\$869.32	108	\$93,887
PW-FOREST & BEACH	SENIOR MAINT WORKER		0.50	\$57.31	108	\$6,189
		TYPE SUBTOTAL	5.50	\$1,167.90		\$126,133
		TOTALS	5.50	\$1,167.90	)	\$126,133

SERVICE	REFERENCE NO.					
TREE PRUNING REQUEST			S-072A			
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE	SERV	SERVICE RECIPIENT		
PUBLIC WORKS	APPLICATI	ON	Dev	Developer/Resident/Business		
DESCRIPTION OF SERVICE						
Review of a request for the pruning of a tree larger than 4 inches in diameter.						
CURRENT FEE STRUCTURE						
\$235 per permit						
REVENUE AND COST COMPARISON						
UNIT REVENUE:	\$6.53	тот	AL RE	VENUE:	\$235	
UNIT COST:	\$598.86	Т	OTAL	COST:	\$21,559	
UNIT PROFIT (SUBSIDY):	\$(592.33)	TOTAL PROF	TIT (SU	JBSIDY):	\$(21,324)	
TOTAL UNITS:	36	PCT. COS	T REC	OVERY:	1.09%	
SUGGESTED FEE FOR COST RECOVERY OF: 100%						
\$600 per permit						
toos per permit						

SERVICE TREE PRUNING F	REQUEST			REFERENCE S-0 TOTAL UNIT	72 <b>A</b>	
Unit Costs are ar	Average of Total Units	3			3	86
<u>DEPARTMENT</u>	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PW-STREETS	PW SUPERINTENDENT		0.50	\$106.90	36	\$3,848
PW-FOREST & BEACH	CITY FORESTER		2.00	\$434.66	36	\$15,648
PW-FOREST & BEACH	SENIOR MAINT WORKER		0.50	\$57.31	36	\$2,063
		TYPE SUBTOTAL	3.00	\$598.87		\$21,559
		TOTALS	3.00	\$598.86	}	\$21,559

SERVICE TREE APPEAL TO FOREST & BEACH COMM			REFERENCE NO. S-072C			
PRIMARY DEPARTMENT	UNIT OF SERV	ICE SERV				
PUBLIC WORKS	APPEAL		SERVICE RECIPIENT  Developer/Resident/Business			
1 OBEIO WOTAKO	71112712		Siopen Resident Business			
DESCRIPTION OF SERVICE						
Appeal of tree-related decision to the Forest & Beach Committee.						
CURRENT FEE STRUCTURE						
\$1,375 per appeal						
REVENUE AND COST COMPARISON						
UNIT REVENUE:	\$114.58	TOTAL RE\	/ENUE: \$1,375			
UNIT COST:	\$2,317.00	TOTAL	COST: \$27,804			
_	_					
UNIT PROFIT (SUBSIDY):	\$(2,202.42)	TOTAL PROFIT (SU	BSIDY): \$(26,429)			
TOTAL UNITS:	12	PCT. COST REC	OVERY: 4.95%			
SUGGESTED FEE FOR COST RECOVERY OF	: 100%					
\$2,315 per appeal plus actual outsid	e costs					

	O FOREST & BEACH CO	мм			72C	
NOTE				TOTAL UNIT		
Unit Costs are ar	n Average of Total Units				1	2
DEPARTMENT	POSITION	TYPE	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
PUBLIC WORKS ADMIN	ADMIN COORDINATOR		2.00	\$206.82	12	\$2,482
PUBLIC WORKS ADMIN	DIRECTOR OF PUBLIC WORK	<b>(S</b>	3.00	\$806.22	12	\$9,675
PW-FOREST & BEACH	CITY FORESTER		6.00	\$1,303.98	12	\$15,648
		TYPE SUBTOTAL	11.00	\$2,317.02		\$27,804
		TOTALS	11.00	\$2,317.00	1	\$27,804

SERVICE			REFERENCE NO.
TREE APPEAL TO CITY COUNCIL			S-072D
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	VICE RECIPIENT
PUBLIC WORKS	APPEAL	De	veloper/Resident/Business
DESCRIPTION OF SERVICE	!	'	
Appeal of a tree-related decision to the City	Council.		
CURRENT FEE STRUCTURE			
\$1,375 per appeal			
ψ1,010 por appoar			
REVE	NUE AND COST CO	MPARISON	
UNIT REVENUE:	\$1,375.00	TOTAL RE	EVENUE: \$1,375
UNIT COST:	\$2,048.00	TOTAL	_ COST: \$2,048
UNIT PROFIT (SUBSIDY):	\$(673.00) TO	TAL PROFIT (S	UBSIDY): \$(673)
TOTAL UNITS:	1	PCT. COST REC	COVERY: 67.14%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	I		
\$2,050 per appeal plus actual outside cost			

SERVICE TREE APPEAL 1	O CITY COUNCIL			REFERENCE S-0	E NO. <b>72D</b>	
NOTE				TOTAL UNIT	S	
Unit Costs are a	n Average of Total Units					1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PUBLIC WORKS ADMII	N ADMIN COORDINATOR		1.00	\$103.41	1	\$103
PUBLIC WORKS ADMII	N DIRECTOR OF PUBLIC WORK	<b>KS</b>	4.00	\$1,074.96	1	\$1,075
PW-FOREST & BEACH	CITY FORESTER		4.00	\$869.32	1	\$869
		TYPE SUBTOTAL	9.00	\$2,047.69		\$2,048
		TOTALS	9.00	\$2,048.00	)	\$2,048

SERVICE			REFERENCE N	10.
PRIVATE TREE FALL IN PUBLIC R-O-W				S-073
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVICE RECIPIENT	
PUBLIC WORKS	TREE		Resdient/Business	
DESCRIPTION OF SERVICE		I		
Removal of a fallen private tree in the public	right of way			
Removal of a fallen private tree in the public	, fight-of-way.			
CURRENT FEE STRUCTURE				
Charge the fully allocated hourly rate for all	personnel invo	lved plus any outs	side costs	
REVE	NUE AND CO	ST COMPARISON	<u> </u>	
UNIT REVENUE:	\$0.00	TOTAL	REVENUE:	\$0
UNIT COST:	\$229.00	то	TAL COST:	\$229
UNIT PROFIT (SUBSIDY):	\$(229.00)	TOTAL PROFIT	(SUBSIDY):	\$(229) 
TOTAL UNITS:	1	PCT. COST	RECOVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
Charge the fully allocated hourly rate for all	personnel invo	lved plus any outs	ide costs	

SERVICE PRIVATE TREE F	ALL IN PUBLIC R-O-W			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are ar	n Average of Total Units					1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PW-FOREST & BEACH	SENIOR MAINT WORKER		2.00	\$229.22	1	\$229
		TYPE SUBTOTAL	2.00	\$229.22		\$229
		TOTALS	2.00	\$229.00	)	\$229

SERVICE			REFERENCE NO.	
DAMAGE TO CITY PROPERTY			S	-074
PRIMARY DEPARTMENT	UNIT OF SERVICE	E S	ERVICE RECIPIENT	
PUBLIC WORKS	OCCURREN	CE I	Resident/Non-Resident	
DESCRIPTION OF SERVICE		l		
Repair of damage to City property.				
CURRENT FEE STRUCTURE				
Charge the fully allocated hourly rate for all p	personnel involv	ed plus any outsi	de costs.	
		T COMPARISON		
UNIT REVENUE:	\$0.00	TOTAL	REVENUE:	\$0
UNIT COST:	\$0.00	тот	AL COST:	\$0
UNIT PROFIT (SUBSIDY):	\$0.00	TOTAL PROFIT	(SUBSIDY):	\$0
TOTAL UNITS:	1	PCT. COST R	ECOVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	l .			
Charge the fully allocated hourly rate for all p	personnel involv	ed plus anv outsid	de costs.	
· ·		,		

SERVICE  DAMAGE TO C	ITY PROPERTY			REFERENCE S-0		
NOTE				TOTAL UNIT	·s	
Unit Costs are	an Average of Total Units					1
<u>DEPARTMENT</u>	<u>POSITION</u>	<u>TYPE</u>	UNIT TIME	<b>UNIT COST</b>	ANN. UNITS	TOTAL COST
PW-STREETS	MAINTENANCE WORKER	Actual Costs	0.00	\$0.00	1	\$0
		TYPE SUBTOTAL	0.00	\$0.00		\$0
		TOTALS	0.00	\$0.00	)	\$0

SERVICE				REFERENCE N	NO.
LOUD PARTY PUBLIC DISTURBANCE	E RESP.				S-075
PRIMARY DEPARTMENT	UNIT OF SER	VICE	SERVI	ICE RECIPIENT	
POLICE	RESPONS	Ε	Resi	ident/Business	
DESCRIPTION OF SERVICE	ļ .	'			
Response to a public disturbance, such a	is a loud party.				
CURRENT FEE STRUCTURE					
CORRENT FEE STRUCTURE					
Ist Response - No Charge 2nd Response the same day - \$165 per r	rooponoo				
3rd Response within a calendar year - \$4		e			
<u>RE</u>	VENUE AND CO	OST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$0.00	ТОТА	L REV	/ENUE:	\$0
UNIT COST:	\$109.80	то	OTAL (	COST:	\$12,078
UNIT PROFIT (SUBSIDY):	\$(109.80)	TOTAL PROFI	T (SUI	BSIDY):	\$(12,078)
TOTAL UNITS:	110	PCT. COST	RECO	OVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100	1%				
Ist Response - No Charge					
2nd Response the same day - \$200 per r 3rd Response within a calendar year - \$5		<u> </u>			
The respondent mains a calonidar year - wo	22 poi 100poi100	•			

SERVICE LOUD PARTY F	PUBLIC DISTURBANCE	RESP.		REFERENCE S-0		
NOTE				TOTAL UNIT		
Unit Costs are	an Average of Total Unit	S 			11	0
<u>DEPARTMENT</u>	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE OFFICER	1st Resp-20 M/E Of 2	0.67	\$100.77	100	\$10,077
		TYPE SUBTOTAL	0.67	\$100.77		\$10,077
POLICE	POLICE OFFICER	2nd Resp-40 M/E Of 2	1.33	\$200.05	10	\$2,001
		TYPE SUBTOTAL	1.33	\$200.05		\$2,001
		TOTALS	2.00	\$109.80	)	\$12,078

POLICE FALSE ALARM RESPONSE			REFERENCE NO. S-076
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER\	/ICE RECIPIENT
POLICE	RESPONSE	Res	sident/Business
DESCRIPTION OF SERVICE			
Response to a false burglary alarm due to m	nalfunction or operator error.		

#### **CURRENT FEE STRUCTURE**

1st Activation - \$60 2nd Activation - \$110 Each Subsequent Activation in a calendar year - \$160

REVENUE AND COST COMPARISON							
UNIT REVENUE:	\$16.33	TOTAL REVENUE:	\$4,490				
UNIT COST:	\$100.77	TOTAL COST:	\$27,712				
UNIT PROFIT (SUBSIDY):	\$(84.44)	TOTAL PROFIT (SUBSIDY):	\$(23,222)				
TOTAL UNITS:	275	PCT. COST RECOVERY:	16.20%				

SUGGESTED FEE FOR COST RECOVERY OF: 100%

1st Activation - \$100 2nd Activation - \$120 Each Subsequent Activation in a calendar year - \$180

SERVICE POLICE FALSE	E ALARM RESPONSE			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Units	3			27	<b>'</b> 5
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE OFFICER	20 M/E Of 2	0.67	\$100.77	275	\$27,712
		TYPE SUBTOTAL	0.67	\$100.77		\$27,712
		TOTALS	0.67	\$100.77	,	\$27,712

SERVICE			REFERENCE N	
ALARM PERMIT				S-077
PRIMARY DEPARTMENT	UNIT OF SERV	ICE SE	RVICE RECIPIENT	
POLICE	PERMIT	F	tesident/Business	
DESCRIPTION OF SERVICE		I		
Processing the contact information for a burn	glary alarm wit	thin the City.		
OURDENT FEE OTRUGTURE				
CURRENT FEE STRUCTURE				
New - \$40 per permit Renewal - \$25 per permit				
·				
REVE	NUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$29.29		REVENUE:	\$4,100
UNIT COST:	\$28.27	101	AL COST:	\$3,958 
UNIT PROFIT (SUBSIDY):	\$1.02	TOTAL PROFIT (	SUBSIDY):	\$142 
TOTAL UNITS:	140	PCT. COST R	ECOVERY:	103.59%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	<u>'</u>			
New - \$35 per permit Renewal - \$25 per permit				

SERVICE ALARM PERMI  NOTE Unit Costs are	<b>T</b> an Average of Total Units			REFERENCE S-0 TOTAL UNIT	77	10
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST		TOTAL COST
POLICE	POLICE SERVICES OFFICER	New	0.33	\$34.19	40	\$1,368
		TYPE SUBTOTAL	0.33	\$34.19		\$1,368
POLICE	POLICE SERVICES OFFICER	Renewal	0.25	\$25.90	100	\$2,590
		TYPE SUBTOTAL	0.25	\$25.90		\$2,590
		TOTALS	0.58	\$28.27	,	\$3,958

SERVICE VEHICLE IMPOUND RELEASE		REFERENCE NO	). S-078		
	SED)//	ICE DECIDIENT	3-070		
PRIMARY DEPARTMENT POLICE	VEHICLE	ICE		ICE RECIPIENT ident/Non-Reside	nt
- GEIGE	VEITIOLE		11001	- Toolac	
DESCRIPTION OF SERVICE					
Impound and a release of a vehicle.					
CURRENT FEE CTRUCTURE					
CURRENT FEE STRUCTURE					
\$125 per vehicle					
REVE	NUE AND CO	ST COMPARISO	<u>NC</u>		
UNIT REVENUE:	\$125.00	тот	AL REV	/ENUE:	\$15,625
UNIT COST:	\$138.71	T	TOTAL (	COST:	\$17,339
UNIT PROFIT (SUBSIDY):	\$(13.71)	TOTAL PROF	TIT (SUI	BSIDY):	\$(1,714)
TOTAL UNITS:	125	PCT. COS	T RECO	OVERY:	90.11%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$140 per vehicle					
WITTO POLIVOLINIC					

SERVICE VEHICLE IMPO	UND RELEASE			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units				12	25
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE OFFICER		0.75	\$112.81	125	\$14,101
POLICE	POLICE SERVICES OFFICER		0.25	\$25.90	125	\$3,238
		TYPE SUBTOTAL	1.00	\$138.71		\$17,339
		TOTALS	1.00	\$138.71	I	\$17,339

SERVICE MISDEMEANOR BOOKING	REFERENCE	NO. S-079				
			SERVICE RECIPIENT			
PRIMARY DEPARTMENT POLICE	BOOKING	ICE	Resident/Non-Resident	ident		
I OLICE	BOOKING		Nesident/Non-Nesi	luent		
DESCRIPTION OF SERVICE						
Processing a court-ordered misdemeanor be	ooking for non-	-Carmel bookings				
CURRENT FEE STRUCTURE						
Non-Carmel bookings - \$140 per booking						
REVE	NUE AND CO	ST COMPARISO	<u>N</u>			
UNIT REVENUE:	\$140.00	TOTA	L REVENUE:	\$1,680		
UNIT COST:	\$150.42	то	OTAL COST:	\$1,805		
UNIT PROFIT (SUBSIDY):	\$(10.42)	TOTAL PROFI	T (SUBSIDY):	\$(125)		
TOTAL UNITS:	12	PCT. COST	RECOVERY:	93.07%		
SUGGESTED FEE FOR COST RECOVERY OF: 100%						
Non-Carmel bookings - \$150 per booking						

SERVICE MISDEMEANOI	R BOOKING			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Units	3			1	2
DEPARTMENT	POSITION	ТҮРЕ	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE OFFICER		1.00	\$150.41	12	\$1,805
		TYPE SUBTOTAL	1.00	\$150.41		\$1,805
		TOTALS	1.00	\$150.42	!	\$1,805

SERVICE	REFERENCE NO			
MISCELLANEOUS POLICE PERMIT	T			S-080
PRIMARY DEPARTMENT	UNIT OF SERV		ERVICE RECIPIENT	
POLICE	APPLICATI	ON I	Business	
DESCRIPTION OF SERVICE		'		
Review of a business operation which requi	res a backgrou	ınd check.		
CURRENT FEE STRUCTURE				
\$170 per application plus DOJ fees				
REVE	NUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$170.00	TOTAL	REVENUE:	\$170
UNIT COST:	\$185.00	тот	TAL COST:	\$185
UNIT PROFIT (SUBSIDY):	\$(15.00)	TOTAL PROFIT	(SUBSIDY):	\$(15)
TOTAL UNITS:	1	PCT. COST R	RECOVERY:	91.89%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$185 per application plus DOJ fees				

SERVICE MISCELLANEO	US POLICE PERMIT			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE OFFICER		1.00	\$150.41	1	\$150
POLICE	POLICE SERVICES OFFICER		0.33	\$34.19	1	\$34
		TYPE SUBTOTAL	1.33	\$184.60		\$185
		TOTALS	1.33	\$185.00	ı	\$185

SERVICE FINGERPRINTING ON REQUEST				REFERENCE NO.	-081
PRIMARY DEPARTMENT	UNIT OF SERV	/ICF	SFRV	/ICE RECIPIENT	
POLICE	PRINT	102		sident/Non-Resident	
DESCRIPTION OF SERVICE					
Processing a request for fingerprinting.					
CURRENT FEE STRUCTURE					
\$40 plus outside agency fees					
<u>REVEN</u>	NUE AND CO	ST COMPARISO	<u> N</u>		
UNIT REVENUE:	\$40.00	тоти	AL RE	VENUE:	\$4,000
UNIT COST:	\$34.19	т	OTAL	COST:	\$3,419
UNIT PROFIT (SUBSIDY):	\$5.81	TOTAL PROF	IT (SU	IBSIDY):	\$581
TOTAL UNITS:	100	PCT. COS	T REC	OVERY:	116.99%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$35 plus outside agency fees					

SERVICE FINGERPRINTING ON REQUEST			REFERENCE S-0			
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Units				10	00
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE SERVICES OFFICER		0.33	\$34.19	100	\$3,419
		TYPE SUBTOTAL	0.33	\$34.19		\$3,419
		TOTALS	0.33	\$34.19	)	\$3,419

SERVICE			REFERENCE NO	).
CLEARANCE FORM TRAVEL LETTER				S-082
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVICE RECIPIENT	
POLICE	APPLICATI	ON	Resident/Non-Reside	ent
DESCRIPTION OF SERVICE				
Processing a request for a local background	I check and cle	earance letter.		
The second of th				
CURRENT FEE STRUCTURE				
\$50 per letter				
400 per letter				
REVE	NUE AND CO	ST COMPARISO	<u>N</u>	
UNIT REVENUE:	\$50.00	TOTA	L REVENUE:	\$600
UNIT COST:	\$51.83	тс	OTAL COST:	\$622
UNIT PROFIT (SUBSIDY):	\$(1.83) ———	TOTAL PROFI	r (SUBSIDY):	<b>\$(22)</b>
TOTAL UNITS:	12	PCT. COST	RECOVERY:	96.46%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$50 per letter				

SERVICE CLEARANCE F	ORM TRAVEL LETTER			REFERENCE S-0		
NOTE				TOTAL UNIT	s	
Unit Costs are	an Average of Total Units				1	12
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE SERVICES OFFICER		0.50	\$51.80	12	\$622
		TYPE SUBTOTAL	0.50	\$51.80		\$622
		TOTALS	0.50	\$51.83	3	\$622

SERVICE			REFERENCE NO.	
VIN VERIFICATION	_			S-083
PRIMARY DEPARTMENT	UNIT OF SERV	ICE SEI	RVICE RECIPIENT	
POLICE	VEHICLE	R	esident/Non-Residen	t
DESCRIPTION OF SERVICE		I		
Verification of the vehicle identification numl	ber of a vehicle	e on request.		
		·		
CURRENT FEE STRUCTURE				
\$50 per vehicle				
REVE	NUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$50.00	TOTAL R	REVENUE:	\$300
UNIT COST:	\$49.67	TOTA	AL COST:	\$298
		TOTAL PROFIT (		
UNIT PROFIT (SUBSIDY):	\$0.33 ———	TOTAL PROFIT (S		<b>\$2</b>
TOTAL UNITS:	6	PCT. COST RE	COVERY:	100.67%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$50 per vehicle				

SERVICE VIN VERIFICAT	TION			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units	3				6
<u>DEPARTMENT</u>	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE OFFICER		0.33	\$49.64	6	\$298
		TYPE SUBTOTAL	0.33	\$49.64		\$298
		TOTALS	0.33	\$49.67	,	\$298

SERVICE			REFERENCE NO.	
CITATION SIGN-OFF				S-084
PRIMARY DEPARTMENT	UNIT OF SERV	ICE SERV	ICE RECIPIENT	
POLICE	CITATION	Res	ident/Non-Resider	nt
DESCRIPTION OF SERVICE		<u> </u>		
Sign-off of mechanical non-compliance c	itations issued ou	tside the jurisdiction.		
		,		
CURRENT FEE STRUCTURE				
Non-Carmel citations - \$25 per citation				
<u>RE</u>	VENUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$25.00	TOTAL REV	VENUE:	\$2,500
UNIT COST:	\$25.57	TOTAL	COST:	\$2,557
UNIT PROFIT (SUBSIDY):	<b>\$</b> (0.57)	TOTAL PROFIT (SU		<b>\$(57)</b>
UNIT PROFIT (SUBSIDIT).	φ(0.57)	TOTAL PROFIT (30	——————————————————————————————————————	<del>φ(5/)</del>
TOTAL UNITS:	100	PCT. COST REC	OVERY:	97.77%
SUGGESTED FEE FOR COST RECOVERY OF: 100	<u> </u> 0%			
Non-Carmel citations - \$25 per citation				

SERVICE CITATION SIGN	N-OFF			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units	3			10	00
<u>DEPARTMENT</u>	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE OFFICER		0.17	\$25.57	100	\$2,557
		TYPE SUBTOTAL	0.17	\$25.57		\$2,557
		TOTALS	0.17	\$25.57	,	\$2,557

SERVICE			REFERENCE NO.		
ANIMAL IMPOUND			S-085		
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	ERVICE RECIPIENT		
POLICE	IMPOUND	Re	Resident/Non-Resident		
		I			

#### **DESCRIPTION OF SERVICE**

Impound and release of a stray animal to its owner.

#### **CURRENT FEE STRUCTURE**

Within a calendar year: 1st impound - \$90 2nd impound - \$110 3rd and subsequent impounds - \$130

REVENUE AND COST COMPARISON								
UNIT REVENUE:	\$65.71	TOTAL REVENUE:	\$2,300					
UNIT COST:	\$101.31	TOTAL COST:	\$3,546					
UNIT PROFIT (SUBSIDY):	\$(35.60)	TOTAL PROFIT (SUBSIDY):	\$(1,246)					
TOTAL UNITS:	35	PCT. COST RECOVERY:	64.86%					

SUGGESTED FEE FOR COST RECOVERY OF: 100%

Within a calendar year: 1st impound - \$100 2nd impound - \$120 3rd and subsequent impounds - \$140

SERVICE ANIMAL IMPOL	IND			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total I	Jnits			3	55
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	COMM SVCS/ANIMAL	CONTROL	1.00	\$101.32	35	\$3,546
		TYPE SUBTOTAL	1.00	\$101.32		\$3,546
		TOTALS	1.00	\$101.31		\$3,546

SERVICE				REFERENCE NO.	
ANIMAL TRANSPORT				S	-086
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERV	ICE RECIPIENT	
POLICE	TRANSPOR	RT	Res	sident/Non-Resident	
DESCRIPTION OF SERVICE	!				
Transport of an impounded animal on reque	st.				
CURRENT FEE STRUCTURE					
Local Transport - \$25 per transport To County Animal Shelter - \$90 per transport	rt				
DEVE	NUE AND CO	ST COMPARISO	) N		
UNIT REVENUE:	\$25.00	тот	AL RE	VENUE:	\$300
UNIT COST:	\$25.33	7	TOTAL	COST:	\$304
UNIT PROFIT (SUBSIDY):	\$(0.33)	TOTAL PROF	FIT (SU	JBSIDY):	\$(4)
TOTAL UNITS:	12	PCT. COS	T REC	OVERY:	98.68%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
Local Transport - \$25 per transport					
To County Animal Shelter - \$90 per transpor	t				

SERVICE ANIMAL TRANS	SPORT			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total U	Jnits			1	12
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	COMM SVCS/ANIMAL	CONTROL	0.25	\$25.33	12	\$304
		TYPE SUBTOTAL	0.25	\$25.33		\$304
		TOTALS	0.25	\$25.33	3	\$304

SERVICE SIGN ABATEMENT				REFERENCE NO.	 9 <b>7</b>
	T				
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE		E RECIPIENT	
POLICE	SIGN		Busin	ess	
DESCRIPTION OF SERVICE	•				
Removal and storage of illegal signs in the p	oublic right-of-	way.			
CURRENT FEE STRUCTURE					
\$25 per sign					
REVE	NUE AND CO	ST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$0.00	TOTA	L REVE	:NUE:	\$0
UNIT COST:	\$25.56	то	OTAL C	OST:	\$639
UNIT PROFIT (SUBSIDY):	<b>\$(25.56)</b>	TOTAL PROFI	T (SUB	SIDY):	<b>\$(639)</b>
	Ψ(20.00)	TOTALTROTT	11 (000		<del></del>
TOTAL UNITS:	25	PCT. COST	RECO	VERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$25 per sign					

SERVICE SIGN ABATEM	ENT			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Units	3			2	25
DEPARTMENT	POSITION	ТҮРЕ	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE OFFICER	Per Sign	0.17	\$25.57	25	\$639
		TYPE SUBTOTAL	0.17	\$25.57		\$639
		TOTALS	0.17	\$25.56	;	\$639

SERVICE RESIDENT/EMPLOYEE PARKING PERM	REFERENCE	NO. S-088		
PRIMARY DEPARTMENT	UNIT OF SERVI	CE SI	RVICE RECIPIENT	
POLICE	PERMIT		Resident	
1 62162			tooldon:	
DESCRIPTION OF SERVICE				
Processing a request for a residential or em	ployee parking	permit.		
CURRENT FEE STRUCTURE				
\$25 per permit				
Misuse of Residential Permit - \$110				
REVE	NUE AND COS	ST COMPARISON		
UNIT REVENUE:	\$25.00		REVENUE:	\$13,750
UNIT COST:	\$27.61	тот	AL COST:	\$15,186
UNIT PROFIT (SUBSIDY):	<b>\$(2.61)</b>	TOTAL PROFIT	(SUBSIDY):	<b>\$(1,436)</b>
TOTAL UNITS:	550	PCT. COST R	ECOVERY:	90.54%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$28 per permit				
Misuse of Residential Permit - \$110				

SERVICE RESIDENT/EMPLOYEE PARKING PERMIT				REFERENCE NO. S-088		
NOTE				TOTAL UNIT	S	
Unit Costs are an Average of Total Units				550		
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE SERVICES OFFIC	ER	0.17	\$17.61	550	\$9,686
POLICE		Permit Cost	0.00	\$10.00	550	\$5,500
		TYPE SUBTOTAL	0.17	\$27.61		\$15,186
		TOTALS	0.17	\$27.61		\$15,186

SERVICE POLICE COUR	T WITNESS			REFERENCE S-0		
NOTE				TOTAL UNIT	s	
Unit Costs are	an Average of Total Units	3			1	2
DEPARTMENT	POSITION	ТҮРЕ	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE OFFICER		8.00	\$1,203.15	12	\$14,438
		TYPE SUBTOTAL	8.00	\$1,203.15		\$14,438
		TOTALS	8.00	\$1,203.17	,	\$14,438

SERVICE				REFERENCE NO.	
POLICE REPORT COPY				S	-090
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERV	ICE RECIPIENT	
POLICE	REPORT		Res	ident/Non-Resident	
DESCRIPTION OF SERVICE					
Providing copies of police reports on reques	t.				
CURRENT FEE STRUCTURE					
1st 10 pages - No Charge					
Each additional page - \$0.20					
REVE	NUE AND CO	ST COMPARISO	<u>N</u>		
UNIT REVENUE:	\$0.00	тота	AL REV	VENUE:	\$0
UNIT COST:	\$1.04	т	OTAL	COST:	\$364
UNIT PROFIT (SUBSIDY):	\$(1.04)	TOTAL PROF	IT (SU	BSIDY):	\$(364)
	<del></del>				
TOTAL UNITS:	350	PCT. COST	T REC	OVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	L				
1st 10 pages - No Charge					
Each additional page - \$0.20					

SERVICE POLICE REPOR	RT СОРY			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units				35	50
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE SERVICES OFFICER		0.01	\$1.04	350	\$364
		TYPE SUBTOTAL	0.01	\$1.04		\$364
		TOTALS	0.01	\$1.04	ļ	\$364

SERVICE				REFERENCE NO.	
POLICE PHOTOGRAPH COPY	S	-091			
PRIMARY DEPARTMENT	UNIT OF SERV	VICE	SERV	ICE RECIPIENT	
POLICE	PHOTO/DI	SK	Res	ident/Non-Resident	
DESCRIPTION OF SERVICE	!	<u>'</u>			
Providing copies of police photographs on r	equest.				
CURRENT FEE STRUCTURE					
Standard reproduction - \$0.10 per page Documents from microfilm - \$0.20 per page					
Oversize/special processing - Actual costs					
REVE	NUE AND CO	ST COMPARISO	<u> </u>		
UNIT REVENUE:	\$1.00	тот	AL RE	VENUE:	\$25
UNIT COST:	\$3.12	т	OTAL	COST:	\$78
UNIT PROFIT (SUBSIDY):	\$(2.12)	TOTAL PROF	TT (SU	BSIDY):	\$(53)
TOTAL UNITS:	25	PCT. COS	T REC	OVERY:	32.05%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
photo - \$5 per photo					
digital - \$5 per disk					

SERVICE POLICE PHOTOGRAPH COPY				REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units				2	25
DEPARTMENT	POSITION	<u>TYPE</u>	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE SERVICES OFFICER	Photo Or Disk	0.03	\$3.11	25	\$78
		TYPE SUBTOTAL	0.03	\$3.11		\$78
		TOTALS	0.03	\$3.12	2	\$78

SERVICE  AMBULANCE TRANSPORT SERVICES	REFERENCE N	o. S-091A				
PRIMARY DEPARTMENT	SERVI	CE RECIPIENT				
AMBULANCE	N/A	Resident/Non-Resident				
DESCRIPTION OF SERVICE	1	I				
Providing emergency medical transport to the	ne community.					
CURRENT FEE STRUCTURE						
Various resident and non-resident fees						
REVE	NUE AND CO	ST COMPARISO	<u>N</u>			
UNIT REVENUE: \$	561,150.00	TOTA	AL REV	ENUE:	\$561,150	
UNIT COST: \$1,	902,263.00	T	OTAL (	COST:	\$1,902,263	
UNIT PROFIT (SUBSIDY): \$(1,3	341,113.00)	TOTAL PROF	IT (SUI	BSIDY):	\$(1,341,113)	
TOTAL UNITS:	1	PCT. COST	reco	OVERY:	29.50%	
SUGGESTED FEE FOR COST RECOVERY OF: 100%						
Charge the current Monterey County ambula	ance transport	fees				
Charge the carrent memorey estanty amban	arioo trarioport	1000				

SERVICE AMBULANCE T	RANSPORT SERVICES			REFERENCE S-0	≣ NO. <b>91A</b>	
NOTE				TOTAL UNIT	s	
Unit Costs are a	an Average of Total Units					1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
AMBULANCE	OVERTIME	\$220,000	6,000.00	\$376,080.00	1	\$376,080
AMBULANCE	PAID CALL FIRE FIGHTERS	\$20,000	400.00	\$35,644.00	1	\$35,644
AMBULANCE	PARAMEDIC/FIREFIGHTER	100% Of 6	13,872.00	\$1,200,482.88	1	\$1,200,483
AMBULANCE		Contract Services	0.00	\$246,100.00	1	\$246,100
AMBULANCE		Medical Supplies	0.00	\$39,150.00	1	\$39,150
NON-DEPARTMENTAI	L	Utilities	0.00	\$4,806.48	1	\$4,806
		TYPE SUBTOTAL	20,272.00	\$1,902,263.36		\$1,902,263
		TOTALS	20,272.00	\$1,902,263.00	)	\$1,902,263

SERVICE BEACH SPECIAL EVENT PERMIT	REFERENCE NO. S-092		
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	VICE RECIPIENT
COMMUNITY SERVICES	RENTAL	Resdent/Non-Resident	

#### **DESCRIPTION OF SERVICE**

Review of a private special event on the public beach.

#### **CURRENT FEE STRUCTURE**

Processing:

Non-Profit/School - \$180 per rental

Other - \$735 per permit

Rental:

Non-Profit/School - \$250 per rental plus \$500 refundable damage deposit

Other - \$500 per rental plus \$500 refundable damage deposit

Sound Permit:

Non-Profit/School - \$10 per permit

Other - \$25 per permit

REVENUE AND COST COMPARISON							
UNIT REVENUE:	\$735.00	TOTAL REVENUE:	\$11,025				
UNIT COST:	\$617.40	TOTAL COST:	\$9,261				
UNIT PROFIT (SUBSIDY):	\$117.60	TOTAL PROFIT (SUBSIDY):	\$1,764				
TOTAL UNITS:	15	PCT. COST RECOVERY:	119.05%				

SUGGESTED FEE FOR COST RECOVERY OF: 100%

Processing:

Non-Profit/School - \$180 per rental

Other - \$620 per permit

Rental:

Non-Profit/School - \$250 per rental plus \$500 refundable damage deposit

Other - \$500 per rental plus \$500 refundable damage deposit

Sound Permit:

Non-Profit/School - \$10 per permit

Other - \$25 per permit

SERVICE BEACH SPECIA	AL EVENT PERMIT			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Ur	its			1	5
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
COMMUNITY SERVIC	COMMUNITY SERVICES COMM. SERVICES ASST. 6.00			\$617.40	15	\$9,261
		TYPE SUBTOTAL	6.00	\$617.40		\$9,261
		TOTALS	6.00	\$617.40	)	\$9,261

SERVICE SPECIAL EVENT PERMIT	REFERENCE NO. S-094		
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	VICE RECIPIENT
COMMUNITY SERVICES	EVENT	Resdient/Non-Resident	

#### **DESCRIPTION OF SERVICE**

Review of a private special event in a City park or the public right-of-way.

#### **CURRENT FEE STRUCTURE**

Processing:

Non-Profit/School - \$180 per rental

Other - \$735 per permit

Rental:

Non-Profit/School - \$250 per rental plus \$500 refundable damage deposit

Other - \$500 per rental plus \$500 refundable damage deposit

With Alcohol:

Non-Profit/School - \$45 per permit Other - \$180 per permit

Sound Permit:

Non-Profit/School - \$10 per permit Other - \$25 per permit

REVENUE AND COST COMPARISON							
UNIT REVENUE:	\$735.00	TOTAL REVENUE:	\$6,615				
UNIT COST:	\$617.44	TOTAL COST:	\$5,557				
UNIT PROFIT (SUBSIDY):	\$117.56	TOTAL PROFIT (SUBSIDY):	\$1,058				
TOTAL UNITS:	9	PCT. COST RECOVERY:	119.04%				

### SUGGESTED FEE FOR COST RECOVERY OF: 100%

Processing:

Non-Profit/School - \$180 per rental

Other - \$620 per permit

Rental:

Non-Profit/School - \$250 per rental plus \$500 refundable damage deposit

Other - \$500 per rental plus \$500 refundable damage deposit

With Alcohol:

Non-Profit/School - \$45 per permit Other - \$180 per permit

Sound Permit:

Non-Profit/School - \$10 per permit Other - \$25 per permit

SERVICE SPECIAL EVEN	T PERMIT			REFERENCE S-0		
NOTE				TOTAL UNIT	s	
Unit Costs are	an Average of Total Un	iits				9
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
COMMUNITY SERVIC	ES COMM. SERVICES ASS	т.	6.00	\$617.40	9	\$5,557
		TYPE SUBTOTAL	6.00	\$617.40		\$5,557
		TOTALS	6.00	\$617.44	ļ	\$5,557

SERVICE SPECIAL EVENT OVERTIME SERVICES			REFERENCE NO. S-095
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	/ICE RECIPIENT
COMMUNITY SERVICES	EVENT	Res	sident/Non-Resident

#### **DESCRIPTION OF SERVICE**

Providing overtime staffing services for private events in the public right-of-way.

#### **CURRENT FEE STRUCTURE**

Overtime Staff time:

Non-Profit/School - Charge 25% of the fully allocated hourly rates for all personnel involved Other - Charge 100% of the fully allocated hourly rates for all personnel involved

Barricade Rental - \$1,000 Resident Block Party - No Charge

Parking Stall Rental:

Non-Profit/School - \$180 per permit plus \$100 per stall/day

Other - \$735 per permit plus \$100 per stall/day (Peak Demand Rental - \$200 per stall/day)

REVENUE AND COST COMPARISON							
UNIT REVENUE:	\$560.00	TOTAL REVENUE:	\$2,800				
UNIT COST:	\$290.20	TOTAL COST:	\$1,451				
UNIT PROFIT (SUBSIDY):	\$269.80	TOTAL PROFIT (SUBSIDY):	\$1,349				
TOTAL UNITS:	5	PCT. COST RECOVERY:	192.97%				

SUGGESTED FEE FOR COST RECOVERY OF: 100%

Overtime Staff time:

Non-Profit/School - Charge 25% of the fully allocated hourly rates for all personnel involved

Other - Charge 100% of the fully allocated hourly rates for all personnel involved

Barricade Rental - \$1,000 Resident Block Party - No Charge

Parking Stall Rental:

Non-Profit/School - \$180 per permit plus \$100 per stall/day

Other - \$735 per permit plus \$100 per stall/day

(Peak Demand Rental - \$200 per stall/day)

SERVICE SPECIAL EVEN	IT OVERTIME SERVICES			REFERENCE S-0		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units					5
DEPARTMENT	POSITION	TYPE	<u>UNIT TIME</u>	UNIT COST	ANN. UNITS	TOTAL COST
PW-STREETS	SENIOR MAINT WORKER	8 Hr Of 2	2.56	\$290.28	5	\$1,451
		TYPE SUBTOTAL	2.56	\$290.28		\$1,451
		TOTALS	2.56	\$290.20	)	\$1,451

SERVICE				REFERENCE NO	).
FILM PERMIT					S-096
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SER	/ICE RECIPIENT	
COMMUNITY SERVICES	PERMIT		Bus	siness	
DESCRIPTION OF SERVICE					
Review of a request to film within the City.					
CURRENT FEE STRUCTURE					
Non-Profit/School - \$110 Other - \$430					
Other - \$430					
REVE	NUE AND CO	ST COMPARISO	<u>NC</u>		
UNIT REVENUE:	\$430.00	TOT	AL RE	VENUE:	\$7,310
UNIT COST:	\$517.06	1	ΓΟΤΑL	COST:	\$8,790
UNIT PROFIT (SUBSIDY):	\$(87.06)	TOTAL PROF	FIT (SU	JBSIDY):	\$(1,480)
TOTAL UNITS:	17	PCT. COS	T REC	OVERY:	83.16%
SUGGESTED FEE FOR COST RECOVERY OF: 100%	<u> </u>				
Non-Profit/Student - \$110					
Other:					
Still Photo - \$280 Motion Picture - \$590					

SERVICE FILM PERMIT  NOTE Unit Costs are	an Average of Total Units			REFERENCE S-0 TOTAL UNIT	96 s	7
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
POLICE	POLICE OFFICER		0.50	\$75.21	17	\$1,279
		TYPE SUBTOTAL	0.50	\$75.21		\$1,279
COMMUNITY SERVICE	CES COMM. SERVICES ASST.	Still Photo	2.00	\$205.80	4	\$823
		TYPE SUBTOTAL	2.00	\$205.80		\$823
COMMUNITY SERVICE	EES COMM. SERVICES ASST.	Motion Picture	5.00	\$514.50	13	\$6,689
		TYPE SUBTOTAL	5.00	\$514.50		\$6,689
		TOTALS	7.50	\$517.06	;	\$8,790

SERVICE	REFERENCE N	O.			
COMMUNITY ACTIVITIES APPEAL					S-097
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE	SERV	/ICE RECIPIENT	
COMMUNITY ACTIVITIES	APPEAL		Res	sident/Business	
DESCRIPTION OF SERVICE					
	Activities Cor	mmicolon			
Appeal of a staff decision to the Community	Activities Cor	nmission.			
CURRENT FEE STRUCTURE					
None					
PEVE		OST COMPARISO	) NI		
				VENUE.	<b>*</b> 0
UNIT REVENUE:	\$0.00			VENUE:	\$0
UNIT COST:	\$742.00	Т	OTAL	COST:	\$742
UNIT PROFIT (SUBSIDY):	\$(742.00)	TOTAL PROF	TT (SU	JBSIDY):	\$(742)
	<del></del>				
TOTAL UNITS:	1	PCT. COS	T REC	OVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
Φ740 man ann an l					
\$740 per appeal					

SERVICE  COMMUNITY A	CTIVITIES APPEAL			REFERENCE S-0		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Units					1
<u>DEPARTMENT</u>	POSITION	<u>түре</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
LIBRARY	DIR OF LIBRARY & COM SVCS		4.00	\$742.36	1	\$742
		TYPE SUBTOTAL	4.00	\$742.36		\$742
		TOTALS	4.00	\$742.00	)	\$742

SERVICE FACILITY RENTAL			REFERENCE NO. S-099		
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	SERVICE RECIPIENT		
COMMUNITY SERVICES	RENTAL	Resident/Business/Comm Group			

#### **DESCRIPTION OF SERVICE**

Review of a request to rent the Vista Lobos facility and maintenance of that facility.

#### **CURRENT FEE STRUCTURE**

\$25 per hour plus \$125 refundable cleaning deposit

Homecrafter Fair: Jury Fee - \$25 Rental Fee - \$205

REVENUE AND COST COMPARISON							
UNIT REVENUE:	\$176.67	TOTAL REVENUE:	\$2,650				
UNIT COST:	\$3,374.33	TOTAL COST:	\$50,615				
UNIT PROFIT (SUBSIDY):	\$(3,197.66)	TOTAL PROFIT (SUBSIDY):	\$(47,965)				
TOTAL UNITS:	15	PCT. COST RECOVERY:	5.24%				

SUGGESTED FEE FOR COST RECOVERY OF: 100%

\$25 per hour plus \$125 refundable cleaning deposit

Homecrafter Fair: Jury Fee - \$25 Rental Fee - \$205

SERVICE FACILITY RENTAL NOTE				E NO. 99	
Unit Costs are an Average of Total Units				1	5
DEPARTMENT POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
PW-FOREST & BEACH	Vista Lobos Maint	0.00	\$3,305.73	15	\$49,586
	TYPE SUBTOTAL	0.00	\$3,305.73		\$49,586
COMMUNITY SERVICES COMM. SERVICES ASST.	New User	1.00	\$102.90	8	\$823
	TYPE SUBTOTAL	1.00	\$102.90		\$823
COMMUNITY SERVICES COMM. SERVICES ASST.	Existing User	0.29	\$29.40	7	\$206
	TYPE SUBTOTAL	0.29	\$29.40		\$206
	TOTALS	1.29	\$3,374.33	1	\$50,615

SERVICE INTERLIBRARY LOAN PROCESSING	REFERENCE NO.	S-102		
		5-102		
PRIMARY DEPARTMENT LIBRARY	UNIT OF SERV		<b>vice recipient</b> esident/Non-Resident	
LIBRANT	IICIVI	l Ke	sident/Non-Nesident	
DESCRIPTION OF SERVICE				
Processing a request to borrow an item fron	n another libar	y at the request of a p	eatron.	
CURRENT FEE STRUCTURE				
\$3 per item				
REVE	NUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$3.00	TOTAL R	EVENUE:	\$468
UNIT COST:	\$86.44	тота	L COST:	\$13,485
UNIT PROFIT (SUBSIDY):	\$(83.44)	TOTAL PROFIT (S	UBSIDY):	\$(13,017)
TOTAL UNITS:	156	PCT. COST RE	COVERY:	3.47%
SUGGESTED FEE FOR COST RECOVERY OF: 4%				
\$3 per item				

SERVICE INTERLIBRARY	LOAN PROCESSING			REFERENCE S-1		
NOTE	on Avenue of Total Units			TOTAL UNIT		
Unit Costs are	an Average of Total Units				15	
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
LIBRARY	LIBRARY ASSISTANT		0.03	\$2.51	156	\$392
LIBRARY	LIBRARY ASSISTANT	Return Item	0.50	\$41.90	156	\$6,536
LIBRARY	LIBRARY ASSISTANT	Search/Process	0.33	\$27.65	156	\$4,313
LIBRARY	LIBRARIAN I - PT	Initial Process	0.08	\$5.68	156	\$886
LIBRARY	LIBRARIAN II	Initial Process	0.08	\$8.70	156	\$1,357
		TYPE SUBTOTAL	1.02	\$86.44		\$13,485
		TOTALS	1.02	\$86.44	ı	\$13,485

SERVICE LOST/DAMAGED MATERIALS PROCESS		REFERENCE NO.	s-104			
	SEDV//	CE RECIPIENT	9-104			
PRIMARY DEPARTMENT LIBRARY	UNIT OF SERV	ICE		Resident/Non-Resident		
			11001	dentification resident		
DESCRIPTION OF SERVICE						
Processing lost or damaged library materials	S.					
CURRENT FEE STRUCTURE						
Actual cost of lost or damaged materials						
Actual cost of lost of damaged materials						
REVEN	NUE AND CO	ST COMPARISO	<u>NC</u>			
UNIT REVENUE:	\$0.00	TOTA	AL REV	ENUE:	\$0	
UNIT COST:	\$46.50	Т	OTAL (	COST:	\$930	
UNIT PROFIT (SUBSIDY):	\$(46.50)	TOTAL PROF	TIT (SUE	BSIDY):	\$(930)	
TOTAL UNITS:	20	PCT. COST	T RECC	OVERY:	0.00%	
SUGGESTED FEE FOR COST RECOVERY OF: 0%						
Actual cost of lost or damaged materials						
Ç .						

NOTE	D MATERIALS PROCESSIN	G		REFERENCE S-1 TOTAL UNIT	04 's	
Unit Costs are	an Average of Total Units				2	20
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
LIBRARY	CIRCULATION SUPERVISOR		0.17	\$17.39	20	\$348
LIBRARY	CIRCULATION SUPERVISOR	Reorder Item	0.08	\$8.18	20	\$164
LIBRARY	LIBRARY ASSISTANT	Replace Item Shelf	0.25	\$20.95	20	\$419
		TYPE SUBTOTAL	0.50	\$46.52		\$930
		TOTALS	0.50	\$46.50	)	\$930

SERVICE			REFERENCE NO.		
SELF SERVE LIBRARY COPYING	S-106				
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	RVICE RECIPIENT		
LIBRARY	N/A	Re	Resident/Non-Resident		

#### **DESCRIPTION OF SERVICE**

Replacement of the self-serve copier at the library.

### **CURRENT FEE STRUCTURE**

Black and White - \$0.20 per copy Color - \$0.50 per copy Microfilm - \$0.20 per copy Scanner - \$0.20 per copy

REVENUE AND COST COMPARISON								
UNIT REVENUE:	\$1,000.00	TOTAL REVENUE:	\$1,000					
UNIT COST:	\$0.00	TOTAL COST:	\$0					
UNIT PROFIT (SUBSIDY):	\$1,000.00	TOTAL PROFIT (SUBSIDY):	\$1,000					
TOTAL UNITS:	1	PCT. COST RECOVERY:	0.00%					

SUGGESTED FEE FOR COST RECOVERY OF: 100%

Black and White - \$0.20 per copy Color - \$0.50 per copy Microfilm - \$0.20 per copy Scanner - \$0.20 per copy

SERVICE SELF SERVE L	BRARY COPYING			REFERENCE S-1		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Un	iits				1
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
			0.00	\$0.00	0	\$0
		TYPE SUBTOTAL	0.00	\$0.00		\$0
		TOTALS	0.00	\$0.00	1	\$0

SERVICE	REFERENCE NO.			
NEW BUSINESS REGISTRATION PROCE	S-107			
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	VICE RECIPIENT	
ADMIN SERVICES	APPLICATION	Business		

#### **DESCRIPTION OF SERVICE**

Registration of new business for regulatory purposes, including zoning and fire safety review.

#### **CURRENT FEE STRUCTURE**

Fixed Location - \$390 per application + \$4 State fee In & About - \$20 per application + \$4 State fee Home License - \$130 per application + \$4 State fee

	REVENUE AND CO	OST COMPARISON	
UNIT REVENUE:	\$130.81	TOTAL REVENUE:	\$49,970
UNIT COST:	\$90.08	TOTAL COST:	\$34,409
UNIT PROFIT (SUBSIDY):	\$40.73	TOTAL PROFIT (SUBSIDY):	\$15,561
TOTAL UNITS:	382	PCT. COST RECOVERY:	145.22%

SUGGESTED FEE FOR COST RECOVERY OF: 100%

Fixed Location - \$310 per application + \$4 State fee In & About - \$20 per application + \$4 State fee Home License - \$130 per application + \$4 State fee

NEW BUSINESS REGISTRATION PROCESS  NOTE  Unit Costs are an Average of Total Units				REFERENCE S-1		
				TOTAL UNIT	s 38	12
Offic Goods are at	Trivolage of Total Office					
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
FINANCE	OFFICE ASSISTANT - PT	Fixed Location	0.33	\$17.36	94	\$1,632
PLANNING	ASSISTANT PLANNER	Fixed Location	2.00	\$208.96	94	\$19,642
CODE ENFORCEMENT	CODE COMPLIANCE COORD.	Fixed Location	0.75	\$80.99	94	\$7,613
		TYPE SUBTOTAL	3.08	\$307.31		\$28,887
FINANCE	OFFICE ASSISTANT - PT	In And About	0.33	\$17.36	283	\$4,913
		TYPE SUBTOTAL	0.33	\$17.36		\$4,913
FINANCE	OFFICE ASSISTANT - PT	Home Occupancy	0.33	\$17.36	5	\$87
PLANNING	ASSISTANT PLANNER	Home Occupancy	1.00	\$104.48	5	\$522
		TYPE SUBTOTAL	1.33	\$121.84		\$609
		TOTALS	4.74	\$90.08		\$34,409

SERVICE				
BUSINESS REGISTER RENEWAL PROCESS				
UNIT OF SERV	ICE	SERVI	CE RECIPIENT	
RENEWAL		Busi	ness	
atory purposes				
atory purposes	•			
NUE AND CO	ST COMPARISO	<u>N</u>		
\$15.00	TOTA	AL REV	/ENUE:	\$31,950
\$16.41	Т	OTAL (	COST:	\$34,953
\$(1.41)	TOTAL PROF	IT (SUF	BSIDY):	\$(3,003)
<del></del>		(55		
2,130	PCT. COST	RECO	OVERY:	91.41%
	NUE AND CO \$15.00 \$16.41 \$(1.41)	NUE AND COST COMPARISO \$15.00 \$16.41 \$(1.41) TOTAL PROF	NUE AND COST COMPARISON \$15.00 \$16.41 \$(1.41) TOTAL PROFIT (SUI	NUE AND COST COMPARISON \$15.00 \$16.41 TOTAL COST: \$(1.41) TOTAL PROFIT (SUBSIDY):

SERVICE BUSINESS REGISTER RENEWAL PROCESS				REFERENCE S-1		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total Units				2,13	30
DEPARTMENT	POSITION	<u>түре</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
FINANCE	FINANCE SPECIALIST	Dbase Cleanup-2 H/M	0.01	\$0.95	2,130	\$2,024
FINANCE	FINANCE SPECIALIST	Collect/Lic - 10 Min	0.17	\$14.31	2,130	\$30,480
FINANCE	FINANCE SPECIALIST	Report/Letters-24 Hr	0.01	\$0.95	2,130	\$2,024
FINANCE	OFFICE ASSISTANT - PT	Report/Letters-8 Hr	0.00	\$0.20	2,130	\$426
		TYPE SUBTOTAL	0.20	\$16.41		\$34,953
		TOTALS	0.20	\$16.41		\$34,953

SERVICE DUPLICATE BUSINESS LICENSE	REFERENCE NO	o. S-109			
		<u> </u>			
PRIMARY DEPARTMENT	UNIT OF SERV	ICE		/ICE RECIPIENT	
ADMIN SERVICES	LICENSE		Bus	siness	
DESCRIPTION OF SERVICE					
Providing a duplicate business license on re	quest.				
CURRENT FEE STRUCTURE					
\$5 per license					
REVE	NUE AND CO	ST COMPARISO	ON		
UNIT REVENUE:	\$5.00			VENUE:	\$50
UNIT COST:	\$6.70	I	UTAL	. COST:	\$67
UNIT PROFIT (SUBSIDY):	\$(1.70)	TOTAL PROF	TT (SU	JBSIDY):	\$(17)
TOTAL UNITS:	10	PCT. COS	TREC	OVERY:	74.63%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$7 per license					

SERVICE DUPLICATE BUSINESS LICENSE					E NO. <b>09</b>	
NOTE				TOTAL UNITS		
Unit Costs are an Average of Total Units					1	10
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
FINANCE	FINANCE SPECIALIST	New Certificate	0.08	\$6.74	10	\$67
		TYPE SUBTOTAL	0.08	\$6.74		\$67
		TOTALS	0.08	\$6.70	)	\$67

SERVICE CHANGE BUSINESS NAME		REFERENCE N	o. S-110		
PRIMARY DEPARTMENT	SFRV	ICE RECIPIENT			
ADMIN SERVICES	BUSINESS			iness	
DESCRIPTION OF SERVICE					
Processing a request to change the busines	s name for an	existing business	S.		
CURRENT FEE STRUCTURE					
\$15 per business					
REVE	NUE AND COS	ST COMPARISO	N		
UNIT REVENUE:	\$15.00			VENUE:	\$75
UNIT COST:	\$21.00	то	OTAL	соѕт:	\$105
UNIT PROFIT (SUBSIDY):	\$(6.00)	TOTAL PROFI	T (SU	BSIDY):	\$(30)
TOTAL UNITS:	5	PCT. COST	REC	OVERY:	71.43%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$20 per business					

SERVICE CHANGE BUSINESS NAME					NO. 10	
NOTE				TOTAL UNITS		
Unit Costs are	an Average of Total Units					5
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
FINANCE	FINANCE SPECIALIST		0.25	\$21.05	5	\$105
		TYPE SUBTOTAL	0.25	\$21.05		\$105
		TOTALS	0.25	\$21.00	)	\$105

SERVICE	REFERENCE NO.							
CONSTRUCTION PARKING PERMIT	S-111							
PRIMARY DEPARTMENT	UNIT OF SERVI	CE SEI	ERVICE RECIPIENT					
ADMIN SERVICES	PERMIT	В	Business					
DESCRIPTION OF SERVICE		<u> </u>						
Processing a parking permit to bused by contractors during construction.								
CURRENT FEE STRUCTURE								
Non-Space Specific - \$15 per permit plus \$3 Space Specific - \$25 per permit plus \$35 pe								
	<b>,</b>							
REVE	NUE AND COS	ST COMPARISON						
UNIT REVENUE:	\$24.89	TOTAL R	EVENUE: \$5	5,575				
UNIT COST:	\$14.40	TOTA	L COST: \$3	3,225				
UNIT PROFIT (SUBSIDY):	\$10.49	TOTAL PROFIT (S	SUBSIDY): \$2	2,350				
TOTAL UNITS:	224	PCT. COST RE	COVERY: 172	.87%				
SUGGESTED FEE FOR COST RECOVERY OF: 100%								
Non-Space Specific - \$15 per permit plus \$35 per day								
Space Specific - \$35 per permit plus \$35 per day								

SERVICE CONSTRUCTIO	N PARKING PERMIT			REFERENCE S-1		
NOTE Unit Costs are an Average of Total Units				TOTAL UNITS 224		
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
FINANCE	FINANCE SPECIALIST	Non-Space Specific	0.17	\$14.31	223	\$3,191
		TYPE SUBTOTAL	0.17	\$14.31		\$3,191
FINANCE	FINANCE SPECIALIST	Space Specific	0.08	\$6.74	1	\$7
PW-STREETS	MAINTENANCE WORKER	Space Specific	0.25	\$27.23	1	\$27
		TYPE SUBTOTAL	0.33	\$33.97		\$34
		TOTALS	0.50	\$14.40	)	\$3,225

SERVICE	REFERENCE N	REFERENCE NO.				
CREDIT/DEBIT CARD PROCESSING				S-112		
			SERVICE RECIPIENT			
ADMIN SERVICES	Developer/Resident/	Business				
DESCRIPTION OF SERVICE	Į.	•				
Processing credit and debit card payments to	o the City.					
CURRENT FEE STRUCTURE						
2.5% of the charged amount						
DEVE	NUE AND CO	ST COMPARISO				
	\$10,950.00		L REVENUE:	¢10.050		
				\$10,950		
UNIT COST:	\$11,000.00	т	OTAL COST:	\$11,000		
UNIT PROFIT (SUBSIDY):	\$(50.00)	TOTAL PROFI	T (SUBSIDY):	\$(50)		
TOTAL UNITS:	1	PCT. COST	RECOVERY:	99.55%		
SUGGESTED FEE FOR COST RECOVERY OF: 100%	'					
2.5% of the charged amount						
-						

SERVICE CREDIT/DEBIT	CARD PROCESSING			REFERENCE S-1		
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Ur	nits				1
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
FINANCE		Bank Fees	0.00	\$11,000.00	1	\$11,000
		TYPE SUBTOTAL	0.00	\$11,000.00		\$11,000
		TOTALS	0.00	\$11,000.00	)	\$11,000

SERVICE NSF CHECK PROCESSING		REFERENCE NO.	113		
PRIMARY DEPARTMENT	UNIT OF SERV	IICE	SERVIC	E RECIPIENT	
ADMIN SERVICES	NSF CHEC			lent/Non-Resident	
DESCRIPTION OF SERVICE					
Processing an insufficient funds check.					
CURRENT FEE STRUCTURE					
\$40 per NSF check					
440 per Neir Grieck					
REVE	NUE AND CO	ST COMPARISO	<u>NC</u>		
UNIT REVENUE:	\$40.00	TOTA	AL REVE	ENUE:	\$200
UNIT COST:	\$42.00	Т	TOTAL C	OST:	\$210
UNIT PROFIT (SUBSIDY):	\$(2.00)	TOTAL PROF	FIT (SUB	SIDY):	\$(10)
TOTAL UNITS:	5	PCT. COS	T RECO	VERY:	95.24%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$40 per NSF check					

NSF CHECK PROCESSING  NOTE  Unit Costs are an Average of Total Units					E NO. 13	
Unit Costs are	an Average of Total Units					5
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
FINANCE	FINANCE MANAGER		0.08	\$10.94	5	\$55
FINANCE	FINANCE SPECIALIST		0.25	\$21.05	5	\$105
FINANCE		\$10 Bank Charge	0.00	\$10.00	5	\$50
		TYPE SUBTOTAL	0.33	\$41.99		\$210
		TOTALS	0.33	\$42.00	)	\$210

SERVICE	REFERENCE NO	).		
DOCUMENT REPRODUCTION/SCANNIN		S-114		
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE SE	RVICE RECIPIENT	
CITY CLERK	COPY	R	esdient/Non-Reside	nt
DESCRIPTION OF SERVICE		'		
Reproduction or scanning of public records of	on request.			
CURRENT FEE STRUCTURE				
\$0.10 per copy				
REVE	NUE AND CO	ST COMPARISON		
UNIT REVENUE:	\$1.00	TOTAL F	EVENUE:	\$15
UNIT COST:	\$1.47	тот	AL COST:	\$22
UNIT PROFIT (SUBSIDY):	\$(0.47)	TOTAL PROFIT (S	SUBSIDY):	\$(7)
TOTAL UNITS:	15	PCT. COST RE	ECOVERY:	68.18%
SUGGESTED FEE FOR COST RECOVERY OF: 50%				

First 10 copies - No Charge Additional copies - \$0.20 per copy FPPC copies - \$0.10 per copy plus \$5 for retrieval of documents if more than five years old

plus postage cost if mailed

SERVICE DOCUMENT RE	EPRODUCTION/SCA	NNING		REFERENCE S-1		
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total l	Jnits			1	15
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
ADMINISTRATION		Copier Lease	0.00	\$0.10	15	\$2
CITY CLERK	CITY CLERK		0.01	\$1.36	15	\$20
		TYPE SUBTOTAL	0.01	\$1.46		\$22
		TOTALS	0.01	\$1.47	,	\$22

SERVICE	REFERENC			
ELECTRONIC FILE COPY				S-115
PRIMARY DEPARTMENT	UNIT OF SERV	ICE	SERVICE RECIPIENT	Г
CITY CLERK	DEVICE		Resident/Non-Re	esident
DESCRIPTION OF SERVICE		I		
Reproduction of digital public records to an e	electronic devi	ce, such as a DV[	D, CD, or thumb d	rive.
·				
CURRENT FEE STRUCTURE				
None				
REVE	NUE AND CO	ST COMPARISO	<u>N</u>	
UNIT REVENUE:	\$0.00	TOTA	L REVENUE:	\$0
UNIT COST:	\$4.08	тс	TAL COST:	\$828
LINIT DDOELT (CURCIDY).	¢(4.00)	TOTAL BROEF	T (CURCIDY).	¢(020)
UNIT PROFIT (SUBSIDY):	\$(4.08)	TOTAL PROFI	i (SUBSIDT): -	\$(828) ———————————————————————————————————
TOTAL UNITS:	203	PCT. COST	RECOVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%				
\$5 per device				

SERVICE ELECTRONIC FILE COPY					E NO. 15	
NOTE				TOTAL UNIT	'S	
Unit Costs are	an Average of Total U	nits			20	3
DEPARTMENT	POSITION	TYPE	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
CITY CLERK	CITY CLERK		0.03	\$4.08	203	\$828
		TYPE SUBTOTAL	0.03	\$4.08		\$828
		TOTALS	0.03	\$4.08	}	\$828

SERVICE DOCUMENT CERTIFICATION				REFERENCE NO.	116
PRIMARY DEPARTMENT	/ICE RECIPIENT				
CITY CLERK	DOCUMEN			sident/Non-Resident	
					_
DESCRIPTION OF SERVICE					
Certification of a City document on request.					
CURRENT FEE STRUCTURE					
None					
REVE	NUE AND CO	ST COMPARISO	<u>NC</u>		
UNIT REVENUE:	\$0.00	тот	AL RE	VENUE:	\$0
UNIT COST:	\$11.00	7	TOTAL	COST:	\$11
UNIT PROFIT (SUBSIDY):	\$(11.00)	TOTAL PROF	FIT (SL	JBSIDY):	\$(11)
TOTAL UNITS:	1	PCT. COS	T REC	OVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
\$10 per document					
\$10 per document					

SERVICE DOCUMENT CERTIFICATION					E NO. 16	
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Un	its				1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
CITY CLERK	CITY CLERK		0.08	\$10.89	1	\$11
		TYPE SUBTOTAL	0.08	\$10.89		\$11
		TOTALS	0.08	\$11.00	ı	\$11

SERVICE				REFERENCE NO.	
RECORD COMPILATION					S-118
PRIMARY DEPARTMENT	UNIT OF SERVI	CE	SERV	ICE RECIPIENT	
CITY CLERK	REQUEST		Res	sident/Non-Residen	t
DESCRIPTION OF SERVICE					
Compilation or creation of records that do no	nt exist at nres	⊇nt			
Compliation of oreation of records that do no	or exist at prest	ont.			
CURRENT FEE STRUCTURE					
None					
		ST COMPARISC			
UNIT REVENUE:	\$0.00	TOTA	AL RE	VENUE:	\$0
UNIT COST:	\$136.00	Т	OTAL	COST:	\$136
UNIT PROFIT (SUBSIDY):	\$(136.00)	TOTAL PROF	IT (SU	IBSIDY):	\$(136)
TOTAL UNITS:	1	PCT. COST	r REC	OVERY:	0.00%
SUGGESTED FEE FOR COST RECOVERY OF: 100%					
Record Compilation/Creation - charge the fu	lly allocated ho	ourly rate for all p	ersor	nnel involved plus a	ny outside
costs.					

SERVICE RECORD COMPILATION					E NO. 18	
NOTE				TOTAL UNIT	S	
Unit Costs are	an Average of Total Ur	nits				1
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
CITY CLERK	CITY CLERK		1.00	\$136.13	1	\$136
		TYPE SUBTOTAL	1.00	\$136.13		\$136
		TOTALS	1.00	\$136.00	)	\$136

SERVICE			REFERE	NCE NO.
LOCAL CANDIDATE FILING				S-119
PRIMARY DEPARTMENT	UNIT OF SERV	/ICE	SERVICE RECIPIEN	IT
CITY CLERK	CANDIDAT	E	Resident	
DESCRIPTION OF SERVICE				
Processing an application for a local candid	date.			
CURRENT FEE STRUCTURE				
\$25 per candidate				
Fee is set by the State				
REVE	ENUE AND CC	ST COMPARISO	<u>ON</u>	
UNIT REVENUE:	\$25.00	тот	AL REVENUE:	\$25
UNIT COST:	\$204.00	T	OTAL COST:	\$204
UNIT PROFIT (SUBSIDY):	\$(179.00)	TOTAL PROF	TIT (SUBSIDY):	<b>\$(179)</b>
TOTAL UNITS:	1	PCT. COS	T RECOVERY:	12.25%
SUGGESTED FEE FOR COST RECOVERY OF: 15%				
\$25 per candidate				
Fee is set by the State				

SERVICE LOCAL CANDIDATE FILING				REFERENCE NO. S-119		
NOTE Unit Costs are an Average of Total Units				TOTAL UNITS		
<u>DEPARTMENT</u>	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
CITY CLERK	CITY CLERK		1.50	\$204.20	1	\$204
		TYPE SUBTOTAL	1.50	\$204.20		\$204
		TOTALS	1.50	\$204.00	)	\$204

SERVICE  LOCAL INITIATIVE PROCESSING	REFERENCE NO. S-120				
PRIMARY DEPARTMENT	UNIT OF SERVICE	SER	RVICE RECIPIENT		
CITY CLERK	INITIATIVE	Resident/Business			

#### **DESCRIPTION OF SERVICE**

Processing an application for a local ballot initiative.

#### **CURRENT FEE STRUCTURE**

\$200 per initiative

Fee is refundable to the filer, if within one year of filing the notice of intent, the elections official certifies the sufficiency of the petition.

This fee is limited by the State Law - Elections Code Section 9202(b)

	REVENUE AND CO	OST COMPARISON	
UNIT REVENUE:	\$200.00	TOTAL REVENUE:	\$200
UNIT COST:	\$1,361.00	TOTAL COST:	\$1,361
UNIT PROFIT (SUBSIDY):	\$(1,161.00)	TOTAL PROFIT (SUBSIDY):	\$(1,161)
TOTAL UNITS:	1	PCT. COST RECOVERY:	14.70%

SUGGESTED FEE FOR COST RECOVERY OF: 15%

\$200 per initiative

Fee is refundable to the filer, if within one year of filing the notice of intent, the elections official certifies the sufficiency of the petition.

This fee is limited by the State Law - Elections Code Section 9202(b)

SERVICE LOCAL INITIATIVE PROCESSING				REFERENCE S-1		
NOTE				TOTAL UNIT	S	
Unit Costs are an Average of Total Units						1
DEPARTMENT	POSITION	<u>TYPE</u>	UNIT TIME	UNIT COST	ANN. UNITS	TOTAL COST
CITY CLERK	CITY CLERK		10.00	\$1,361.30	1	\$1,361
		TYPE SUBTOTAL	10.00	\$1,361.30		\$1,361
		TOTALS	10.00	\$1,361.00	)	\$1,361